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 ���� ������ : 
���
��� ������� !�"� ��� 
����� ������� 
�  

                 #�$ %&����� ������� '����� 
� ��������  

 ������ �	
 ��
���� �� ������ ���	� ���� ���	� ������������  ������� �	
� �
 ���	  !���" ����� ����#�� $� $�% � ��������� ��&��� ���% �	
� ���������
 $��#� '(�)�� �
���� $� ������ ����*�� ��*�� $� $�
����� ����*� �*#���

���&� �  +��&�� �� ������ ,��� ����� -�* .�/0 ��*�� $� 1%% ������� +�����
 �� +�2�� �3�����������  ��4� � �2����5���� 6����� �	
 �2���� �� �&
�� ����� �	


 $7��5�� 89�� �:��)$�
����� ( +2������ ��=�*��� �2�� 1������ �� ����� �� �	

 �2�* � +�&��� +�
� ������ >:3 .�� 87��� 1%� �� +2���/��� � �9�*�� ��
 �?

 �2����5��� 6��0 �� ������ @�=/? $0 -�*� !��* !��% ��� ��* � �2�7��5 >�9��
 +�
 -��*� ��2� �� � ��������&� �  +��� ������� +����� A���� B����  ����

$�
����� .�� �&
 ��50 -��*� ���&� �� . �	
 ���/� �2���
��� $�%� $0 $%��
 !��	 �� $D� � ��������� ������� !��54� >:3 1
� -��*� ����=�� � ���
 ������

��� 8&� �� ���� ������ +�
�� 1=%� ���� !���E� ����� ���� 1% �� ������  �0 �� 
?
 +����� ���&� �� ��(  �	
 ����*��� 190 $�� � $�
����� ����* 190 $� ���� �
��

 �� � �� !���E� >:3 $�� $�� 1%% ������� 87����� �	
 $������ +����)1(.  
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)1(  ��=���� �	
 F� ��
������ �� �������� 87����� �	
 $������ ���( )�     �������� $������ ���G� �
H  ��� ���( )� ������� I���� ����"� >����0H  �A����� �2010  J � .4 . 

)2(  $���� $���� ��%��� A�
 1��
 ) !������� $���7� $���� K:���0 ��������� 87����� $���� K:���0 (
 �������� $������ ���G�H � ������� I���� ����"� >����0 ��� ���( ) H�  �A�����2010J � .12. 
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 ���� (�)��� :�������� %&����� ����� !�*	�  

 ���� +�	�� : %&����� ,��
���������  

�2�� I����� ,��� �������� 87����� I�
:  

 �3 �������� 87�����:  

 �0 �3��� ��/4� �2��� $0 �	
 ����� ��? !�7�2�� �0 ����4� �2� �2�� ���� ��&���
 �2�	
 �&=���� ������� M	��� .�� �2��? �� � N	�� ��.  

�&� ������� �	����� 87����� ��O� ���� ����4� A�� ���3  ��2��� $���9�4� 1
�
��4� A�� ���3� � $��	=������� 8��9� 87����� ��O� ���� �� 1�*�� �3 ��% !(

 $����� ��%�� ��)1(.  

 
����� +�	�� : %&����� #�$ ������� !�"�  

 ���� ���������� ������� !��54� 6���� �������� 87����� $���� 6��� �����
 $�
����� @�&* P��# ��? .�0 ��� � �2#�� '(�?� I������ �
�� ��? !�0
 �&
�� 5�5���� � 87����� 1���� 8�9� +�&� ���� �������� !�  G��� '(�? $�

� +5�	� !�  G� 6���D� ��:� ������� 5�29�� �� �:? $�
����� A����� ����*
 ����2�� ��� *� +2�7���� ��� $��=�*� �:�� I������ ��:%� � ����9�� +2

 �2���9�� �2 =� I������ ����*����2���  $�
����� �
: M� � .  

 -�. :�������� %&����� ����� !�"� !�*	�  

 !�6��9Q� +��� +��� ��0 '� 0 �	
 �������� 87����� $���� +��� ��� ��� ���
 �3:/�� ���� ��������� ������)� !�29�� ����+����� ����* �2� ���� ������� 

���(  �	
 ����*���� )2( � @��� $
 $������ +��������  @���� �� ������



������ ��	��                                      
���
��� ������� 
������� ����� ) 
����� ( ������� 
�  

 

)1( �R��� ���&�� ��
  J � @��  89�� .92 . 

)2(  J � @��  89�� ��%��� A�
 1��
 .12 . 

)3(  �� 	����� ���  ��*�"��/������ ��*���� $� 87����� $��# !�  G� ����? .��9"  !�  G� ,��� �
 �������� I������ ��*�� ��������� 87����� $��#1992 . 

 * �/" 89�� ���)�������� �������� �&�	� �R��� ���&�� ��
 ���7�59��( ,��=�� �)1929H1932+. ( 

)4( ��%��� A�
 1��
  J � @��  89�� .11 . 

305 

 � 87����� �	
 $������� 87����� �	
 $������ +��� $0 �0 1��%���� $������ �	
 +�&
$�
����� .�� �&
�� 55�� ��� ������� 5�29�� !��*� $��.  

 �=	%� !��3� ���� �� �4� 1
�� '� 4� �:3 �	
� 6��
4� $� ������ $������
 ��
 $�� � �3����� � $��#� 87����� �	
 1��*�� 1��  �� ����� �2	�*�� ����
 1��&� �=	%��� >:3 1
��� � ������ �=����� 1���4� �=	%� $�# �=	%��� >:3 1/��

,��� ���� ����*�� ���/ $� �� 8���� �� )1(.  
� 87����� �	
 $������ !�  G� +��� !���� ���/��� �2�� %0 ���/ $����&

  ,��O��� 87����� P��� �2	���� ������ �2	�
 �&���� �2���30 !��*� ������
��
 ����	� 1��%��� �%�	�� ��? � �������� 87����� $���� !�  G�� ) ������ �	
���

 �5%���� (I������ 8� �������� ������ �2%	�� �0 )2(.  
 ����� :� 
/������ ��)���%&����� #�$ ������� !�"�  

1 . ���� �� �������� 87����� $��#� $����� +��� ����� !���*� ���0 !0��
 +�
 ��%���4� �������1829 >:3 $0 �? ��: ��� ��%���0 !���� ,�
 �2����� +

 �35��0 $� M�� 0 ,��� !=�/� ����4����� ��� 1���� '0� ���=% +�
)3(.  
 +�
 ���1924 + !���0 A��&��� 87����� ����*� ����� ��%���	 �%���

 !���0� �������� " +���� $��#�� @���� "�/��� 8�9��� ��(  �9�� ,���5� �
 ,�*���� !������ �� !5�� +
 � �������� 87����� �������=�� �  G��� ��%���4�

 +��� I������ $���� M9��� !���0 ����� 87����� $�����1932+* )4(  �
? �	
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 (* *) $� �3��
 J	&� -�*� ! 	�0� ������ $� ������ !�
�� �3��
000 25  $� 1�0 ��? ���000 15    
         +�
 !  �� �3�
? �	
� ���1934  ������=�� 87����� $��# �  G� � )FDIC (  +��� +��0 ������  
         +����� �� 87����� �	
 $����	�.  

)1(  J � @��  89�� � R��� ���&�� ��
 .94 . 
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���2���  �� %�� ,��� �� ��%���4� ,�*���� !������ M��0 �:�� ��������
 ���%��** ��  ��� �1934+  �������=�� 87����� $��# �  G� !  �� )FDIC  (

 � �/ $� I���� �	&� � ,��3 87����� �	
 $������ ������=�� +����� �����
6�#
0)1( � +���� @��� $
 87����� �	
 $������ @���� 1�� ����  �� �0

 +�� ���� 87����� +9* 1��� +����� �� 6�#
0 ����/�� !�  G�� ����� �����
 ��? �2���O�100  87����� �	
 $������ $���� U��� ��% ���� I�0���*���  @*��

 �  G�� )FDIC  ( ��� ��:� 87����� !�  G� � I������ 1��
0 6�2�? ��
 �� �2���� !�
 �:? ��5(�� !�&�&*��� 1�
 ���� � �� � ���/? �27��
?
 �  G� 1��� -�* �������� $����&�� ��2��� �0 ���	  ��V ������ !� ����  

 )FDIC  ( I�	%� �	
 �6��� +����� �� �%������ ������ 8��9� �7�#� '��*%
 !���	���� ������ +�&� ��% � �7�#&�� �O���� ���� +��&	� ��7�#&�� !��	 �� $�
 �	��� � ����� ,���� ��� 1%� ������ I����� $
 !����� ���� $�
���	�
 �2� ��% � ���G��� ��V �	� ��*�  ���G��� ������ �	
 �� �� ������ !��	 

������ ���% �	
 ���/ ����� ��0 6��9) !��*(�  !�  G� ��0 �0 �0 �&�&�
���G��� ����	� �����.  

2.  ���	9��� 87����� ����* +���:  
 �������� 87����� ����*� ��������� '	9��� 6���D� ���������� ���%*�� !��3�

 +�
1979  � +��� 6�#
0 �
(
 $���� $�� � 0 6�#
0 �
(
 I�� $� ��
 87��� +����� ��O�� � @������ �� �%������ �������� !�  G��� $� $��/"
 !�%����� @��� $
 +����� 1���� ������ 87��� ��O� �� !�  G���� ����4�
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)1(  J �@��  89�� �R��� ���&�� ��
 .96 . 

)1(  � ���* 1���"������� 1���� �� $�
����� ����*� 87����� �	
 $������  "  ������� I������ ��*�� �	9� �
 ��� �� ��
1993  . J �@��  89�� �R��� ���&�� ��
 ���0� .96 . 
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 ������� !�  G��� ���* �� +����� �� �%������0.3 % ��O�� 87����� $�
��� ������ )� ���9��� 87����� A���� +�� P���	� A����	� ���4� �*��� � �&�

 ���* ��000 25  ������ ? ���9.  
3.  ������0 �� 87����� $��# @���� :  

 ��  B��0�1974 A�
 1(/ $� �*(�� � !�����3 ��� I��� �
? �	
 +
 >:3 M	V0 $0 87����� �	
 $������ ����0 M��9� I	�/� �� !  0 ����4�

 6���? $�% +�
 1%��� ��� ��� ��50 -��* ��� ,��
� � !����� ��� !���� ��
 +����� �	
 !��90 !�*(�? �
��9� $� �659 87����� �	
 $������ +���

 �������.  
 ���
 �	� 1�0 $���� ������) +�
 87����� $��# �  G� ' 01964+ ( �
?

���� +����� �� ���� �
(
 I��� ���)1(.  
4.  ����4 $�
�� ���3 $0 �*(� 87����� �	
 $������ ����0 1���� �����

� �	
 $�������2	���� ������ @��� �&�� 87����)2( :  
 ���� +����:  $���� �� �4 ������ ��� � @��� $
 1��� �:�� +����� �3�

 ��� � ����� �=��� ,��*�����4� �� 1�*�� �3 ��% ,��*� ��
���  �� �&�����
 ��2��� $����.  

 
����� +����:  @��� $
 �	���� +�� � �:�� +����� �3�!�%������  �� �0�
 ��
 �&� ��3� ���� ������ +�5��� @��� $
 �	���� +�� ���?� � ������ ,��*�
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)1(  J �@��  89�� �R��� ���&�� ��
 .96  ��� �� ��
 �@��  89�� ����* 1���� �1993. 

)2(  +�� �������)26 ( ���( )� ������� !�  G�	� ��9������ �� �*��� ,��2�. 

 * ���( )� ������ 1��*�  I����� �0 M� �*� +��� 87����� $� P���� �:3 1
� �	
 '���� 8�9�� �	

 ����� $� ��2� ����� 87����� >:3 1
�� �87����� >:3 M�*�4 ����� 57��9 U��� �2�0 ��? 1�� �2�	

 ��	������ !�9���*�� A��� 194� ���� 1������ �*��?� ���	� ���� �� ����� �	
 1��� -�* ������. 
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 �3 ��% � ������ A�� �0 ��� '(�? �0 ��O� -��* �&����� ����4� �� 1�*��
 �� �� � �������� � ��� $� 1% ��)1(. 

  

 
����� (�)��� :
����� 
���
��� ������� !�"�� %&����� #�$ �������  

 �������� $������ +���� 87����� �	
 $������ � ��� ���� �2�0 �
*���� >���
 �&� ���( )� ����	� ��( )�.  

 ���� +�	�� :%&����� ������� '����� 
� �������� *  

 ������� P���4� ��? ���( )� ������ �� �������� 87����� + &�)2(:  
 -�. : ����1�� 2������� %&���  

 �2�	�� !�� �0 �� �3�� ����� ������ �� �2��*�0 �2
��� ���� N������ �3�
 +2����0 ��� 6(���� 6�G3 >�9�� +5�	� ������ � �2��*�0
������  �2�	� 1�* ��

 6��� ��=�% 1���4� >:3 ���
� � �� @*�� ���	�� �.  
 ����� : ����/�-� %&����� ) ������� (  

� 87��� �3� �:3 $� ������ I�2�� � ,��O� N����� $�
����� $� ���% ���
 6(���� ��O� !��/�� A7�� M�:�9� 87����� $� P���� X >:3 5��� �� +30�

�� $0 87���� ����� $�#�=� �2��*�0 @��� $
 �3��
� � >���� �:�� �3���
� 
 �&	���� ����#���.  
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 ����� : ��������-� %&�����  

 �2�#� $� �2��*�0 ��&� ���� 87����� �3������ �� @�&*��  U���� �3���
� � 
 ��? + &� �3�:  

1/ �&	�� �����
� � 87��� : ��	�
 ���	� �2��*�0 A�=� 87����� >:3��3���
� �  
 �3��� ���� 8������� �������  +�&� ���
� �� �:3� � �*����� ���% $� �� ���

 ��
���� ����#��� 0��� �	
.  
2/  ,��&� �����
� � 87��� : 87����� �3� ����� �
���� 1����� �2�� ���/� ����

�� ����#��� 0��� �	
 ���
� �� �:3 +�&�� � ��� ���� ���
� �,��&� .  

� 
����� +�	� : 
��� �)�/��� 31���������� '����� 
� �������� %&�����   

 ��9��/ ���/� � ���/��� $� $�
�� ���( )� I������ �� 87����� �9���
 ��	/�� .�/0�.  

 -�. :��1��/�� �)�/���  

 !� ��  $
 �9��/ ����� �&	����� ���/��� �	� �3���( )� ������  �2�������
 ���/��� >:3 ��
�� �2��� � �������� ��������� !���O���� �� �� �� 1���4� 1
�
 6��0 �	
 �2����� !����
� �� ����� Z���4� @�&*� �� ������ ,��� �	


!���5����  6(���� �*�.  
 ����� :���/���� �)�/���  


� �� ������ ����� 1��
�� �&	����� ���/��� �	� �3� �� J/	��� � ������
 P���0 ����0:  

1/ $���7�� ���/� : ����� $��� 1��*� +��� �&	����� ���/��� �3�.  
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)1( ��=���� �	
 F� ��
  J �@��  89�� .7  �I*� �:��� ����( )� I������ �� 87����� $��# 
 �$��4� �87����� $��# �  G� �$��4� ��2005 J � .11 – 12. 

)2(  8�9��� ���� +�� �2&=��86 )3/4( 659 �8 ���� ����� �8�9��� �	9� �1  J � .667 . 
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2/ @� �� ���/� : 8� �3��V� ��%��� �� ����� !����
� �� �&	����� �3�
 @� �� ��� 0 ��O�.  

3/ !��	���� ���/� : �����0� ����� �=��� !������ 1��
�� �&	����� �3�
 ��	/���� �� �� �.  

4/ ���� �� ���/� : M*  !�%�*� ���9� �� ����� ,��� +�
 �� �	
����� �3�
 !���9���� 1�2 �� ���&��� !�����*�� ���=% +��� $�
�����)1(.  

 ������ +�	�� :��"���� �� %&����� ����� 
*4	��  

 $� ,��=�� �� ��� ���� 8 ���� >���G� ,��� �� ��( )� �&=�� 8�9� ���1H6 
 1���0 �2� $�1995 �������� 87����� ��0 �� +)�������� !��� *�� ( ����

 ��E�)2(:  
 -�. : ����1�� 2������� %&���)(�)�� 2�� %&�����(   

 ������ �0 ���( )� ������ .�� !��% 6��   �2&=�� �������� A��� �3 �������
 ����� �
�� +5	� �3� �2� $��# �� >�� 87����� >:2� +	 ���� I����� $? -�*

 M	��� ��
.  
 ����� : 5�4	�� 
� ��6�7���8 �� �������  

0 .   �7��� �2� 8��� ���� 87����� : � ������� ������ �� 1�*�� �3 ��% ����� A���
 P�� $� !��% 6��  ���*� M	��� !*� 87�����)����9�� !��� *�� ( +0

 ������� !��� * +0 � ����D� 87����� +0 � 194 87�����. 

M .   ���
� � �&�� ���( )� ������� +�%*�� ��	�� ��5	��� ����	� +	 � ���� 87�����
 1�� '0� �3 U���� $� ��* �	
@����� � ����#�  +�%*0 �2�	
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 (*) ,������ >:3 ��
 �
*���� !=��� ) ��
�� �	�* ( �= � ���%�	� 1�&� ��=	  !0�� ��� ���/ ����
%
 $����� �� ���� ) 8����� +�3�0� ������� +(*0 $�� �������� $������( �������� $������ �&�	� �� +�� �

 +�
 A������2009�� !�%�� �� $E� ��	�� @��� �3 �� $0 ��� �%:� � �	
 ����� 1% ���� �������� $����
 ������� . 
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 ����#���)A��&	� ( $��# 5��9 +�
 �2�� ���� ��( )� �&=�� ��
 M��#��� ) ����� ( ����#��� 1�� '0��. 

 >���� $� �
��
�� ,�&=�� �� 6�9� :7����� �� $��#�� $0 M	��� !*� 8) !��� *��
�3 ����9��  �2� $�#��&��� �	
 ) ������ $� $��3� ��� ( $���=�� ����� ��

 ����9�� !��� *�� �	� $��# �� �������� � �2�����
� � $� ,������� Z���4��
 @�&*� � �� �2#����� �� ��%���� +� +2�4 � ���
� �� !��� * �� $�
�����

 �2*���0.  
 �&)��:  

� � +����� $0 ��? ,���)� $� �� +%*� �:� ������ ����� �������� 87����� $����
 �2��? U	��� +�/� � " $���� " U	���� " $��# " $�*	��� ��2=���

 $0 .��� � $��#�� �&
� $������ �&
 $�� 5��� $���&�� $0 $� +V���� � $�������
������&�� ��*���� $� @������ �� 1%��� ��	
 M���� +� $�*	����� $�� K5��� �:3 
 �	��%��� �2� ���/ ������ !6�9 �������� 87����� ����* $4 ��	���� �0

 � �&����� 1���=��� ��* !�%*0�� ��2&=�� ��*���� $� $%�� � $0 �� ����� I���
 ��? $0 �2�	
 M���� $��#�� �&
� $������ �&�� ��2&=�� ��*���� $� I(�/�� �9�0

MV�� ���� �  G��� 1%�3� 1%� �� ��
"  ����? �0 $������ ���/ +��&� �� 6�� 
 $� $��#�� �&�� � �2����/ $� $���=� ��� $��� �2��� ��(���� !��=%��� $��#��
 +� �&� ��( )� $������ �&
 ��0 � ��	
 �94� :/0 5�9� �� � !�
����� ��&


��
�� �	�*� !�
����� ��&
 ��? !�#������ �&
 $� �9��/?*)1(.  
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%����� +�	�� : ����$),��). (
���
��� ������� !�"��� 
� %&����� #�$ ������� 


�����  

 �	� ��% �3 I���0 ,�
 �2� 87����� �	
 $������ ��	�
 $?:  
1. � >��
 $���� ) $\�G��� ( �������� $������ �%�� �3� ) ���( ? �%��.( 

2.  $������ P�#�� :�3  �3 �� 6��  ��( )� ����� �� ,��9���� 87�����
 ��&
 �� >���
� � +� �� �0 ��9�� ���	� $���� �=� ��? 1�*�� ���
� ��

 ��� $�	�������� �7(�
 �	
. 

3.  �� $�G��� :��( )� I����� . 

4.  ��� $�G��� : ����� ,��� +�
 �0 �2��3: �3� 87����� >:2� @*� �:�� ��/��
 �2��*�0 ��? �2
�9�?� $��� 1%� �	
 !��*� ���� 87����� >:3 1��*� �	

 ��( )� ����� $4 ��:� � -��*�� 8���� ��/ �3 ��/�� �:3� � �2�	� ��


 P�#��� +�2�$���7�� ����� � ����%�� !����#���  �����0. 

5.  $������ 1*� : �:�� $������ N	�� �3��	� �:? I���	� ����� $������ �%�� +5
 $
 5�9���� $����� +%* �� !*��0 �0 �(2	� I����� 87��� !#���

 ��	
 @�=��� +�� ��*� N	�� �3 N	���� �:3� � �27��0)1(. 

 

 9��/�� +�	�� : %&����� #�$ 
���
��� ������� !�"� �����������  

 $� +2��
���? ��*� +���� $�9��*� ���( )� I������ .�� $�
����� $0 �� �
 I������ $0 ��% � +2�7��� �=*� ���� ���( )� I������ '(�? ��/
 ��/� �2�4 � 87����� ����*� $���� +��� ��9�� �9�*�� ��0 �� �2 =� ���( )�

����� 1���� @�  $� �29�/� �� �:�� $�
����� �
: M��� 0 $0 ���/ � ��
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 ����� ���� � ������� !���4� $� ��
% $� ,��=� �� $� �2���� �2���� �2	�

 I��� $0 �2� ���� ���( )� I������ $D� ��: ��? ���#? � ������� I�����	�
 ��(/ � �2� �������� ���/��� 1�*��� ��&�&* !����
� � �� ������� �3�����

�� ������� I����	� 1���4�� ,�9������ ��� ��� �	
 �3��� ���&� ��)1(.  
@���� ������ " �������� 87����� $��# " $���� M9��� $��� �� �� B��0 �:��

 �� � �������� 87����� $��# @����1996 $��#� +����� �� +��� 1�0 �3 � +
�� ���( )� ������� +�%*0 8� @����� �������� 87�����&� +����� +� �	�9� �

 $������� P����� 0��� �	
.  
  

 9����� +�	�� : 
����� ������� 5��$: ;<��� ) ���6��� 5��$: ( 9��. #�$

 �
�����.  

 A����� ���G� �� R��� -�* � Z���� -�* $� -�*4� K:����� �:3 �����
 +�
 ��/4�2010 .  

 -�. :�
����� 9��. #�$ ���6��� 5��$: �4$ ����	� )2(  
 ���E� ��������� !��(��� �	
 ������� '� 0 �	
 1��%��� �&
 +�&�:  

•  P������ +�5���� �0 P����� '� 0 �	
 1��%��� @���� �� $�%������ �����
������
� ���/� P����� @����� $�%�� � I���� �0 �2��� �0. 

•  -*���� �� ������ +� �� �	
 +�&� 1��%��� !�%�� 8� $�%������ ��(
 ���
��
 ) ���%��� �0 � ����9��� ���%��� �3� ������� ���%��� �0 ����/�� ���%���

 ����9��� ����#���� ���%��� �0 � ����#����.( 

• $�%������ 1%�� ��  �	
 1��%��� !�%��1��%��� ,��
? !�%�� 8� �������. 
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•  ���� ���%��� '� 0 �	
 1��%��� ,��
? !�%�� 8� 1��%��� !�%�� �����
� @*� �� 1��%��� ,��
? !����� ,���D� @	��� � � 0 �	
 1��%��� ,��
? !�%�

 ���%��� ,�90. 

• �
 ���� @������ 1����� @	��� ���� ��������� ��(��� +�&��  �90� !�#������
 ����#��� ������� '� 0 �	
 ���%��� .�� ������� M� *�� ��3 ������� ���

� @����	� ������
�� ���/��� +%*� �����	. 

• �� �� 1��%��� !�%�� 1/��� � ,��
? �� �4 1��%��� ,��
? �%�� ���
� � �&�
 ,��
� ��� 1��%��� . ��% � �2�����
� � �7�
 �� M��� ��� M���� � -�*�

 �2� A���� �� ,�� / ��0 $
 ���G � $�%� $� �2�0. 

•  @�=��� M *� 1��%��� ,��
? @���� $� M* �� $0 1��%��� !�%��� 5�9�
 ��� �%������ $� �2���� ��� ��!�#������ 8��. 

• �� A7�=�� ����1��%��� !�%�� ��? �	��%� �������)� �	
 @�=��� +� �:? �? � 6�&
 1��%��� ,��
? �� �%������ �0 �����*(� � � �	
.
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 ������ :J � @�� �� 89����12  

  

 ����� :�
����� 9��. #�$ ���6��� 5��$: >��� 2�?���  

1. ���&��� �����	� �
���� I��%�	� ��&����  
 �=*	� 6���� 8�� ��O	�� �2	�0 �� ��������)1( .  

 ����0 �� �2�*�� �� $0� . ����� :/0 $� ��0 ���� �� �3� ��O	�� �3���� �:3
 �2�� I����� +�
� �2�=* ��	
 M9� ��O��.  

  


��ـ
 ا������ر 

 ا������ر

 ا�������ت

 ا�������

1  

2  

3  

4  

5  
 

ا���اآ�ت ��آ�ت 
  )ا��د��$(ا��"�!  

  إ
�دة ا
�دة ا��"�!  ا�)��'

 $ـ�ة ا��آ��ـأ+

�آ�ت إ
�دة �
  ا��"�! 
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 ���� ��=	�/�� � �2����� �� �2�*�� $:0 �:? 1���� �� �2�� ��5�90 6�2&=�� $0 ��V
 �2�0 �	
 $���&���� ��2�9 �29�/ -�* � 1���� ��� �	2� � ��� !��% �:?

 ����
 �&�&* A�� �5�9� . !��	
��� �� I����� ��5�90 $�:�� ��%���	� ��(/
 ����#� ����� �2�%�� � �������� �2��� � �	
 ��&�0� �3�� �	
 ���&	�.  

 �2��� �O� !��
 �2�0 -�* ��2�� �� �2&=�� I(�/�� �:3 ����� " 6���� 6��
?
 1�� ��V �0 ��� $�% 6��  � A�
 (� ��O�� ��? .�&� 1�&� �� ��� ��3� 1

 ��� M3�")1( . �&� � ��2�� �� A���� ����� �:? ���� I(/�� 8�� ��: 8��
 A���� ���� ��2�� �	
 �&��� +� $? ��0 �	
 �	���*��� ��������� ��=�*�� M3:
 >��*� +�� A���� ����� $?� � 8���� +�%*0 ��	
 ���90� ���� �
 A���� ��*�

�%������ ��=�*�� >5�90 ��(�� �	���*��� �������� ��
 M3:���� � �.  
�:3 $� U#�0�  �O� P������ � 1��%��� 0��� ��	
 +�&� �:�� P����� �=� 1�
��� :

 ��4�� P���� � �
���� 6���� 1�� : �#�
 M��� ��V �	��)2( . �� 6�9 ���
 �	� �� P����� I���� �� ��2&=�� �
� ���� ": ��% 6�2&=�� ��
 P����� ���� $D�

 P���4� >:2� +2=���� $� :/G� )2��� I����� ������ �3��V� �� ( $
 K�/� �
(� 1]��� �0 1�*�� �� >��O� ��=�� �0 ��� I	%��� 1:� P����� $�%  ��&� A�


����V I������� ����" )3( �	
 1��%��� I�%� ��
���� !�7�2�� 19 $D� ��: 8�� �
 ������� A��	� ������� $� +V���� � P������ +�5��� �0 P��� ��0 . $? 1�

 �3����� P�#����� ��O	�� P����� ���� ��� '�� 1��%��� �� ���? ��� 
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 �� M� �� �	��� � �%������ �0 $������ ���� ��� ���?� � +���� �*(�����
 ���/��� K���? �3 ���)� �:3 �� ��O	�� >���� $4 � �%���� M�� $�# �� " ��

 �= �� �� ��� ��� �&=��� $� �&���� �9�/�)1(. 

2. ���� ��&��� �&���� ���( )� ������� +�%*4 �2�	
 +�&� 

 ���� �� $����� +��*� ����%�? $? . �0 ��%���� ��&���� �
��* ��	
 U	��� �� �0
 �&=� �� $��&=� $
 +	 � ��	
 F� �	� ����� �2�� �������� ��&��� $�� �����

 �2� � +� �� ���� �� $������ 6�2&=�� $�� -�* ,������� -�*��� �� $�
*�����
 ��
���� J���	� �#������ ��&��� �3 -��*�� �� ���*��� ��%���� ��&��� $0

 1
� � ���29�� �0 ��O�� �0 ����� ��? ���G��� ��	%�� !(������ �
���� : 8��� I	 
�� $�5 �� !�� �� ��0� $� �
%0 +	 � ��	
 F� �	� �������  �*�� �&
 ��)2(.  

� ���%��� $�� A���� (� �
���� M��9�� $� ����#��� �0 ���
� ��� ���%���
 1�� '0� $� M���� � ����#��� U�� $� M��� :/0 $�� �#������ ���?�
 ���
� ��� ���%�	� �� ���� ��4� ��:%� � 6��4� ,���%� �0 5��*�� + �� ����#���

 5��*�� + �� ���
� �� 1�� '0� $� 659 :/0 8�.  
��� �� �� +30 $0 ��V $�� 8�9�� �3 ������� '� 0 �	
 1��%��� ,��
? �&
 A�

 � ���%���� �#�� !=�% $? A�&������%�?�  �0 ���%� �3 ��� A�� �3 �� ���*�
 ����#�.  
 �� �3�� 1�%�? ��4� �&�&*$���&���� ��� ��2&� >�9�/� � .�%�� 1�� �&� ��� 

 �2#��� ������� �2#�� $� ��� ���� 1���4� P�#�� �� 87����� 87��� ��
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)2(  ��
 ���&�� ��
 ��*� @�&*� � .��%�� .���=�� � +�	*�� ��
 $� ��*0 ������ $��H   ��
 �=���
 � � ���	��� M�%�� ��� � !���� � ��
 ���&��1  �1987  K � A�&�� M�� � +5  J � .394 . 
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 ����#��� ": $0 �	
 ���? 8�� ��� �=��� M��#��� �� �� ����� ��#�
 ���  �� �	
 M��#��� �� �� 1����� 57�9 ��:� I����� ����#�)1(.  
 ����� �0 ����� A�&�� $4 � ��=� �9 A�� ���� 1�&� ��� !����� ,���D�

 1��%��� !�%�� ��? �� ���� ���� ���� 1��%��� ,��
? . $����9 $� M��9��� :
 �3� A��&��� M��9 $� 1�*� A�&�� �:3 $� @&*���� 8=��� $0 1�4� M��9��
 !����� ,���? $� 1��*�� 8=���� �*�� :/��� >��
� � �2�4 1��%��� ,��
? �%��

�� �	��&� 8��� 1��%��� ,��
? �3 +�*��� A�&��� ���%��� ,�90 1��%��� !�%
 A�&�	� ��=� �9� �:�� A�&��.  

 1��%��� �&
 ���� 8����� $���&�� J�� 1��%��� ,��
? �%�� $0 �3 �/" ��0�
 ���O� $
 >59
 ���* �� @������ A���? �	
 J�� 1��%��� ,��
?�

�� �3� � A�&��� 8=��� ��3(%� � A�&� A�� �2� � !�#������ $� 1�/ A
 ����� . 1�� -�* 8������ A�� 5��9 ����� $�� �%: ��� ": 8������ A�� 5�9��

�% � �0 ���� �/E� ��� ��*�� ���� ��� ��*� $0 1
� �/E� ��% �� ���� �
 �2���")2(. 

3. 1��%��� ,��
? !�%��� �29���� ��
���� !��*(��� �2��9� 

��% $?� �*��&��� ��������� ��(��� >:3 $?.�/4� !��(��� 6�O�? ���� � ! ��V �
 �	7�&�� �����4� ,�
�&�� ����� �� @&*� �2�0 ": M*� � I(/�� $� K��/�� ."

��� :/0 �� .�� 1��%��� !�%�� A�� $0 ��: �	
 �	��%��� A7�=�� $� M
 !�%�� 1�&� �� �� ���� ����# � 6��4� ,���%� �0 5��*�� �0 ����9�� '� 0
 �	
 1��%��� +��� 8��� �:�� 0����� I��/� 1���� $0 ��V � ���9��� 1��%��� ,��
?
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)1(  J � @��  89�� � ,���3�� ���  .15 . 
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 5�9� � $�%����	� �	� @������ 1���0 $0 �	
 J�� �:��� � �#������

? � 1��%��� !�%��� �2�� I����� 1��%��� ,��.  

 � ���� ���%��� ���� �	
 ������� K�* $� 1��%��� ,��
? !�%�� K�/� ��%
 �2�	
 1��*�� ����*0� �*��� 1��%��� !�%�� A�� �2��9�� ����� � �2��/�

 ���
� ��� ���%�	� �� ���� ��4� ��:%� � !�%���� >:3 A��.  
�� ,��
? !�%�� $0 ���	
 �:?�1��%� 1��%��� !�%�� $� ���
 +#� Z�9�� �

 ��������� ��(��� ,�
�� 1�9 �� 1
��� .�/4� !�%���� $��� �2��� ��(���
2�	
 @=���� ���4� �	
 ��7��� �29 $� �*#�� �29 $� �%������ U������� �

 .�/0 �$�#� '� 4� �:3 �	
 �2=��%�� 1��%��� ,��
? !�%�� ��*� ����� 
���� � $�#� ��%��� !�%�� 1���0 ��%	� �!�#������ ���O� $
 �#7�=�� 1��%. 

4. ���( )� I������ !� ���� ��? >���� � 

 ������� '� 0 �	
 ����9�� !��� *��� @	��� ����� ���( )� I������ +�&�
 6�� ��� �2����� � �2�*�� $%�� ����� � ����#���� �2�� I����� �� $�:����

 �&��� �� �2�	
 @=���� ������ �	
 6��� �0 .  
 �����=�� 8�� !���/ +�&� I������ $� �3��V� ���( )� I�������

!�&*� ����  >:3 +�&�� � !���/�� $� �3��V� ����*��� ���%��� ,�90� �������
 @=�� -�* � +7���� ��4� ��� !*� P����� $
 ���%��� '� 0 �	
 !���/��
 �0 !�#���� �0 �����=�� +� � �0 �� �0 8�� �	
 I����� 8� P�����

�� ��
�� M * �	
 ���%��� �	
 ,�90 I����� :/��� � �3��V �0 !(��*� ���
 1���4� >:3 �2��? 1�*� �0 �����=�� >:3 �2��? 8��� ���� �29��)1(.  
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)1(  � �V�� ,�&�� �	
 ��*� ������( )� $������  . �7����� �%�� �!���� � ��	���� ��2&� � ���
 � �8�5����� ���	� ���( )�1  J � .430 H431 . 
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5. ��2&� .���� ��? >���� � 

��(��� +��� $?  8� ���� �*����� +� ������� '� 0 �	
 1��%��� ,��
? !�%��
 .���=�� !�7�3 $0 ��: � ����9��� $������ ,��
? !�%�� 8� �������� @	���

!�%���� >:3 8� �������� �&	����� �3����� �� ��*���� �� � ��
����.  
� ��
���� ������� �7�3 �	
 1�G  ��� �&���% ���� ����� �� 1��� ��� !

+#�  ���#�� @��� ���%��� �	�#=�� M�*�0 ��:�" ) �7�2�� '�7� ( ^����
 U��� F� A�
 ) ������ �� ����2�9�� ��=� ( F� ��
 $ * ���%����

 +����� I �� ���%���� �%��� �=�	/ ���%���� ) 6�#
0( P�#�� $�%� �
 1�G �� ��=�%��� ,��
? !�%�� 8� $������ ,��
? !������ 6��9? � ����9��� $���

 �� 6�9 ���� ������� !����&�� ���9)�:  
•  $������ ,��
? !�%�� $� ����
 �0 �#�&�� $�. 

• �#�&�� $�  $������ ,��
? �%�� $� Z���0 ����
. 

•  8�� ��? ��#� � ��* ���� �� ���/4� $
 !������*� ���� �=�*� $�
 �2�
 ����� �7���. 

•  $������ ,��
? �� �4 $������ ,��
? �%�� ���
� � �&��� �� 1/��� $�
 ������� ���0 ��% � �2�����
� � �7�
 �� M��� �0 ��� '��� �2� �
������

 �2� A���� �� ,�� / ��0 $
 $���G � �� �)1(. 

 '��/�� ����� �	
 ��
���� ������� �7�3 ���9? !6�9 ���) P�#�� �� �3����
������� (��E� �9��� �	
: " �� =� �� �� 6�9 �� �	
 �7�2�� @����) ���4 ( $�

$������ ,��
? �%�� ���
� � @��� �� ��( )� $������ �%�� 1/�� +�
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)1( � �V�� ,�&�� �	
 ��*�  J � @��  89�� .433 . 

)2(  J � @��  89�� � ,���3�� ���  .17 . 
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 �7�
 �� M���� �������� +�
� �2� �
�#���� $������ ,��
? �� �4
�2� A���� ���� ,�� /�� $
 ����G ��� +�
� �2�����
� � .  

$� �2���� .��� !��� ���  ����&�� ���( )� �%��	� ��
���� �7�2��
 ��  �� $����	�1993+ )1(.  

 $������ ,��
? !�%�� 8� ������� 1�G  $
 ����9 !��% $?� .���=�� >:3
 !�%�� 8� 1����	� ���� � U	�� �2�0 ��V � ����9��� +�&� �2�4 1��%��� ,��
?
���� 0��� �	
 �  G� �3� � +�O��� +�O�� ,�
�� �	
 ���. 

6. ����9� !�V� � ��? >���� � 

 �
��� �0 �������� �
����� .�� � �	
 6��  ������� !�9����� 8���� $?
� 1��%���  M�	�� ��0 1��%��� ,��
? . ������� !�  G��� >:3 $_%�� ��0�

 8������ >:3 M� � �? ������� +����� ����� �	
 �2����  � � $� ���#���
� �* ��? �2	��0 �:�� �:3 P������ � ,���9 ����� !�9��� ��%��� �� I�� )

 ��������� !��(��� >:3� � ������� !�&����� $� 17�2�� +%�� . ���* �� ��%�����
 ������� !�  G��� �	
 �� �� ���� � M�V�� ��0 P���� �� U� � ��

� 1��%��� !�%���  1��%��� ,��
?)2(.  
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����� ������ : ��)/�� ����� 
� !�
�� 
���
��� ������� !�"� ���

 �)������� 5��@���  

 ��( )� �������� $������ @�  �� 1����� 1���� '0� +9* ��? ������ ) @� 
 1��%��� ( ��%(2� �� @�� 4� �9� 1#�0 �	
 � +7(� 1��%��� !�9��� $D� �

 ����=�� ���/4� ���� $4 � ����9���� �	
 �����
� 1�0 �2� �:� � ��� � ,��O�
 ����*� 1�5� � �:�� 1��%��� ,��
? @�  ����� � +���� ��* �������� @�� 4� ��

 ��/	� A����� !����*� M� * �0 ���&� 12 � �:� ,�&�� ��V ����=�� ���/4�
 ���/4� 8�5�� $D� ��:% � ��O�� ����� � �2	#=� $%��� ����� $� ���&�� �9���
 �� ��: ����� � ��� � ,�&� � ��/	� �����9? �=	%� U��� 8 �0 @��� �	


��&��� $������ !�9��� ��
 $�� $�� � ������ .���� �	
 ���"� ����
 �%���� 1
 �������� ) 1��%��� !�9��� ( �3����� $%�� ���� ����9���� ��%(2� �� @�� `�

�  ��*� 5�=��� 1��&�� �� ���% �* �2��� ���� !�9����� A�� �	
 5%�
@� ��.  

  

 ���� (�)��� :�� 
���
��� ������� >�����2��6���� ������ 
���  

 �=�� ����9)� �� �4� 1/� !���%� +30 $� ��*�� !��%���� �	
 $������ 1
��
 1�*� �2� �:� � ����&� ��������� @�� 4� 8��9 �� ���
 ��? 1�*�	� ,���% ����%�?

 $���� a����� ������ ) 1��%� ( M:�:� ����� �� 1
��� �	%���� $0 ��� � �	�

 �	
 ,��� ���� ����
 ������ ���/ >���� 1
�� �:��� ��� � P�=�� �:3 a7���

 ��/	� �	%�� A����� ����=� ) �7� /�� ( +2� ���3 $�%� $0 ����#�� $� �:�
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)1(  +���� �	��%��� $������ �1���? $��2�)���&������� � ����� ��O�� ����� ) ���&� �( �� �� ��9�� �
 �!���� ������� -�*�`� ������� �%���� �1��% Z����� �%�����2009 J � :78 . 
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 $������ ���*� �� �7� /�� ��%�*� 1��% !��%���� �	
 .  
 ���� +�	�� :�	�6��� �����  

 ������ 1�
��� �	� ���� ���� � $������ $� P�=�� �:3 �� �&��� ,��� +��&���)1(:  
1 / M�&� �� $�# $�1.2  8��9 A���� � �� �	� �� �	9 � ��%�� $��	�

 1% ,�� � �� �
��*� !��%����26  !����*� 1
��� � 1�4� �	
 �0 ��2�
-���*	� �9��� ,�� /�� 46  % ��? ����* 1�� Z(�? �=	%� � ����2.80 

 �� +�
 1(/ ���&� ,�*� $��	�.  
2 / A���� � � ����� 1����� ��13  ��%�� I�" ,��
 1% $�� ��%��

 ��� �� 1���*� ) �3 ��� 	� �9��� ,�� /�� 1���*�0.13  (% ���� � ����
 ��? ����* 1�� !��%��	�60.95  ���&� ,�*� $��	�.  

3 /� ��? ����� !�%��� $� !��%���� $� ����� P���0 A���!����*�  �	
0
 ��� 	�.  

4 / -���*�� !����*� �	
4 +��4� !��%���� A����.  
5 / !����*� 1�0 � +�&�� +	  �	
0 �� ��7�%�� �0 ���&�� ����
 !��%���� 19 �

 ��� 	� A����� !����*� 1�0 �	
 ,�(
 � -���*��.  
6 /!��* ��  ���� �	
4� !��%���� � �*�� J/� $� �%�	���� !��%���� ����

 ��� ��� -���*	� �#��� 1�4� �3.  
7 / ���3�9 ����� ��2 =� 5������ P���� $� !��%���� Z(�? �=	%� �2�� �

 5��9�� � ��%���� ��
 �� @��=�� !��% �����3  +��
0.  
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��( )� �������� $������ +��� $%��� � �&�� �� a7���	� �&��  K:��� ����� $�
 ���/4� ��� � . �9����� �	
 6���� � $���G��� �	
 ,��2��� ,�� /�� �
0 $���

 ��� 0 ���*�� +��� ��? 1���	� ��E� M �*�� �	
 ����
�� ���%�� ��#�����)�0  
!���� ( M� �*� +��� ������ 1%��� 1
��� � !��%���� �	
 $������ �� ��3� ���

����� �� ��3� ��� !���� �� �	
 $�.  
 +�� 1%�)11:(!���� �� �	
 $������ �� ��3� ��� M� �*� +���  

  
 

 

 

 

 

 

 

 

 

 

 

 

 ������ :J � @��  89�� 1���? $��2�80 .  
  

��%���� !����� M���%�� ���* M���%�� !����� 

 6�# �� �� �� 1����
 ���/�� !�������

��%����� 

������ �� �� M� * 
 8��9 6��O� �7�����

���/4� 

 ,�� /�� �
0 M� *
 ,��2��� ) �	�*��� (

1��%��� ��3� � �	
 

 ������ �� �� 1��*�
 ��3� ��� M� �*? ��?
 �	
 6��� 1��%��� ��
 �0 ���%��� K:���

 ����#��� 

 ������ �� �� M� *
��	%�� ,�� /�� 6��O� 

 6��V ��  M� *
-��
�� I���� 

 �� �� �� ��� �
 !������� 6�#

 ���/�� ���/��
-��
�� I���� 

 P��
b6��O�� 
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(1) Muhaiman Iqbal , OP , Cit , p. 83 . 

)2(  J � @��  89�� � 1���? $��2� ���0� .81H82 . 
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,��/�� $D� ��� � �&��� ' 0 �	
 6��� 1��%��� ��3� � M� * +�� $0 ��9���  
 8��9 .�� !��%���� ���/0 8��9 ,���? ��=�% �3 ������� $��#� $�%������

 !��3� ��� 1��� ���&� � �������� � ,�&� �� 8���	� �	��� ������%� �9��� @�&*�
 $������ ,��
? ���" 1(/ $� ),��
?  1��%��� ()1(.  

  

 
����� +�	�� : 2��6���� ������ A�/�� 
����� ������� 5��$: >�����  

 � ���:� ��: $D� � ����� $� ���&�� �9��� $�%������ !��3� � M� * ��

 a����� �9��� $0 $�#�)��( )� �������� $������ ( �� ��)1��%��� a����� (

 ��
 5��9� $� M *��� ���2� � ,�&� � $�%�  !��%���� $����� J�/��
 �&��� ���&� �0 �2��9*� !�������� 1�/�? M�	���� �:� � ��G� ����#? ���"

,��
? �3� �0 � a7����� ���&� � ��?  1��%���.  
,��
? 6��� �� � 4� ,�%=���  �� $�%������� ���/�� ���/4� $0 �3 � 1��%���

 ����� .�/0 a���� 8� �%������ $� ��5��� ��? �9�*� �*�� 1��%� a�����
*�� !�������� 0��� ��? ����� �� � $��/" 6���� �2����? ��	% ��D� � +9 !� ��

 ���/4� �� �%������ ,�
�� ) $�%������ $� ��%0 ��
 ( �
%0 �7�� ��: $
 a��
 ����&� � ) ���=�� ��*���� $� ()2(.  

-�. : 
����� ������� 5��$:)���6��� 5��$: ( 5���/�� B��1� ��8�	��  

��
) �=	�/� 1�%�0 ���3���� �2 ���� $0 $%�� 1��%��� ,�  $� 1��%��� ��	�

 �3 1%� M �0� !��%���� $���� P���� a7���� ���&� �� $� ��5� @�&*� 190  



������ ��	��                                      
���
��� ������� 
������� ����� ) 
����� ( ������� 
�  

 

(1) Muhaiman Iqbal , OP , Cit , p: 84 .  
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 ��	�
 ����� $�� !�������� >:3 +��� � ,�� /�� 5��9� ����=��� 1��%��� ,��
?
 6��9? �#�0 $%�� !��*�� A�� ��� 1��%��� ,��
? ��	�
 ������ 1��%���

 ,��
? !������ $������ ,�� /�� 5��9� '� 0 �	
  �&� 1��%��� ��	�
 ����� $��
��� � $������ ,��
? !��	�
 1���� '� 0 �	
 + �� ,����� �� ,��
)� !������ I�

 " ����=�� " $������ ,��
?)1(.  
 ��	�
 ���� M���� � � ,�� /�� 5��9� '� 0 �	
 $������ ,��
? !������� �&���
 $� �	 	  �0 -��* P��� ���* �� .�  A���� ��� 1��%��� ���� 1��%���

�� -���*���2�
 a���� � ,�*�� ����� $
 �9�  �7� /���9�  5��9�� ,���
 ,��
? a����� �� N	���� ,��*��� � ��=�*�� �	
 a�������$������ .  

 ��=�*�� ��� !��%���� $����� 1��%��� ��	�
 ���� $0 A��=� � ��: U�#����
 M9��� ��=�*�� N	�� N	���� �:3 1
�� :7��
 � �
��* �4 ����� $��	� �7��

� � ,�*�� ,�� / �0 $� ����=��� @�=� ��� ,�� / �0 ���� �0 @�=�� $D� �:
 ���� $%��� ��*� � 1��%��� ,��
? $� �� �������� +��  � ����� $��	� �7��� N	��
 ,��
? ��3� � �	
 1�*� $0 ��	
 $���� � ,��
)� 6��V ����� $� 1��%���

 ,��
? a����� �� � ��%���� 1��&� 1��%��� ��	�
 ���� 1% $� 1��%���$������  �
�� ,��
? ��3� � '%�� $0 ������� $�� >���� �:�� a������� +9* 1��%� ����

 ,��
? � � ��3� � U���  �:� 1��%��� ��	�
 $������ 5��9� '� 0 �	
 �
 1��%��� ��3� � $� 659 �3 �=	%� ���
�� � ,�� /�� $�%������ �2���� ����

 ,��
? ��3� � �� � ���*� +��� � ,����� $������� 0���� �&�� !��*�� M	V0 �
 � a������� 6��4 �&�� ,��O�� ����� !�: �2��� 1�&�� $%�� ����� � ���*�� �=	%��
 �*�� A�=�  1��%��� ���� $D� � +��� �� �	
 �3 a������� �9��� !��% �:D�

 1���� 1�&��� � � &�� $� ���4�4 % ���� �2	�*� ���� !��3� ��� ����9? $�  
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)1(  J � @��  89�� � 1���? $��2� .82 H83 . 

           ���0�Paine Christopher, Reinsurance – a brief guide, London, Chartered 

Insurance, Institute, 2000, p. 54 .             
)2(  J � @��  89�� � 1���? $��2� .83  � ���( )� ������� !�7�2	� ��9������ �� �*��� ,��3 89���

 � ������� ��
���� ��������2010  J � .564H565 . 

  
327 

 $
 1��%��� ,��
? � � ��5� � $0 M9� 1��*4� 6� 0 ��� � 1��%��� ��	�
  
7.5  ) % �	
�0 ��9� >:3(  ����
�� �� :/4� 8� +�� ��7�2��� ��� ��� $0 -�* �

 !�������� �=	%� 1���� ����#� � 1�=��� �&&*��� ) �� � �0 ( �2�	
 �&������ +��
��%��� ��	�
 ������ ����� $�� �#������ ��&��� +���? ��
 1)!����=��� ()1(.  

  

����� : 5���/�� ,8� 9��. #�$ ���6��� 5��$:  

 �=	%� ���&� � $��#� 1��%��� a������ �*����� ����*�� $� ���
�� P���� �3 �:3
 ��	/�� �2����� � $%�� ���* $�# !�#������ ��*� ������ � 1��%��� a����� ��

 ,�� / $� 1��%��� a����� � ,�� /�� 5��9� '� 0 �	
 $������ ,��
? 6��V) �0
 �7� /�� $� �	 	  (0 -��* $
 �9��� � ���� �2���� ��/�� ,�*�� ����� �

 ���� ,�� /�� 1��� �� � $� a������� ��*� ,�� /�� I�� ����=�� $D� � ��=�*��
 � ����&� $�%� � ����� !���� � ��O� �� a����� $�% �:? � 1�
��� 1��  �	��

 �*� ,�� / 1��� M���� � �	
 ���� �� ���� >���� �:�� !��%���� $����� 1��%���
0 ���70 %  1��� �� @�=�� ���O�� � ,�� / I�� 6��V 6��� ��%�� :7��
 �

 �� � $�� ,�� /��70 %  �� ��140  % 6��O�� I&  1
���)2(.  
 ���� $� 1��%��� ,��
? ��	�
 ���� M	�� ���� � ,�� /�� I�� !������ ���

 $� ����� �� �� �#�0 ����� $0 1��%��� ��	�
/�� 1��� @�=� ��3�� �0 ,�� 
 ���*�70 %  �� �� �%���� $%��� �10 %  ��9�) ��: +��� � ) �%���� ( �
%0

 �� %� ��: 1
��� � �:*�� M���%��� +�5��(� 5��* +��&��� ���/4� �� ��(   
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������� ����� ) 
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�  

 

(1) Muhaiman Iqbal , OP , Cit , p. 85 . 

(2) I bid , p. 87 . 

)3(  J � @��  89�� � 1���? $��2� .84 . 
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� 8��9�I���40 1��%��� a����� U��� � ,�� /�� I��� ����*�� >:2�� � ,��� �
%
,�&� � �9��� @�&*� �	
 $�%������ �2	�*�� ���� �=	%��� U��� �������� �

 �#�0 ,�&� �)1.(  
������ +�	�� : �8� ������ �������6-� C���/�� ;<��� 
� ���/����� ����
���

 ��
���� ;<���  

 @�� �� M�	 4� ) ��3� ���� �=	%��� M� * (��� �	� ��#��� �9:��� 1��� �X 
 �2�� ������ � ���� !��*�� �� ���&� ����� !����� ,�
�� �0 !���	����7��*? 

�0 �%���� 1/�� �&���  �� �%������ 8�5��� ����� +�&� $0 ��%��� � �
�����
 K:��� �� ��� ������� ��3� � M� * $%�� -�* � ���
 ���5�� ���/4�
 ������ !��%���� $���� ��=*� ���� 8� $%�� � ����/ \�c�� �#���
 ���� � �%���� 1/�� � ,�� /	� A����� +9*� ���/�� ��7��*)� !�������

�/� �� :7��
 M� *� $������%)� 6���/�� M��&� �	
 ����� ��� �
%0 �&��� +�
 �c�� ��%0 �9��� !��%�� $���� a������ ���/�� 1��%��� !��3� �)2(.  

 �	� ����� $������%�� 6���/�� K:��� �� ���/� ��� �������� A�� ��� $� *��
 ��� ���.  

 -�. : 5���/�� D�
��� 

�  $���� �� 1��%��� ��3� � �2�	
 +�&� ���� �� � 4� ��� ��� ,�*� ����� $0 ��
 J�/�� 1��%��� +��� ��? �� ����� � ,�� /	� A����� �� � �� �	
 !��%����
 �	
 5%��� ,�*�� �� � ��%��� �5����� ,�� /	� A����� � !��%���� $�����

 �%������ ,�*���� ,��� �� $0 '� 0 a����� �� ���
� ,��� ������� ,��O� 1��%���
 ��2� ,��
)3(. 
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(1) Paine Christopher, OP , Cit , p. 56 . 
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$� ,�� /	� A����� $�%�� : ������%�� A�����M �%��� A������ A������ �
 1��=��� ��� .  

 J�/�� 1��%��� +��� �� !��*��� ����� ����
 ������%�� ,�� /	� A����� +��
 ����� ,��� 1(/ !��%���� $�����.  

 �	� 1(/ ,�� /	� 1�=��� �#��� !��*��� $�%� ����
 M �%��� A����� +���
 ,��=��.  

��0 ��
 +��� 1��=��� ���  A����� �� ,�� /	� �#��� !��*��� $�%� ��
 $�5�� $� ����� ��*�)1(.  

 �/E� $
 ,�� /	� A��� 1% I	�/� I�% ������ 1��9�� U#���  
 +�� 1��9��)17 :(1��=��� ��� � M �%���� M��%��� A����� $�� @��=��  

$������ $���  ^����  
 ,�� /	� A�����

������%��  
 ,�� /	� A�����

�� �%���  
A�����  ,�� /	�

1��=��� ���   
2004  2005  2004  2005  1/01/2005  

1/01/2004   
4/01/2004   
7/01/2004   

10/01/2004   

1.00  
1.00  
1.00  
1.00  

0.00  
0.00  
0.00  
0.00  

1.00  
0.75  
0.50  
0.25  

0.00  
0.25  
0.50  
0.75  

0.00  
1.00  
1.00  
1.00  

����9)�  4.00  0.00  2.50  1.50  3.00  
  

������ : $��2�1���? J � @��  89�� �  .85  
  

 



������ ��	��                                      
���
��� ������� 
������� ����� ) 
����� ( ������� 
�  

 

)1(  J � @��  89�� � 1���? $��2� .85 H86 . 

(2) Muhaiman Iqbal , OP , Cit , p. 88 . 
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����� :�*��E F��� ����)��� �����6� )1(
 

 8��9 �� ��2������ $� ��� $��2� $���O�� �2��� .��� �������� �����%� 1
��
� !���4�  �	
 ����� 1%�� �
G�  ���� �� �7��� !���O���� $(%�� -�*

 �	� ����� � $�%������ $� 1��%��� ��	�
 ���� ��? �2��� M�	���� ��3� ���
  $���O���� $�:2� ���
 �O��:  

F K = K C / E 

 -�*  :F K  :,�� /	� A��� ,�*� 1%� �������� ���%�  
           K  :.�c� �0 1c��
  

C                 :!�������� ��c
  
           E  :,�� /	� A����� ,�*�  

 � :  
S = L / C 

 -�*  :S  : \���� .�c�  
         L  : �7� /�� N	�� ����9?  

 C             :!�������� ��c
  
  

����� :�)/�� �	�6� 
��� )2(
 

 M9�� ���O	� ��2� ��7��*? ���� ��/�� �=	%� ���� ��� ��4 � ���� �������
 ��/�� �=	%� ���� �O��� � ,�� /	� A��� ,�*� 1%� ,�� /�� � ��� 1
��

 �3:  
P = L / E 
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(1) Hop Kin, Holistic Risk Management in practice, London, Witherby & COLTD, 

2002, p. 64 . 
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 -�*  :P  :��/�� �=	%� ����  
         L  :�7� /�� N	�� ����9?  
         E  : ,���/�	� A����� ,�c*�  

 ������ �*��� �	
 �#�0 +�&� $0 $%���:  
P = ( C / E ) × ( L / C ) 

 ��/	� A��� ,�*� 1%� ,�� /�� ���%� -�* )F1  ( �:?:  
P = F 1 ×  S 

 ��� � ��/�� �=	%� ���� $0 ��: ����� ,�*� 1%� ,�� /�� �����%� a���
 \���� .�c�� ��/	� A���.  

�
��� :5���/�� ��)� 5���� )1(
 

 ��? �2�
 N_	�� ��V �2��% $� 6����� ������ !���/�� 8��� �������� ,����  $?
 ,�� / ��? ���2��� �� 1�*�� $0 ��? � �
���� ��V �2��%� ����� � �2�
 N_	��

 $
 N�	���� ���#� $� �������� ����� ���� ��4� @�O� � �� ,��
� �
����  
�� �
������ �������� ���#� ��? �������� �� ����G ��� !��* A�� ��� � ���

 ������	� ��7�2��� ��� ��� +�� ��* !���  ��4� @�O� �.  
 ������ �#�0 +2��� $�� � ,�� /�� ���� ,�� �� +���� �/�� ���
�� 1%��� 1
���
 $%�� ��* � !�6��9)� 1*��� $� �	*�� �0 �� � ,�� /�� ���� 1*���

 ��7�2��� �=	%��� M� *����� �4 �&���� ���	  ��� * �.                              
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(1) Muhaiman Iqbal , OP , Cit , p. 85. 

)2( J �@��  89�� �1���? $��2� :87 . 
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 +�� 1%�)12 :(,�� /�� ���� ,�� �� +���� �/��                                                    
                                                                �7����  

  
  
  
  
  
  
   

  �� ��  10   9    8   7   6    5   4    3   2   1      0 

������ : Hop Kin, OP , Cit , p: 87   

%����� +�	�� : 
����� 
���
��� ������� ��G���)���6��� ( ����� >����� 
�

2��6����  

�&� ����%�� 1���4� 1���� � $\�G� ��/ ��? �� ���� ��/�� �=	%� ����  8���
 ��/�� �:2� ������� �2� A���� ,�� / �� ��%���� $� �*�� +�
 ,��� 1(/

 M9� ���� !���/���� !�&=��� ���� �	� ����� !��%���� $����� 1��%��� a�����
 ��3� � ��? 1�� $0 1�� �2���#?)� � ( 1��%���)1(:  

1(  ������� �	�6���: 

 ,�� /	� A��� ,�*� 1%� !��
 �=	%� ���
 �3 ) +�
 1% ,�*�� ,���  (
�����? �=	%� �=	%��� $�%� ����
 ��: �	
 1�
����)2(.  

 

100%  
90 %  
80 %  
70 %  
60 %  
50 %  
40 %  
30 %  
20 %  
10 %  

 ��
� 
� +
�c
&�

���
��
���
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2(  ��@���� !����: 

 ��3� ��� ��? �� ���� ��O�� �=	%� ���
 �3 ) � &�� ( � ������� �2���� ����
 ��: �	
 1�
���� ��% 1�O�� �0 ,� �  �0 ���%� + � �3 �=	%��� $�%� ����


�%��� ���%��� K:��� �� 1�*�� ��� �	. 

3(  5���/�� 5���B C�)? �	�6� �. �&��) �	�6�: 

�����*� ,��� �� ����9� +�� J�/� �3  ����%�) ����� � !��/�� �0
9�� ��	�=�� 1��%��� +��� �7� / 5�� $%�� ��% � ���4� �����&��� �7� /	

 ,�� /�� 5��9� ����* 6���� �=	%� �3����
�.  
 e������ �����*�� ,��O���� �=	%���� ����
�� �=	%��� ����
�� �� :/4� 8��

��� ��3� � M� * $%�� :7��
 � >(
0 ,��%:��� ������� �O��	� �&�� 1��%:  
. .   ���6��� ;<���: 

C = ( P + F ) / [ ( 1 – ( V + Q ) ] 

 $0 -�*   :C  :��3� ��� +9*  
             P  :���/4� �=	%� ����  
             F  :����
�� �=	%���  
             V  : ,��O���� �=	%��� ) ���%��� + �(  
             Q  :,�� /�� ,���5 6��V �=	%� �0 �����*�� �=	%�  

  
( .   ����H��� ;<���: 

C = ( P + F ) / [ ( 1 – ( Aq + Ex + Q + PF ) ] 

 $0 -�*   :C  :��3� ��� +9*  
             P  :���/4� �=	%� ����  
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             F  :����
�� �=	%��� 

              Aq  :1��
4� �	
 1��*�� �=	%�  
            Q  :,�� /�� ,���5 6��V �=	%� �0 �����*�� �=	%�  
           PF  :I�2� ��� U���� R��3  
  1
���C   �� ���*�� >:3 ��� � ,�� /	� A��� ,�*� 1%� ���&��� ���%��

 !��% �:?� � N	���� $� �659 $�%�Av   1(/ ,��� �� ���� � ��� 1
�� �� 
 ��3� ��� 1��� 1�
�� $%�� :7��
 � ����� ) 1���C  �7���� ( �	� ��%:  

  100×C rate = C / AV   
 $0 -�*  :AV  :,��� �� ���� � ���  

4(  ����	�� ��G����� ��@��:  

  $D� � a������� �� ����� 1%� 1���� @�&*��C rate  1������ $� ��5� ��? �9�*�
 1��*� $%�� ��* !���O���� $� ��
 �	
 �6��� ) I�	%� ( �� ����� 1%

 �	
�� �:�� ��/�� .�� � '%�� �:�� 1����� � &�� �0 ��3� ���� a�������
 �����%.  

� A�� �	� ����� �	
 ���	&��� $������ �� ����
�� �� �3:/0 87���� !���O���
 !��%���� $����� J�/�� 1��%��� +��� �#�0 M ��� ����� � !��%����:  

1H  @7� �� ��
 )a .( 

2H  @7� �� '�9 )b .( 

3H   ��
���9�� ���*�� )c .( 

4H  -���*�� 19  / !�������� )d .( 

5H   ����  �
��&��� 1���4� ��c
 )e .( 

6H  P��  +��/� �� )f .( 
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�  

  

)1(  J � @��  89�� � 1���? $��2� .89 H90 . 
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7H  ,����� �0 ����� ��%	� )g .( 

8H   �35���� ��%���� 8�� �29 )h .( 

9H   ��%���� 8�� ^���� )i .( 

10H   ����/� � �
%4� @����� )j .( 

11H  ��%���� M"�� 8��� )k   ()1(. 

 +����� �� �&�� �� !���O���� +��/� � ��=�%� �O�� �	� �����  
C rate1 = C rate  × Id Factor 

 $0 -�*  :C rate1  :��=�� �����	� ��3� ��� 1���  
             C rate  :��3� ��� 1���  

        Id Factor  :���=�� 1�����  
( a , b , c , d , e , f , g , h , i , j , k ) 

 -�* ... :a , b , c ,  ���=�� +��&�	� �3����/� +� ���� �� �7��� ,���&�� !���O�� �3.  


����� (�)���  :���G�� � ����� 
� 
����� 
���
��� ������� ���$�

 ����1���  

 !�%���� 8��9� ��������� !�9�*�� ���	� ��? ����9��� 1��
`� 1��%��� a����� I�2�
� �O��� ��3������ +9*�� �� ������ ,��O��� . !�%���� $� P���4� >:3 1
����

 �	*��� a����� ����9? �� $�� �7��� $��3� ��� f����9� )GDP  ( ���� 1���� ��
 ��	 � ���	V0 �2�% � . 1�
��� 1��  �	
 � �� �����? �=� H  $� ��
 ��%0 5%��� -�*

 ����* ���3 � $��	 ���42.5  � 1��
4� $� �7=�� >:3 $�# 8&� ����9� ,�*� $��	�
 1�
 ���� $��	� $���  �����.  

 ����9��� 1�*��� � 1�
��� 1��  �	
 �2�� � ���O	� 8 �� !�%���� >:3 1��
0 1�9��
 �#�0 �2��# $�� � ���2��� !���/��� @���=��� +
������ !�9���%���
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)1(  J � @��  89�� � 1���? $��2� .90 H91 . 
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 �3��V� ������ !���/��.  @� �� $D� � U#�� �3 ��%� ���/	� ,�
����
 1��%��� ��/� ������ M:9 1��
 1_
�� ����9���.  

 ��� �29� $�� ,������� !�9����� >:3 1
�� 8��9�� $������ $D� � 1��%��� M���%�
 �� 1�
� � ���*� 1
�� � ������� �� ���� 1��
4� $� �7=� ���/��.  

 �� $�%������ $� ���% ��c
 +��#�� ����%�? �� 1
���� � ���9�)� M��9�� ��0
 gI�c% g�c* ��? ����% ��	��%� ������ �9�� ��� � a������� ���3 $�%� �������� �

 ,�&� � �9��� @�&*�� ,���% ����%�? . ����*� $0 �� 1
���� ��	 �� M��9�� ��0
�3� ��� ���*�� ����&� 1%�3 M���� $� � !���/��� $� P���� �:3 1
�� ���	 �� �

 1��%� M��%� �0 +��0 �	2  ��2� $�%� . �� �7��� !�9����� $�#�� $0 $%���
 �	� �� ����9��� 1��
4� �	
 $����	� 1��%��� a�����)1(:  

���� +�	��  : 2�6������  

 ������� !�%	����� $���� ����� �:3 �� '��� :  
 -�. :
������   

�� $%�� �# ���O�:  
1.  ��7��2�� ,5294� ��
�� � ��9=��� � @���� � $������ 1�=� ������� ��#��

 1
� ����#? �=	%�� f������/� �2���#? $%�� ���� ���/4� $� �3��V�: 

 0.   !����#)�� MO��� 1��
0 ������� ���#4� $� �3��V�. 

 M.   >����� $
 +9�� ���� ���#4�� I������� !���#�=��. 

 K.   ����� ���� $�%����� P����� 15�5��. 

2.  �3� � ��#���� ���#4� �0 �7� /�� 8��9 ���O�� .�/0 !����/ �0 �0
 ,��*� !�6��
� � 8#/�H  + �� ��� ���� ���O��� >:3 I��� » ���%

 ���/4�«. 
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3.  �2�
 A������ $%�� ���#4� >:3 1
� M&�� ���� ��#���� !�&=��� �	��
 >(
0 $����/�� �#�&�� » 0 «� » M« . !���/� A�&�4� 8�� $�#���

 !����� ��� �������� +� �� e������. 

 ����� : 2�������� ) 2�B�*1���( 

 !�E�� !������� !��������� !���%����� $�5/�	� 6��V U�� �3 I�2��
�V� ����%��� !�5�29���� �3� .O��� ���/4� '%�� $0 M9�� ,�� ) @	��� �� ��

 !����*���� ( �	
 f,�(
 � ������� $���� �&�
� �� ,��9���� ���/4� �	�
 ��� ��� �� �� 1
� ����#)� ���/4�H  !����*���� ��(
 �2� �����. 

 ����� : ��4��� 

 �2	&� ���* �� �0 �&��� �0 ������ 1/�� 6��  ,�� /�� �# 6��V U��� >:3�. 

 �
��� : �4��� C���. %&�H��� �����: 

 !���� 1%� �� !��% j6��  �j������ 6��V ������� 87�#� U��� ��:� / � ,5290
� �	*�� �� ���� �0 � +�/ ���� �0 $� $�5/� �0 ��7�2� !�9��� �0 � 8�����

 1&��� 6��
0 ����9��� 8	 ��. 

 ����/ : ����� 
��J� 

1��
4� I��� $���� �� ���&��� H  �=	%� ,���5� � ����
�� !�������� ���O��
 �3��V� ��94�� � 1/��� ,�� /� � 1����. 

 ����� : ������ ���H 

 ����/ $
 ��9���� �7� /�� ���O�� I��� �� $�	����� @��� M��9 $� ����4�
 �����.  
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 �
��� : 
���G �����: 

 $� ��2� �j659 !*��0 ���� !�� �*��� ������%�)� ,5294�� !������ ���O��
 1��
4� �����. 

 ����� : ��H�� �$ ����K����: 

 !�9����� ����G � $����� ������� ����G ��� $���� �3 �� �7��� !�9�����.  
1.  ������� ����G ��� $����–  ������� �2&*	� ���� !����)� �0 ���#4� ���O��

 ����� �0 ����
4 �9��� �
��
 I�����. 

2. ����G ��� $����  !�9�����–  I��� @*	� ���� ���#4� �0 !����)� ���O��
 -��
 �� $\�G��� �0 ������� !�9��� 1���� � �9���. 

 � ����9��� ���/`� ,�*�� ��\�9� �&�
� �� �&�� �� ���V4� �	� 8��9� ����
1��
4� �&�
� + �� �#�0 ���������  �� 1
��� ���� ��2� A2�� � ��\�9���

 ���� 1��%��� ��3� � M� *� ���/4� �� �%����	� a����� 1#�0 M���� ��=�%
 ����� � $��#� ���&���� I���%��� 8��9 ���O�� � $�%������ �2���� $0 $����

 1��%�	� ������� ,6(���.  
  

 +�	�� 
����� : ����1��� 2��)@��� ���6��� ��G��� !��4� !�"�  

 !�9����� $0 $� +V���� ] ���V4� [ �2���9� +� �� +��� $0 �? � ,�*�� �&�
� ��
 !���� ���*� ����� !�9��� ����
�� �� :/4� 8� >���*� $� ��� ��3� ��� /

� �:� � ����� �j���/0� �2���� ��%0 �9��� M��%��� @���� $0 ��  ��? 1���� ��*
 ��� 1% $� ���	���� !��3� �	� 1��
 J��/� �����.  

 1��%��� $0 �3 � ����
�� �� :/G� $0 M9� �:�� +2��� �/E� ������� ) $������
 ��( )�( + �� $0 ��� 1��%��� ��	�
 ���� $0 �� ���	&��� $������ $
 I	�/� �  
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�� ������ 1% ��? �� ���� ����=���� ��*�� $ ��\�9��� ,�9����� ���/0 �����
��\�9��� �&�
��� ��? �� ���� !��3� ��� M� * ��=�%� . Z�� ��� ��V $� ��? ��%

 $� �
�� ��: ����� -�* ��\�9��� ���/4� 6��� �	
 $�%������ ��9� $0
0 ��9��� +	��� . �� ���� ��3� ��� +��� +� &�� ����%�? ���3 $�%� $0 M9� �:�

��?  ����=�� !�9�����)1(.  
-�. :
������ (���  

�  �2� A���� �� ���� ���/4� ��? �� ���� ���� �� ��3� ��� $�%� $0 ��
�3�# $������ +� ����� ������ ���/0 �	
 �
G� ���� 1������ $�#��� �������.  

� �@��*�� ���/0 ��? �� �����  ������� 1������ ����
�� �� :/G� $0 ��)2(:  
1.  ������ 1�O�? �0 +��/� �. 

2.  ������� 6����� 1%�3� �6����� ���� P��. 

3.  ������� ���*��� !�%	�����. 

4.  @7��*�� $� ������� +���. 

 �� :/G� $0 �� (� ������ ���� $�%����� P����� 15�5�� ��? �� ���� ��0
 ������� 1������ ����
��:  

1.  ������ $�%�. 

2.  ������� ������ ����� ���/� ���. 

 $0 �� � �>����� $
 +9�� ���� ���#4�� I������� !���#�=�� ��? �� �����
 ����
�� �� :/G� ������� 1������:  

1.  ������ 8���. 

2.  ������ 1/�� ������� .��*���� @	��� �� �� ���/� ������� 1�O�?
) ���:�9�� / I��2� �� 1��
.( 
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3. ������ ��%	�� @	��� �� � * 1��
. 

4. ���#4�� !����#)�� MO��� 1��
0 �# ����4� �������  �������
��	34� !�����#���. 

 ��:/0 �:?� ���O��� ��
 ��* ��&�� �� 1������ ��&��� ����� .�� ����
�� ��
 $ *� ��� $� ��
��*�� ��9����%��� ��
 ��:3 ����
 1� �� �����	� ���������
 �0 1��� ���*�� M� �*�� +��/� �� �%: +��� ������ M��%��� +�&� $�� ���
%

�*�� ,��/�� �	
 +7�� +��� �0 �!��3� �	� $������ ��  !��3� � J��/�� ��
����� 1%� �&��� . -�* ��0 1��%��� �� !��3� �	� @����� J��/��� $?

 +	��� ��*� +����� $� ���/ ��: ���
0 �?� ����5�?.  
 �29��� ��/ 1% �	
 1��
 1% ��
�� ��=�% 1�* ����� $� ��5� ��? 1���	�

� !��7��*? 1���� � ���	
 $\���� �$�%������/ K:��� �0 �2� @�
�� ��#���.  
 ����� :��G����� 2-�
� ����� (���. :  

 1� �� ���/`� �������� 6��O�� 190 $� 8��� ���� !��3� ��� M� * +��
 ������	� �������� 6��O�� P�#��� @*	� ,�� / �0 �29���� 1��%��� a�����

���/�� �=	%�� ����/4� ,���? �� �	\�*��� I���%��� 8��9 �	
 ,�(
 R��3� !
 U���� ) ����#��� K:��� ��? �� ����( ���%��� + � �0 � ) K:��� ��? �� ����
 ���%���()1(.  

 �����  � ���/4� �=	%� $� ���� ��3� ��� �=	%�� � �7��� ������ $? -�*�
 ��=*� +2��� $�% �:? �+2������ ,�
�� �	
 �0 +2���7��*? �	
 ��? $����%��� +���

�� ,���% ����� �
����� !��7��*? �	
 ��: $� ��� �0 ��%���� 1/.  
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 $%�� �1��%��� ��3� � !���� ���*� +��� ����� $� ���4� �	*���� ��
 �����% ����	&��� $������ �
��� !��7��*D� ����� �� >:3 $0 ����� ��4

 1��%��� � ���� $D� ����/4� �=	%� M� * 8� +6(��� �2=��%� +� !��7��*)�
 1��*4� �0 �	
 � =� M�	 4� ����� .  

 �
��� �	��� ��7��*)� !������� ,�
�� $� P���� �:3 $��	��� M	V0 �� $������
 ���2 � �2� ����� �� 1��%��� ��	�
 ���� $%���.  

 ,��O���� �O��� ��3���� �����9��� !������� 1_
�� +	 � �	� �� ��0 A�=��
 ���&�� ������� �� �� � 4� ������� f����9� �+9*�� �� ������.  

� !��7��*)�� ��
)� ,��� ��? 89�� ���/4� �=	%� ����� ���/�� �2� �=�*��
 �������� ���
 ��
 . ���/ I�0 �7����
 1�* !��7��*)� >:3 8�9 +��

 ���/� �360  ������ P��� �&�� �=����.  
 +�/� � $0 $%���1��%��� ��	�
 ���� $� P���� �:3  ��2� @�
���� �!��7��*)�

 ���*� M� *� +�/ ,���% ��� ��(
 !�: m$��� ��/� 1��%��� ��3� � !����
 �2���� ���9� ���� �
��9�.  

 ���� ����9��� ����4� A�� ��? �� ���� ���/4� �=	%� ����� �	
�0 �	� �� ���
 1��%�	� ���2� � ���  1_
��.  
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��9 +�� 1)18 (���/4� �=	%� ����� ��7��*? ���
 ����4� A���  
LB���� !8���  L��1��� )�E���  ��)/�� �	�6� 
���  

2221  
2341  
2465  
2602  
2711  
2722  
2931  
2934  
2939  
2941  
2945  
2951  
2961  
2970  
2972  
2976  
3081  

������%�)� ,5294� U�	��� 8��9�� 8����  
��%�� (� I���0 8����  

 '�(� �
���  
,��9� 1*�  

.�	*� ����%�� 8����  
!��% � 8����� 5��/�  

@� � 5%���� !%��� ��� � ���% �9��  
 �9���  

!����  A����  
�	
0 �0 +�9� -(
 @����  

+
���  
���� ������ � M��%�� !����
� !��=�� �  

!��%���� U�	��� 1*�  
���/ m$���  

���%  m$���� @&�  
���%  15���  
�
��5 ����  

0.0769  
0.4053  
0.2474  
0.5651  
0.1023  
0.0983  
0.4145  
0.3512  
0.0617  
0.0328  
0.1504  
0.0368  
0.0998  
0.0148  
0.0126  
0.0232  
0.0940  

������ : $��2�1���? J �@��  89�� �96.  
 ���
 !���� 8����� �&�� �� !��7��*)� 1
�� . ����
� $%�� ����� �7� �0 ���

 $� 1#�0 ���/4� A���7�  ��
�� $� ���/4� A�� ����� �� ����� ��3�� .  
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 !��3� ��� M� * �� ��� $_�&� M���%� !��� � +��� 1�/�? ��? �9�* ���3 �:�
 ����9��� !�������� ���/��.  

 1��9�� '%�� +	 ��� �	��� �:3 ��� +���� ������)19 (���/� ��� ��� ��� 1���
.  
 +�� 1��9)19 (���/4� +��&�� ��� ��� 1��
  

���/4� +��&�   ���/4� �=	%� ���� ��� � 1��
 ) �7��� ��(  
5����  

� ����� @��  
� ���  

� ����� !*�  
���4�  

75.00  
87.50  

100.00  
125.00  
150.00  

������ :J �@��  89�� �1���? $��2�96.  
 ���/4� �0 ��&� �:�� �2� ���� ��� ��? �� ���� +%*�� M*�� �3 M��%����

 �:%3� ���4� �0 ,5���� �0 � ����� @�� �0 �� ��� �����.  
 ������ ���&� ���� ����� $0 M9� �+�	 �� +%*�� @���� �	
 ����� $�%� �%��

 ��%*��� �:*��� + �� +%* ��? 1����� �	
 ����� $�%��.  
�#� $? 8� �!��7��*)� $� �2�	
 1��*�� +� ���� ���/4� �=	%� ���� �=


 �=	%� ���� M� * ��? 1����� ��? ��G�  ���� � 1��
 �0 ����
�� �� :/4�
 ����� ��/	� P�#�� �4 ���/4�.  

P1 = P × Af1 

 $0 -�*:  
p1               : ��/�� �=	%� ����.  
P                 : !��7��*)� $� ��/�� �=	%� ����.  
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Af1             : M��%��� +��&� �	
 6��� ��� � 1��
.  
 �0 >����
� �� :/�� $0 1��%��� ��	�
 ���� �	
 $���� ���/�� �=	%� ���� $�

 ���/�� ,���) !�&=� ,�� /�� ,���5 '� 0 �	
 $������ ,��
? ����* 8�� �=	%��.  
 K:��� �� ��% ���%� + �� �0 ����#��� K:��� �� ��% U�� R��2� Z�� ���

 ���%���.  
 ������ �*��� �	
 $�%�  ������� ���/4 1��%��� ��3� � �O�� $D� ���	
�:  

����H��� ;<���  

C1 = P1/ [ 1- ( Wi + E + X + Pf ) ]  
 $0 -�*:  

C1                 : ��*� ��/� 1��%��� ��3� �.  
P1                 : !��7��*)� $� ��/�� �=	%� ����.  
Wi                : 6�� ��� @��� $
 1��
4� �	
 1��*�� �=	%�.  
E                  : 1��%��� P���� ,���? !�&=�.  
X                  :5��9� ����* �=	%�  �����*�� �0 ,�� /��.  
Pf                 : U�� R��3.  
���6��� ;<���  

C1 = P1/ [ 1- ( Wi + Wo + X) ]  
 $0 -�*:  

C1                 : ��*� ��/� 1��%��� ��3� �.  
P1                 : ����d  ��/�� �=	%�.  
Wi                : ��� �	� ���%��� + �)1�%��� �0 �� � ��. (  
Wo               : 1��%��� ��	�
 ����� ���%��� + �.  
X                   : �����*�� �0 ,�� /�� 5��9� ����* �=	%�)1.(  
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 ����� :F�/. ��)/. �H ������� ��G����� ��
��  

 ��/ �# ������� ��O��� ������ �	
 �&� @�� �� ��3� ��� +��&� M� * @����
 ��7��2�� ,5294� ��
��� !���9=���� @����� @��*��.  

,��*� .�/0 ���/0 ���3�  �&���� �2�	
 $������ �� ��3� ��� M� * M	���
1
� ���/:  

1.  ����� ���� $�%����� P����� 15�5��. 

2.  ��	34� !�����#��� ������� ���#4�� !����#)�� MO��� 1��
0 ���/0. 

3.  ��*���� I������� >����� $
 ��9���� ���#4�� !���#�=�� ���/0. 

1 M  �B-B�� ��)/. ��G��� ��
��
��������� ��6����� +-���� 

 �# ������ 6��V U�� 1�� ����
�� �� :/G� $0 �� � 1��
 +30 8����� 1
��
 ����� ���� $�%����� P����� 15�5�� 1
� �������� ���/0.  

 $� �������� -���%	� �#����� @������ �7��/ �	
 1��*�� 12 � �� ,��
�
 ������ .��%�� $������ ,��
? !�%�� !�  G��� $� �0 1�9��� �:3 �� �

 �	��� !�: 17� ���� 15�5�� 8� 1����� ���� �=	�/��� ���/����.  
 �� ��% + �� �����/� �������� �	� �
��� �
%4� �7��/�� $�� )CRESTA  (  

 ) �2�%��� $%��0 '��� ��*��� ��
��%�� ���/4� +��&� (  
 ��  $������ �
��� �2����0 ����1977�% + $����� ���&��� ,���Q� �	&� � ����

 �������� ���/4�.  
 $� I�2�� $�%� �� ��% )CRESTA (  �� +%*�	� �����
 �\*�� +��� ����? �3

 �������� ���/4�� �&	����� ��������� !����G ��� +%���–  15�5�� ���/�
 !���#�=��� I�������.  
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 $������ �
��� �� 8 �� @��� �	
 �&���� ���&� '��&��� �:3 U��0 ���
 ������� . 1��%��� ��	�
 ���� ��? �� ����� ) ��( )� $������( '��&��� �:3 ��� �

M� *� '� 0 ����% ���O	� ���=�� ��2� �\*����  $������ ���O�� 1��%��� ��3� �
 �3��V� 15�5�� �#.  

 �	
 ���3�9 ���
�� �
G� .�/0 1���
 ���3 ��&����� �0 8����� ��? ���#)���
 �2
���0� ������� �7� �3� �15�5�� �7� /.  ������� $D� �1�
��� 1��  �	
�

������� ����&� 15�5�� �7� /� �#�
 1�0 ���
��� A��V4 ,������ ������� �
 @������ ,����� .  

�0 �
(
�� 1������ �	� +�/� � �� f,��
� :� �6����� �7�� ��&���������  ��
 �������
 15�5�� ��/ �	
 $������ �� ��3� ��� !���� ���*� . �*\#���� ������ $\����

 �&�� �� �
(
�� 1������ �	
 j6��� M� *�� ��=�% ������� 1���9�� ��.  
 $? U#�� ��� �=	%��� �3�� $�%� �� 15�5�� 6��O� ��	%�� ���&��� $������ 6���

 @(�)� �	
 ����# ��V ��0 !��*�� A�� ��.  6��V 6��� 87���� $�� �:�
 ���4� ,�� /�� '� 0 �	
 15�5��.  

 +�� 1��9��)20( ��( ? �	� �� 15�5�� $���� ��  / �=����) �&�����1(  
 �4)����1   �&�C�����  

C����� �&�  .  (  ;  

,����  B����  ����� �����/  

)�&��� 
�(  


��
� �6�G  

)�&��� 
�(  

�J/N  

)�&��� 
�(  

8������ ���/0  
 ��* .�/0 ���/03 @����  

4  ��?9 @����  
 $� �
%010 @����  

1  
2  
3  
4  

0.108  
0.104  
0.122  
0.135  

0.108  
0.104  
0.135  
0.149  

0.122  
0.113  
0.270  
A��  
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 +�� 1��9��)21 ( ��( ? �	� �� 15�5�� $���� ��  / �=����) �&�����2(  
 �4)����2  C����� �&�  

C����� �&�  .  (  ;  

,����  B����  ����� �����/  

)�&��� 
�(  


��
� �6�G  

)�&��� 
�(  

�J/N  

) 
��&���(  

8������ ���/0  
 ��* .�/0 ���/03 @����  

4  ��?9 @����  
 $� �
%010 @����  

1  
2  
3  
4  

0.120  
0.115  
0.135  
0.150  

0.120  
0.115  
0.150  
0.165  

0.135  
0.125  
0.300  
A��  

 +�� 1��9��)22 ( ��( ? �	� �� 15�5�� $���� ��  / �=����) �&�����3(  
 �4)����3  C����� �&�  

C����� �&�  .  (  ;  

,����  B����  ����� �����/  

)�&��� 
�(  


��
� �6�G  

)�&��� 
�(  

�J/N  

)�&��� 
�(  

8������ ���/0  
 ��* .�/0 ���/03 @����  

4  ��?9 @����  
 $� �
%010 @����  

1  
2  
3  
4  

0.132  
0.127  
0.149  
0.165  

0.132  
0.127  
0.165  
0.182  

0.149  
0.138  
0.330  
A��  

  
2 M   ���H��� O2����H��� O(@E�� ���$. ��)/� ��G����� ��
� !��4�

���G�� 2����)H-�� ����
��   

 !�����#��� ������� ���#4�� !����#)�� MO��� 1��
0 ���/0 �����
 �	��� �����/� �2���&� �
��� ���� ���/4� $� ��	34�.  



������ ��	��                                      
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��� ������� 
������� ����� ) 
����� ( ������� 
�  

 

(1) Muhaiman Iqbal , OP , Cit , p: 100 . 
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 $��	�� f����&� ����/4� ���%� ��? �� ���� �	
0 �9�� 1_
�� $��	��� A���
.�/0 . �� �����? K:��� +��/� � ��? �9	� ����/4� $� P���� �:3 ��? �� �����

M��9��� $� �	 	 � �� �� �	��� �:3 $0 ����
��  MO��� 1��
�� �&	�����.  
 $%�� �,���/�� �� ���V !�����#� �
(
 !��� ���#���� ���
 $�
(
�� 1(/�

 ��	30 !�����#� ���&� 1�0 �	
 >����
� .����� !�����#� �3� )Malari (
 +�
1974  ����� N��9��� !�����#�� �)Tanjung Priok ( +�
1984  �

O��� 1��
0 ,���/ �3��0� �3�/"� ���0 �� !��� ���� M / ����1998  ����� �
 �� �����)� $���� $� ����% �j��
 !	��)1(.  

 1��
0 !��� ���%� ��
 $
 19  �	
 1�*� $0 ���%�� �-���*�� >:3 $��
 �=	%� ���� ���&� ��
 ���? P�9��� ���%��� ��� �����? 1/�� �2��� .��� MO���

 � MO� 1��
0 !�3������  �4 ���/4� �*�� ���4� !:/�� �� �:? ���	�&�
 ���0 �� -�* ��% �6�  �
%0 / ����1998 .  

 :7��* +�/� � ���� �O���� �	� �� ���:  
Fr = ( R / Y ) × ( n / N ) 

 $0 -�*:  
     Fr  :���%� !��� ��
  MO��� 1��
0 ) �� �� ��.(  
      R  :��
 !���  �������� ��  1(/ MO��� 1��
0.  
      Y :  �������� !���  ��
.  
      n :  !(9 �� ��� MO��� 1��
0 $� !��#� ���� ������� ��
.  

     N : !(9 �� �� ,��9���� ������� $�%  ��
 .  
Sr = Trc / n   
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 $0 -�*:  
Sr   : MO��� 1��
0 ,�� )���&� ,�*�(.  
Trc :  !(9 �� ��� MO��� 1��
0 �7� / ����9?)���&� ,�*�.(  
n    :  !(9 �� �� ,��9���� MO��� 1��
0 $� !��#� ���� ������� ��
.  

Pcr = Fr × Sr                                          

= [( R / Y ) × ( n / N )] × (Trc / n) 

= ( R / Y ) × (Trc / N)                    

 $0 -�*:  
   Pcr  :���� MO��� ���/0 �=	%� �������&��� ,�*  6��� 1%�.  
    Fr  :���%� !��� ��
  MO��� 1��
0 ) �� �� ��.(  
  Sr     : MO��� 1��
0 ,�� .��)���&� ,�*�.(  

     R  :��
  �������� +�
 1(/ MO��� 1��
0.  
 1��
0 ���/0 1��� ���� M *� $0 ���%�� ������ ���� � ��� ����
 �:?�

������� �O���� +��/� �� M����:  
Prr = (Pcr / Abv) × 100 %    

$0 -�*:  
      Prr :  MO��� 1��
0 1��� ����) ��7���(.  
      Pcr  : MO��� 1��
0 ���/0 �=	%� ����)����&� ,�*���. (  
     Abv  : ������� +�� � ���)����&� ,�*���. (  

 �7� /� �#\��� �9��� �	� !�: ,5��� ���/ 1���
 ���� 1%� $? -�*�
MO��� 1��
0 K:��� ��? �j���� �� ��297���� MO��� 1��
0  ���0 / ����1998  �

 ���%�� $4 f�#�
 �� ���� $�% �:? �� ��*� ���� 1������ �	
 I\����� �#�0
 � +0 MO��� 1��
4 ���3 U���.  
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 $�� 8������ �1�O�)� �3 ����
�� �� �3:/0 M9� ���� �� � 4� 1������
 !�6��9?� �������� I�2% ���:�9�� �9��� �� � *�� 17� ��.  

 ,���/ .�� ��? ����� � 1��
 1%� ����� ���� 8#� $0 ���%�� ���: $� ��(����
 MO��� 1��
�� �,�* �	
 ����
 1% ��
��.  

 1��
 1% ��? �� ���� �
���� �0 ��O��� ��&� �	� �� ���:  
 +�� 1��9��)23 (�2�� 1% ��
��� MO��� 1��
0 1���
  

��1c����   ��
���� .�� �)�7��� ��(  ��&���  
�c������  
�� � *��  
���:�9��  
8c�����  
1�O�)�  

8  
16  
20  
32  
24  

0 – 4  
0 – 8  
0 – 10  
0 – 16  
0 – 12  

��&��� ����9?  100  0 – 50   
������ :Muhaiman iqbal , op.cit, P 102  

  

 $D� �0� 4�� 1#�4� $�� �� MO��� 1��
0 ���/0 8�5�� �� ����V� �	
 �j6����
 M� *� �MO��� 1��
0 ���/4 ���� � 1���
 ��? ��&��� �	� 1��*� 12 �� $�

 �&�� �� �O���� �� MO��� 1��
0 ���/0 1��� ����.  
 ���� ��� � :7��
 ���%�� �MO��� 1��
0 ���/0 ��� � 1��
 ��9� 1� ���
 +��/� �� ,��*� m$��� ,���/� ��? �� ���� MO��� 1��
0 ���/0 ��3� � 1���

 ������� �O����:  
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Prr1 = Prr × Raf     
 $0 -�*:  

     Prr1  : ��*� A�O� MO��� 1��
0 1��
 1��� ����.  
      Prr  : ���� MO��� 1��
0 1��
 1���.  
      Raf  : MO��� 1��
0 ���/0 ��� � 1��
.  

 +��/� � $%�� ����9� 1��� ��? MO��� 1��
0 1��
 1��� ���� 1��*���
 @��*�� ��/ ������� �2������ ������� �O����:  

����H��� ;<���  

Rr1 = Prr1/ [ 1- ( Wi + E + X + Pf ) ]  
 $0 -�*:  

     Rr1  :1���  ��/ ��3� �MO���  ��*� ��/ ��? �� ����.  
    Prr1  :1��� ���� MO���  ��*� ��/�.  
     Wi  : �	
 1��*�� �=	% ��� ��� ��? �� ���� 1��
4�) �0 ,� � ��
1�%���. (  
       E  : ��/��� ,���? !�&=�.  
       X  : �����*�� �0 ,�� /�� 5��9� ����* �=	%�.  
      Pf  : R��3 U����.  

���6��� ;<���  

Rr1 = Prr1/ [ 1- ( Wi + Wo + X) ]   
 $? -�*:  

     Rr1  :1���  ��/ ��3� �MO���  ��*� ��/ ��? �� ����.  
    Prr1  :1��� ���� MO���  ��*� ��/�.  
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(1) Muhaiman Iqbal , OP , Cit , p. 102 . 

)2(  $��2� J  � @��  89�� � 1���?. 107 . 
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     Wi  : ���%��� + � ��� �	�)1�%��� �0 �� � ��. (  
    Wo  : 1��%��� ��	�
 ����� ���%��� + �.  

       X  : �����*�� �0 ,�� /�� 5��9� ����* �=	%�)1(.  
3 M   2�������� #�: ������� ��G����� ��
� !��4� ) 2�B�*1���(  

������� �� +�/� ��� � =� M�	 4� !����*�	� � �7��� �������� 6��O�� 8��� 
 ���% ���/4� '� 0 �	
 �0 ��2���� ,��*� ���/0 '� 0 �	
 $�% 6��  . ���

 !���#�=�� �0 15�5�� �0 @7��*�� M� � ,�� /	� !����*��� A��� 1���*� $0
 ,�� /	� ������ A���� ����&� ��%0 1���*� �>����� ���#0 �0.  
 M� * ��
 �/" 1��
 ���#? $����%�	� $%�� M� �� �:2������ ��=	%  ���/4�
  + � ��	
 @	�� $0 $%�� �� �3� �!����*��� ��? �� ����»!����*��� 1��
« .

 �=	%� ���� �O�� $D� �1����� �:3 K���? +� �:?����/4� ��? �� ����  �������
 ������ �*��� �	
 (���� M	��� )2(.  

Pc = P × Cf    
 $0 -�*:  

    Pc  :���� �=	%� ����/  !����*��� ��? �� ����.  
     P  :���� �=	%� ����/  !��7��*)� $�.  
    Cf  :1��
  !����*���.  

 �0 �!���#�=�� 1
� ��/ 1%� ���� @��� $
 !����*��� 1��
 ����� $%���
 �:%3� 15�5��� @7��*�� 1
� ���/4� $� �=�����.  
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 J��/�� $����%��� MV� �:?� 5���� +2�%�� :7��
 �1���=��� $� ��5��� ��
 �3��V $
 �2���� !����*� . U�*��� +2=�� @��� $
� �!��*�� M	V0 ���

 ������� ���� �������� $����%��� M �%�  ��������� A�O�� �=����� ��2� +3�
 !����*��� I���� �	
 ,���� ���9.  
 ������� �O���� +��/� � $%�� :7��
:  

Pc1 = Pc × Ccf    
 $0 -�*:  

    Pc1  :���� �=	%��� ���/  !����*��� $� ����� �7� ��? �� ���� !����*��.  
     Pc  :���� �=	%� ����/  !����*��� ��? �� ����.  
    Ccf  :1��
  !����*���.  

���� ��? 1����� ��9��� ��/ �=	%�  !����*� �7� ��? �� ���� !����*���
���� 1��*��� ��2���� �=	%� 4� ���/ �O�� +��/� � $%�� �1��%� ��3� � ��?
 ������� �O��� �	
��� ) �O�� ���0)1 (( �O��� ����#��� K:����))2 (

���%��� K:����. (  
�����  :�8���� �)/   

 �3� ��������� ����&� !����*��� $���� ��? �� ���� �/" ��3�9 I(�/� ���3
 �:2� �#��� ��V 8����� ������� ����� ���� �� ��/� ��7�� �#�
 !����*��� $0

 ��/�� . �1��%��� a����� �� ��� �� �# ������ 6��V +��&� ��� ���3 $�% �:?
�
���� J�*� ��/�� �:2� M���%�� M9� :7� . ��2��� !��9��� �	� �� ���

 �2�9���� $� �� � ���� �� � 4�.  
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1(  ��� �� 6��V: 

 A��� ��#�/ �0 ���*� $�%� -�*� ��� �� �# �������� 6��O�� ���� $0 M9�
 !����&���:  

0 H  � ,��
 1�/��� $�#�� ���� ��� �� ����*� �0 ��� ��/ I���� +��/� �� �0
 ������ $� K��/��� 1�/�	�. 

M H   �0 �0 ������	� ���2��� �0 �I���� +��/� � �0 �&� +�92�� M&�� ���� ��� ��
�� �0 ����� +2� $�G��� $�%������ $� �0 .�� 1��� I . �:3 1��� � �:�
&��� 6��O�� �0 ��� � 17� � @��� $
 ����	� 1�/� �0 ��� �� $� ��

 �3��V �0 ������ 1/�� 6���/�� @��� $
 �0 �=�5� ���3 �0 �Z��=� +��/� ��
 17� ��� $�.  U��� �I���� 17� � +��/� �� �0 ,��
 K��/�� ���* �� �&��

 P�#�� ������ 1�/�� �&�� �� 17� ��� >:3� �����. 

2(  ��� �� M���%�: 

�3 1���
 �
(
 �� ��
 ����
�� �� ����� $����%��� �3:/�� $0 �� � ���3�9
 �7� / ������ ����*�� 17� �� 8����� �0 $�%��� 1
� ���� �� ���/�� M���%��

 ��� ��.  
 $�%� ���� ,��O��� !��	��� �� ��* ��4 ����O	� ��2� (��
 8����� ������

 �#�
 �
%0 ,�	��� 6�590 A�� ���" ����� �27�590 ��&� ����� ����/`�.  
�%��� �	
 $������ ���/�� +2����/ ����� $�� �� ���V� �:? ��� �� ���/��

 +7(�� ���#� M�	 �� 6��O�� �:3 U��.  
 ������� ����&��� ��*�� $� $�4� 1
��� ��� �*� ��2� 1���
 �����9�� �\�&��

 � +0 ��� 	� ���3 ��/�� P�#�� $�% 6��  . �	
 $����%��� 1�*� $0 M9��
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)1(  J � @��  89�� � 1���? $��2�. 109 . 

(2) Muhaiman Iqbal , OP , Cit , p: 108 . 
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 �	
 .�/4� ����4� 17� ���� 1�=�4� 1
� ������� M���9�� $
 �	��% !���	��
 �3��V� :������� M���4�.  ���/4� �# ��:�)� ����0 ����� �#�0 +2�	
 $�����

 1
� �������� !��*�� �������� 1����� ����0� �������� ����0� +�*���� +���
 ����*�� 17� � $� �3��V� ��� $
.  

 1���	� �	��% ����� M	��� ����: �* �� J�/� 1�9� ���� �� ����� 1
���
 +�	  M���%� ���� :�/��� �� ��� ��/ ,���? ��?)1(. 

3(  ��/ $���� �� ��3� ��� 1��� +��&� ��� ��: 

 $? �=	%� ���� ��? 1����� ��=�% �3 ���� �� ��3� � +��&� �� M��9 M��0
 ��� �� ��/ . 1��*�� ���=� $����%��� ��*� $0 M9� ����
��� ��*���� $�

 !��7��*)� >:3 ������� ��2������ ��� �� �7� / $
 �&_
�� !��7��*? �	

 ������� ������� $�:  

 0.  ��� J�/�� �7� /�� 19  1_O��. 

 M.   $������ �
���� J�/�� �7� /�� 19 . 

 K.   ����� -�*�0 �3��� $
 ,������ !��7��*)�. 

 �.   ������ !��� 1
� ������ ��� ��� !�29�� $
 ,������ !��7��*)�. 

 >.   .�/0 ����� $� �*��� !���	�� ��0. 

 ����*0� �!����� $� !������� >:3 1
� ����� �	/� � �� �$��*4� A�� ��
 K��*� �����
 �
%0 �&���� ��� �� ���/0 �=	%� ���� ��? 1����� $����%���.  

 $
 ��� � �*#�� ,�%� M��%��� .�� $�%� $0 �� � ���: �	
 ,�(
�
����/)2(.   
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(1) Muhaiman Iqbal , OP , Cit , p. 104 . 
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 ���/0 ������ �����4� !���� ���� �1���� �&��� @��� �� !��� �� -���*
 �229��� ���� ��� �� . ���/0 ��3� � M� *� ������� �O����� ����� �� $%���

 ����� � ��� ���*����� !���	���� ��?.  
Pt1 = Pt × Tadj   

$0 -�*:  
    Pt1  : ��*� P�#�� ��? �� ���� ��� �� ��/ �=	%� ���� ���&�.  
      Pt :  ���
 �=�� ��� �� ��/ �=	%� ���� ���&�.  
   Tadj :  ��� �� ���/0 ��� � 1���
.  

          :f  ) ��� �� ���/0 ������ $�4�� 8�����. (  
M��%� $%�� �$�4� 1���
 ��? �� �����  1%� ���4� .�� ��� I_��� $0 1��%���

 +
 ���9 A=/���� .�� ��� ��*� ������ .�� ��� $� 0��� �9���� M����� ����
 ��3� ��� !���� ���*� 1��
 M� * ��
 I������ �:3 +�/� �.   

 �	
 6��� ��=	�/� !�7� $�# �2=���� �#�0 $%�� ��� �� ���/0 ����� $? 1�
 1��� !���� ��* ����� ����9)� 1�*��� M
�� � $0 ������� �	
 $���� -

 �:%3�.  
 ��&�� �� !���/�� P����� ��� �� ���/0 ����� +�	 �� 1����� ��9���

 1�� $� �3���%: ���� �O���� +��/� ��� ) �O���� ����)1 ( ����#��� K:����
 �O�����)2 ( ���%��� K:����( ��3� � !���� ���*� M� * $%�� :7��
 �

0 ����� $� ���&�� �9��� ��� �� ���/)1(.  
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(1) Word Steven, Risk Management , Organisation and contest , London, Witherby, 

2005, p. 74 . 
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�����  :��4��� ��)/� ��G����� ��
� !��4�  

 15�5��� !���#�=��� @7��*�� 1
� ���/4 �#��� 1�0 ��&��� $0 $� +V����
 $� �:� ���� 	� �#��� �
%0 �2�0 �? ��3��V� ��&��� 1��%��� ���� � $0 $ *� ���

 ��� �� ��:%� @��*�� ��/� ��������� ���O��� $�.  
 �0 1��%��� ����4 ��\�9��� ���/4� �&�
� �� ���/ �	���� ��&��� M	����
 �O�� �������� �2���&� J��	� �2���:�9 ��? ���� �����9��� ���/�� a�����
 ��% �2�_&�� ������ ��2�� J	/��� ���2 � ��2	&� ���2 � ����&��� @���4� +9*

 �2���  $� M %�	� �2��� ��? �9�* � ��0)1(.  
 ���E� !��*�� �� ��=	�/� ����� ���*�� ���&�	� ��������� ���O��� +�� �� ,��
�:  

1H  1&���. 

2H  ������� ���� 1*� ������� ��. 

3H  ����� ���5/ ��. 

4H  1�G ��� I���	� J�/�� 15���� ��. 

5H  $�	�*��� ,�2
 �� / ���	� �2��	 � 1�� $7��5��. 

 ��	% 1���� » ��&��� « �������� �	���� !��� ��� �������� @���4�� ��������
 ������ 1����	� �	��� @���0 �0� 6����� 8����� �������� 8������� !�����%���

���&��� �	��	� . �0 U�	�� ���O��� $�#�� �� ��2��: �* �� ��&��� ��? ���#)���
�� ��(
 ����#4� �0 ��2���� ����� ���5/��� @*	� ���� ���#4� 1���� � ,���

�&�
��� P�#�� ��&��� ,�� /� . ���/��� -���*�� !������ ���O��� 1��� ���
 $� ��: $
 +9�� ��� I���� +��/� �� ��� K��/�� �0 ������ 1�/�� �9���

���/� !����?.  
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)1(  J �@��  89�� �1���? $��2�. 111 . 
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 ,��
� �� �	� �� ��&�	� ��������� ���O��� ���� �:  
1H  ���? �0 ����� ,��� 1(/ I��%� +� ����� ������� .�� $�	����� ����0 +�����

 ��*� ���5. 

2H (�)� �0 �2�	
 ���%*�� 6(�� � �0 +������ �0 ,������� M��9 $� ������ I
 !��	 ��. 

3H  $��# 1
� .�/0 $���� �&�
� �#�&�� �2�	
 A��=��� $%�� ���� �7� /��
 ����4�. 

4H  ������ M���0 ��� 1
� ������� M��9 $� +� 9 1��3? $
 ��9���� �7� /��
�� $�%� �� U���=��� ��� �0 �*��=� ���5/�� M�� ��� �0 ��*��=��  �3��V�

 1��3)� �3��� $�. 

5H  $
 ��9���� ,�� /��A�=/��  ���&�� ��. 

6H  � ��*	� 8#/� � ��%�� $� P��#�� �0 ,�� /	� A�����. 

4� ��&��� ���/0 ��3� � ��� � �O�� 8��� $0 $%��� +�/� ��� � =� M�	 
��� �� ��/�)1(.  

   
�
���  :�4��� ���� 
� %&�H��� ��G��� ��
��  

 ����4� ��? �� ���� 87���� $� +�/ ���� $�#�� 87�#� �2��� $�%� $0 �����9���
 �/" ��? $�%� $� �2	&� ��9� !�9���� . J/� 87�#� �#�0 ��: 1��� ���

 �� $\�G��� I��� !*� �0 ���
� �� �2�%�� .�/0 �����0.  
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)1( )2 ( J � @�� �� 89���� � 1���? $��2�. 112 . 
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 �&�
�� 1&��� 6��
0 87�#��� ���/4 ��������� ���O��� +�� �� ,��
�» 8��9
���/4�«.  �� ��
 ,�� / �0 ��# $� �
�#���� @*	� �� �&�
��� >:3 ��O��

 �2� �*��� ��
� � �3)1(.  
 ��������� ���O��� $�#���)2(:  

1H  �	
 ���O��� �* $�%� �� ,��
� ��������� ���/ !��%��� 87�#��� 1&�
 ,�*���� ��%���� '� 0. 

2H  �	
 ����G ��� �* ����� �� ,��
� ��
��
 I���0 @��� $
 87�#��� 1&�
 ,�*���� ��*��� �� 87�#��� ����. 

�� �0 $5/��� 87�#��� ,���O� ��*� $� 0��� �0 ��������� ���O��� ��  $�%�
 1����� $�%� �� �7�2��� $5/��� ��? �2��	 � +���? ��*� $�5/���.  

 ������% �� ��&�� !�6��
� ���:  
0 H   �2�� ���� ����:�� M����� �0 ��/���� �0 �����
�� ��
���� �0 �	��� ��

 $������ �&�
� �� �������� 87�#���. 

M H   1��
0 �0 ���94� \����� 1�� �0 �5O�� �0 M�*�� �0 ����* !��	�
 �0 ��7��

 ���� �0 ��	30 M�*. 

 ����� 1��%��� ����%� �	
 $���� �.�/4� a������ ��? �� ���� 8#��� �3 ��%�
 �1&� ���* �� 87�#� ��� @	��� �� �� 1�4� �	
 $���2� $����	�� $
 !�����

 ��3� �	� +�	  ��� � 1%�3 ����� $� ���%��� �%�.  
 $����	����� ������2��� .��� ,�� /�� �����%� . $�%� $0 M9�� >:3

 1&��� M�	 0� �2=�	O� �&���� 87�#��� P�� 1
� ����0 1������ �&��
 !���	����
 �:%3� �����*� ,�� /�� P��� +�/� ��� @������.  
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��
 ��*��� �2��� .��� ,�� /�� �����%�� �&	����� !���	���� $%� +� �:?� :7
���
 !���	��� ����� �� $%��.  ����� ��� ��� ��� 1%�3 ��# ��: ��� $%���

 ���/�� !��7��*)�,��*� �7� / �0 ���/�� . ���� 87�#��� ���/0 ����� $0
 $D� �!�%	����� ��/� ����&� �!��%���� ��/ 8� �
%0 ������ 1&��� ���* ��
 �� �2���/� � +� ���� �	�� �2���� ��3� ��� ��� �� ��3 ���/� ��� �O����

 1�� $� >�%: �	
 ����0 �:�� !��%���� a�����.  
 I(�/����* $� !�%	����� ���/0 ��? �� ���� ���% �����
�� �=	%��� ���
 -

 !��% $?� ��* ����&���� 87�#��� ���* �� �	
0 ,�� /�� ���%� 1���*� $? -�*
 ,�� 1�0 �7� /��.  

 �2���/� � $%�� ���� ������ �O���� �	� �� ���:  
F1 = N1 / E    

 $? -�*:  
   F1  : ,�� /�� �����%�.  
  N1  : ,�� /�� ��
.  

    E  :	� �#����� ,�*��� ,�� /.  
S = L / N1     

 $? -�*:  
    S  : ,���� .��)�������&��� ,�*.(  
    L  : ���� ����9?�7� /��.  
  N1  :�7� /�� ��
.  

 ������ �*��� �	
 ��3� ��� ���� M� * $%�� +
:  
P = F1 × S   
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P = ( N1 / E ) × (L / N1 )     
P = L / E 

 $? -�*:  
  P  : ���/4� �=	%� ����.  
  L  :�7� /�� ���� ����9?.  
  E  : ,�� /	� A����� ,�*�.  

 1&��� 6��
0 87�#��� a����� �� 1��%��� ��3� � ��? �=	%��� ���� $�.  
 ���6��� ;<���  

C = (P + F) / [1 – (V + Q)]   
 $? -�*:  

   C  : ��3� ��� +9*.  
   P  : ���/4� �=	%� ����.  
   F  : ����
 �=	%�.  
  V   : ,��O�� �=	%�)���%��� + �. (  
  Q  : ,�� /�� ,���5 6��V �=	%� �0 �����*�.  

����H��� ;<���  

C = (P + F) / [1 – (Aq + Ex + Q + Pf)]  
 $? -�*:  

   C  : ��3� ��� +9*)�������&��� ,�*.(  
   P  : ���/4� �=	%� ����.  
   F  : ����
 �=	%�.  
 Aq  : 1��
4� �	
 1��*�� �=	%�.  
  Q  : ,�� /�� ,���5 6��V �=	%� �0 �����*�.  
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 Pf  : I�2� ��� U���� R��3.  
 ��? �2	��*� $%�� ���: �	
 ,�(
� ���� � ��� $�% �:? ��3� � ��  1���

 ������ ��*���.  
Csrate = C /Av × 100 %  

 $? -�*:  
 Csrate  :��3� ��� ��  1��� ��*� 1%� .  

   Av :  ��*��� ���� � ���.  
 ����=�� ��3� ��� a����� !���O��.  

 !���O���� A�� �	� �� �� 87�#�	� 1��%� a����� +7(� $0 $%�� ���� ������ ��
 1&��� ���*.  

1H  ��	 �� �0 87�#��� P�� )a .( 

2H  I�	O��� P�� )b .( 

3H  �	*��� �0 �� ��� )c .( 

4H  1&��� �	� � �0 1&��� M�	 0 )d .( 

5H  �9:����� �7� /�� P�� )e .( 

 ������� ��� ��� �O�� �� 1������ >:3 1���� � :7��
 $%���:  
  

Csrate1 = Csrate × 1sd factor  
  

 $? -�*:  
 Csrate1    :	� ��3� ��� 1�����*�  ����=��.  
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(1) Muhaiman Iqbal , OP , Cit , p: 110 . 

)2( J � @��  89�� � 1���? $��2� 115 . 
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Csrate       : ��3� ��� 1���.  
 1sd factor :�� 1��
��*�  ����=��.  
            ) :a,b,c,… ( $? -�*a,b,c,…  ��� �	� �3����/� +� !���O�� �3

 ���=��)1(.  
������ +�	��  :�/��� 5���/� ��G����� ��
��  

��0 : 1/��� ,�� / ��3��  
 �:3 M9��� +�� �1��%��� a����� �2��O� ���/0 M� � -��* P��� ���* ��

 ,�� /�� N	�� 8�� a�������������� �3��%�� ���� . $�%� 1��*4� M	V0 ���
 !�%	����� ���9� �0 1���� � �0 Z(�) ����% A������ �2���
?� ,��#����

 �2���*�-��*�� 1�� �2�	
 !��% ���� �2 =� . 0���� I��n� �� 8� ��: @=���
 A������.  

 �7� / A���� +V� $%�� !�%	����� ���#0 0��� �#�&��� a������� M9���
 ����% !�#������ >:3 $�%� � 1��*4� M	V0 �� ��0 �? �>�%: @�� �� A������

 ��� � -�* $�%����	� �	� ��� +2������:  
1H  �3 ��% ����9�� !�&=��� ����� � 8� 1/��� J&�. 

2H  �	
 ��=*	� �	��� ����� +��/� � ��? $�9��*� ���� :? �1���� �=	%� ,���5
 1���� ����� �)2(. 

3H  $�	����� $� � =� ������ ��=�*)� ��? $�9��*� ���� . !�%���� ��? �� ����
@��=� ��=�*�� +�� �� �,���%��  $�	����� $
 6��O� ��� $�� � 4� $�	�����

 I����� ,��� $� 659� ���30 1�4�. 

 1��%��� a����� 1���� $0 $%�� �>(
0 ������ 	� ���%�� �\�*�	� ) �������� $������
 ��( )�( 1/��� ,�� /� ���O� �	
 ���\�9� �&�
� '� 0 �	
 +����� �.  
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)1( )2 ( ���/���� +	 � U�*�. 
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 �*�� � $�% �:? �� ��� � 1�* $�&=�� � $��	 ��� 6��	
 A�� $0 $� +V����
 1/��� ,�� /� 6��V U�� ) ,�� / + �� ����	&��� $������ �
��� �� �� � �� �0

�� 1��
4� I��� $���� �0 U��.(  
  �0 $�#�� �0 ����� 6��O�� �:3 1��&� 17�&�� �0���� :/4� ��? �
*���� 1���

����� �0 � ���� �0 ��O�� P���0 $� P��.  
 U	��� +��/� � 1#�4� $��»  1/��� ,�� /«  -�* � U���� ,�� / $� ���

 � ���� �0 ��O�� $� P�� ��9�� �*�� ��/4� $?.  
� ��*� ����� $
 -���*0 �
(
 ��? �0��� �:3 ��� �)+	 � ��	
 F� �	� ( �3�

 �	� ��%:  
1H  ����� $
 ��
 $�� $
)+	 � ��	
 F� �	� ( 1��:»  � �+	 ��� �/0 +	 ���

��	 � �� ��	�� . ��  $�� ���9�* �� F� $�% ���/0 �9�* �� $�% $��
 ����&�� +�� F� >��  ���	 � . +�� ����
 F� ��  ����
 $�G� �	
 ��  $��

 ����&��«)1(. 

2H  ,���3 ��0 $
)��
 F� �#� ( $
 �����)+	 � ��	
 F� �	� ( 1��:»  $�
_=� ������ M�% $� ���% $�G� $
 '_=� �����&�� +�� M�% $� ���% ��
 F� '

 X ,�/E�� ������ �� ��	
 F� � � �� �� �	
 � � $�� >��  ��	 � ��  $��
 $�� X ��/0 $�
 �� ����� $�% �� ����� $�
 �� F�� �,�/E�� ������ �� F�
 �� +�� 8��9� ��� ���9�� ��? �&��� �� �� F� 12  ��	
 ��� '��	� �&��� �	 

� ����% �� +2�	
 !�5� �? �+2��� ��� ������ �F� M��% $�	�� �F� !��� $� !�
 +� �	�
 �� ���0 $�� �>��
 $��� F� +3�%:� ��%7(��� +2�=*� ���*��� +2���V�

 �� � �� P� �«)2(. 
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 ] * ����o*) ����� � �0 �$� �)� �	�*�� �:�� 1���� �3� �6�*�� U�=� �3  $���� !�: Z(�? �� ������
��: �*�� $��	��� $�� Z(�)�% ) [( +	 � U�*�.(  

)1(  J �@��  89�� �1���? $��2�. 117 . 
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3H 	 � U�*� �� 6�9 1�� ��(2�� @��/� $� ����� $
 +:» ����* !	�*�(*) 
 F� 1� � !����+	 � ��	
 F� �	� �0 1�&� �2�� ��� 0c ������ ������ ��* +

 �*4 �? 1*� � ��� ��� $? ����� �� 1�� +
 1�� �2� �� ������
(
 : 1\�*� 19�
 � �� +
 �2���� ��* ��� ��� �� !_	*� ���\�* . !*��9� �*7�9 �����0 19��

 19�� R�
 $� �j���  1�� �0 �R�
 $� ���� M��� ��* ��� ��� �� !	*� ����
+�&� ��* ���� �����0  !_	*� ���� ��(� !���0 �&� ���� $� �9*�� ��: $� �
(


 $� \$3��  ���  R�
 $� �j���  1�� �0 R�
 $� �j���� M��� ��* ��� ��� ��
�f�*n  �2�*�� �2	%�� �f�*n  ����� �� ��� ���«. 

 $
 �
(
�� -���*4� �	� $� J	/� �� F� 1� �)+	 � ��	
 F� �	� ( $?
�	
 +	 � ,�
� �  ���50 $� K��/��)������� ( ���*� �	�#�� +��
 1�
.  

 � ��3��V� ����� ��� �0 $�#�=�� �0 1�5�5�� �0 @��*�� 1
� -��* 8&� ������
 !�%	����� $� ��: ��V �0 �	�
 �0 ���� ,�� / +	 ��� ,����� �	
 ��4� ���&�

 M	V0 �� ���?� 1/��� �� �*��� ,�� / 1�*�� !��*�� .\�5� �:� 1��%��� a����� �
 ������� !�%	����� ,�� / �# ����*�� >:3 1
�.  

 ������� ����* �0 1��� $0 ,���# ����
�� �� :/�� $0 ���O	� +2��� $� �����
 ��	�=�� ������� �7� / ���O�)1/��� �7� /� ������� �7� /��( �0 M&�� ���� �

-��* $� A������ ��%�� ��* �
4� 6�   ��? ,����� 1�� ��	
 $�% �:�� 8#���
 -��*�� P��� . �2��&� ���� �������� Z���4�� J�/�� �������� 6��O�� $0 ���

 M9� �:� �� ���� ��* �0 ��O�� ���
 �	
 ����� ���� ����	&��� $������ @�� 0
 �2��9�)1(.  
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)1(  � 1���? $��2� J � @��  89��. 117H118 . 
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����
: ��( )� �������� $������ a����� �� 1/��� ,�� / 6��V M���� ��=�% 

 +�&� �	� �� $�#�� �� � 1�
 ���� �� ����� $
 ��#����� ��
�:  
 �� ���&� ,�*� $��	� $�� � �7�
(
 >��� ��7�
 \��n� (*� 1��%��� ����� ����

 �� �� . ,�*� $��	� $����
� �7� �0 ��7�#� 6��� �	
 1/��� �:3 I�� @=���
� ,�*� $��	� $�� � �0 ������ ���&=� 8�� �� ����� ����&� ���&.  

 M_	��� 1*��� �� @��* \M� �:D� ��4� M*�� 1��  �6(���� +��0 ��(V?
 1����� ��90� I��2��� 6���2%�� ,����� 1
� ������ !�&=��� 8��� ������ 1*���

+2� ��=�*(�.  1�*� ���� ������ I���%� 8��� �_�#� �2� ���: ��? ���#)���
 1*��� $� �	/� $� f,��
 �2�	
 .����� 1��
0 $� 6�2���� $�*� @	O� 1*��� $0 �

 �	�
 $� 1/� �0 @&*� � �2� �1���� �� �0 !�*(�)�.  
 ������ !�&=��� �2�� ��� �f���% I���%��� >:3 $D� �1��%��� a����� ��? +��#�����

�2#���� a������� �����  -��*�� ��� 1/��� ,�� /� .  
 $���  $�� $�� 8� �������� ����* �	
 -��*�� �:3 ��
�� U#�� �	� �� ���

 1��%��� a����� ����*–  +���� I���� �� 1*��� �� \M� @��*�� $0 A����� 8�
 @��  ��? 1��*4� ���� ��* �	��% �2�0 ��  M	��� ��4� $0� ������ � �3�2


 �������� 1�� �2�#� ��? M �%��� �����)1(:  
�� +�� 1��9)24( 1��%��� a����� $�� $�  

      ���&��� ,�*���� +����  
87�#��� �=	%�  000 000 90  ������ !�����  000 000 180  
������ !�&=���  000 000 90  

    ),�� /�� ����(  000 000 45  
1���� �=	%� ,���5  000 000 45      

P��9���  000 000 225    000 000 225  
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 +�� 1��9��)25( 1��%��� a����� ��9��  
      ���&��� ,�*���� +����  

87�#��� �=	%�  000 000 90   !����� 8��  
000 000 180  

������ !�&=���  000 000 90  

     A���� $�1��%���  000 000 135  

1���� �=	%� ,���5  000 000 45      

1/��� ����  000 000 90      

P��9���  000 000 315    000 000 315  

���*	� :  
 8�� �3 1/��� ,�� /� @	��� a����� �0 $� I�2�� $0 ���� $0 +2��� $�

*	� ���� ��# $
 �&� +9�� 1/��� �� ,�� / �0 $
 A���� 1���� ,����� @
 �����: �	
 M����  ��
 !�9� �:�� ����: -�*�� �9��� 1/��� �� ,�� / $�

 ������� ,�� /�� . ��� �� U��� � 1/��� ,�� / ���O� $D� �.�/0 ,������
 �0 ����2�� �0 �	�	&�� !������� �# 6��O% �0 1���
 ��G� .�/0 ��9��/

 1/��� �� ,�� / ��? $p�G����.  
 $� ��0 ��� U#�� �@�  ���� ,������ M*�� �	
 $����  1��%��� a����� $��

 �3� �1/��� �� ,�� / ��� �9��� �:�� � =� !���� �� 1���� �=	%� ,���5 �29���
 M��O�� �� �� 6����� 1�*� � ��0 �3� �J�/�� ���9 $� ��: 1% �9���.  

 a����� ��9�� ��0������ !�&=��� ���O�� ����% $�%�  A������ N	�� $D� �1��%�   
1/��� ���� �� ���G� ,�� / �0� 1���� �=	%� ,���5� ��2���9 . 8�� $%�� �����
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 $� �0 �-��*�� 1�� 1/��� ���� $� ������ !�&=���50  !������� $� �7��� ��
 �0 �� �� $� ���4� �� �� �2�4� ��000 000 90  ���&� ,�*�. 

�
��
: 1/��� ,�� / a����� �� ,��O��� ������� 

 ��:/0 �:? �87�#��� �=	%�� !��7���� �0 !������� $
 @�� �� 1�
��� ����
�� ��
 ���
 !�&=�� ��O�� I���� + � ������� Z�#�)� A�O� �2�	
 @	�� �

 1/��� �����.  
 !�������)�7���� �0 ( �0 8��� ��&� �3 +� 87�#� 1��&� �� �����	� 8��	� �	���

 ,������ 1/�� 1���� ���� ���? �� �2���&� +� !���/ 1��&�� ��2��	 �� �2���.  
 ���
 !�&=�� ���O�� I���� ��? !��7���� �0 !������� +� &� $%�� �����
� ��

 1/�� �����.  
0 .   ��O���� I������ :  

 6��� $?�
� �� �� �7� �j��O�� 1
�� $�5/� ������ ����� �:3 6��� $? -�* ���
 !������� .�� � 8� . ,�� /�� ������� ����� $� �1��
4� I��� ���* ���

 ���9 $�5/� 6��� ��? K��*� � -�* ������ �:3 M� �.  
 $���� a����� !*� ��
 A���� 8�� +��  @��*�� �� ��#� $�5/� �0 $? :?

 !�%	����� .7���� $� 659�� �:3 $D� �:� 1��%��� a����� 1� �� ����O� +�� $� !��
 J�/��»1/��� ,�� /�« .  

M .   ���
 !�&=�:  
 ,������ �	
 ��=*�� �0 1���� ,���) ������� I���%��� 8�� ��? �9�* ���3 $�%� 

 ��	% �$�	����� @���� !���/��� !������� .�� � $
 ����� I��� ��759 �0.  
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(1) Muhaiman Iqbal , OP , Cit , p. 114 . 
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 M�%��� !�&=�� @*� ��� ��9�)� �=	%��� 1���� $�	����� ��90� . �
��� ��
 !������� .�� �� ,����� ����� �:3 �� @�=�)� .�� � . I��� �� ,��
 ��D� �:�

� �:3 ���O� $D� ��:� �����
�� !�������� + �� �����# ����)1(.  
K .   1/��� ����:  

 ����� �:3 1
�� ������ !�&=���� ,��O���� !�&=��� ����� � ��� !������� N	�� ����
 ,��=�� 1(/ . $D� �,������ M*��� '� 4� 1/��� 1
�� ������ �:3 $0 ����

 1���� M*�� 1/� �	
 1�*�� ������ $��
G�  !������� J����� 1���� I���.  
$D� ��:�  �� ��� ������� ����* �#�0 M	��� 1/��� ����.  
 $%��� �:�� 1/��� ����9D� ������ !�&=��� ��? ���#? �1/��� ���� ��� � �#�0

 �&�� M *�� 1/��� ����9? 1���� 659�� �:3 �� �� �!��7���� $� �659 U���
 ������� �O��	� :  

 1/��� ����9? 1��� = 1/��� ����9? / !��7����  
                    ) = ������ !�&=��� +1/��� ���� /( !��7����  

RGI = GI / TO              

= (OH + NI) / TO 

 $? -�*:  
          RGI  :1/��� ����9? 1��� .  
           GI  :1/��� ����9? .  
          TO  :!��7���� .  
          OH  :������ !�&=��� .  
           NI  :���� 1/��� .  
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 $?1/��� ����9? 1���  �1��%��� a����� ���O� N	�� M� *� �&��� � �0 �3
 �:�� -��*�� M&�� �:�� A������ N	�� M� * ��:%� ��3� ��� M� *� 1��� ��

 �2=��� �0 !������� 89��� �� 1_
����� ����9�� �
4� ��? ��G� >����.  
 �&�� �� �	
�4� $� ,�&� ��� ,�%=�� ����� 194 �3 ������ U�#�����:  

 +�� 1%���)13 ($������� ,��O��� ����
�� !��������� 1/��� ���� 1�* Z�#�?  
  
  
  
  

        
  
  

������ : J  � @��  89�� � 1���? $��2� .112 .  

               
     1/��� ����9? 1��� � 50       �7����    
  
� .   1���� �=	%� ,���5 

 ,���� $%�� �29 1% 1���� M*�� 1:�� $0 ������� $� ��� -��* M�&
0 ��
 $%�� !�� P� �� -��*�� �	
 @�� �� ��#� ��? ���9��� �����.  

  


	�� ا����               ��	
���� ���	�� ا���	�� ا��	ص               ���	ت � 	�  

   ��#	رة ا����                   ن.و 90 000 000ن  .و 90 000 000   

  

���� ���	�� ا���	�� ا��	ص$ �	            ن .و 180 000 000�����ات          �  

    ��#	رة ا����                                                               
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(1) Muhaiman Iqbal , OP , Cit , p. 116 . 
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 ,�(
 �����#? !�&=� �29�� �:3 $�#�� ��� ,�� / $� �� @*� �� � . �:�
 1��%��� P���� �#�&�� ����O� +�� ���O	� ��2� ���� ����#)� !�&=��� >:3 1_
��

 1/��� ,�� /� J�/��.  
 !��� ����#? !�&=� �3����
�� A�O�� �:2� 1���� �=	%� ,���5 I���� +���

 !��7���� J&� �0 89��� M_�9� �3 �*�� I�2� ���&�� ,����� ,���#	�.  
 $0 �� � ,��%���� �=	%��� $? -�* �6��O�� �:2� ���*��� $� �9�� ��4� M	����

 ����#)� !�&=��� �2���� ���� �	��*��� ,�� /�� $� 1�0 $�%�.  
 �������� �*�� �3 �
��� �
%4� �� �� �6��O�� ���*��)Economie limit( �
 a����� N	���� ����#)� !�&=��� 5��9�� �0 M9� -�* 1��� M�# 1��* $�
 ���9� M9� �:�� !��7���� 89��� N	�� �� 1/��� ����9?.  

 �#������ ����
� ��� ����#�� 6��9)� :�/�? +�� +� ��0 A��=�� �@�� ��
 ,��� 1��
4� I��� ���� ��: $0� �+5(�� �&������12  �5��� ��� � ��2�  

000 000 360 �. !��7���� �� ,�� / $)1(.  
 ��? ����� 1*��� Z����� ���� $0 $%�� ��*�*��� !�6��9)� :�/�� +� �:? $%��

 ��� ����� @�� 6  �2���� N	�� !��7�
 :�&�? ���� �� �3� � �2�0000 000 180 

���&� ,�*� .  
 @���� $D� �:� 1/��� ����9? 1���50  �7��� �� ��*���  N	���� �:3 ��? �� ����

 ��? 1�� �������� �j�*000 000 90 �. !�&=��� 1��  ���: @������ � $
 ��? 1�� ���� ����#)�000 000 45 �. �:�� ��������� �*�� ���? �� $

 1/��� ,�� /� J�/�� 1��%��� a����� M9��� �	��% 8��� .  
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c3 .A������ ,��� 

 $� �
�� �#�0 ���
0 �?� ��`� 1/��� ,�� / 6��V ��� � $0 $%�� � ��&���
 ��O�� . ���� .��&�� ,��=�� ����G �� ������ ������� ���/� $0 M9� �:2�

 ��/5 1���� ,���� � �2����� -��* ��/0 M�&
0 �� (��%) $%�� ������  0� 0
�
��* ( 1���� ,����� ����#0 @*	�.  

 �������� ,�� /�� P��� ��*� :�� 0��� ���� ,��=�� �2��� A������ ,��� I����
 �0 ��� A���� ,��=% �&� � ,��*��� .��&�� ,��=�� 5��9�� � ,�� �� �2����

0 �	
 ,�\�&� ,��=�� $�� ��	
 �-��* 1���� �2� A���� ���� 1/��� ,�� / '� 
 $� 6�2���� $\�G��� $� 8���� ��D� ������ $ * A����� 8�� �,��=�� �	� 1(/

 �2�	
 @=���� A������ ,��� 1(/ 1���� ,���� � ��5(�� !�6��9)� 8��9. 

� .  ������ ��#�� ��� 

9��� �2�
 A������ +�� ���� 1/��� ,�� / $0 ��? ,���)� ��9� a����� M
 ������� ���� A���� $�� ������ ��7�� �3 �1/��� ,�� /� J�/�� 1��%���
 J�/�� 1��%��� a����� $�%� $0� !�%	����� �� ��# �0 ,�� / ��? ��0

 �2�
 ����G ���� I��
� �0 ������� ,�� /�� $
 A������ 8�� �� !�%	������.  
��9 �� � $0 �O��� 1/��� ,�� / �&�
� $D� �:� ���#4� �&�
� 8� M�9 ��? �

 �2�
 15��� '��� �������.  
 �=	%� 8��� ������� ������� �	
 ������� 1��* $��# �3 ��: $� A�O���

 ,5294�� ������ Z(�? �0 1���� �� ��  G��� 6��� ,��
? 1���� '0�� �3��V�
 1��� $�5/� 6���� ����#��.  
 ��	�
 $D� �1��*4� 8��9 ����� ,���� � ���0 1(/ -�*� $0 �� � 1���� ��

 ,��*� ��V ,��=� 1���� I��� ����� �� U� � 8#� �0 M_�9� 8� ��%�� ,���. 
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(1) Muhaiman Iqbal , OP , Cit , p. 116 . 
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•  ��� ��� 1���
 

 $�%� �� ���*� ��=�% 1�* �=	�/� ��� !�29� �0 !����&� $���%��� A�� .��
 !���� 1/��� ,�� /� ���/�� 1��%��� a���� ��3� � .  

 �
��� 1������ �
%4 ���� �	� �� ���:  
• � !����*��� M * @��*	� � � 4� �� �� 1��� / ������ �0. 

•  1��
4� I��� 1��
 �	
 6��� 1������. 

•  A������ ,���. 

•  ���/4� @���. 

•  �������� 6��O�� 8� ��. 

• ���/4� 8��9 �0 @��*�� ��/ �# $������ ��  

��n�  ��? �� ���� !�%	����� ���#4 �������� 6��O��� J�/�� ��3� ��� ��  ���*�
 '� 0 �	
 �0 ,�� � ���/0 '� 0 �	
 6��O�� $�% 6��  �,������ » 8��9

���/4�«  �  M� * �� ������� ��&� a������ J�/�� $������ � 1/��� ,�� /.  
 !��% �:? �? a������� 1� �� 8��� � 1/��� ,�� / $0 �3 ��: 6��� @������

!�%	����� ���#0 �&�
�� ������� �_�On� ������ ��#�� �0 ,�� /�� .  
 �3� �!�%	����� ��3� � ��  ���*� 1�=�� �:3 �� 1�� $� Z����� ������� ���

 �	��� �&�
� 1/��� ,�� /� J�/�� �������� 6��O�� �:2�. 

� .  1��
4� I��� ,�� / ��� � 1���� 

 $
 +9�� �:�� 1��
4� I��� ��/ $� �=	�/� .�� � 1��
4� $� �7� 1% Z���
 -��* $��� . ,5294�� !�E� 8���� +�� -�* �,�&���� 8������ !��	���)1( 
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 +��&	� !��	��� ����&� 1���� I���� �#�
 �
%0 $�%� �� ����V ���*� A�O�
 �2����� � 12 �� $� �� ��� !�"� ,5290 +�/� � ���� 8������.  

 \��n� 1�
 ���� 1% $? -�*� $\���� ����: �* �� �5���� ����� $0 $����%��� �	

 �� A���� $0 $%�� �:�� 1���� I��� ������ �	\�=�� �&��
 ����� �	
 ����%�

 �������� 6��O�� U�� 1�� ������ 1% ����. 

1 .  A������ ,��� 

 $����/�� $� ���� � 1���� ��? K��*� �:�� ��3� ��� ��  ���*� ' 0 $��&�� ��
 ,��� 1��
 ����
�� �� :/4� 8� ��� �� �� A������.  

 A������ ,��=� ������� $������ ��  1���� @���� ��=�% 1�* 1�
� �	� �� ���
 @�� �� 1�
��� �� U���� ����9) +�/� ��� +����� ����� �� !\�� ���.  

 U���� ����9? =50  % × !��7����  
               =000 000 180 ���&� ,�*�  

 +�� 1��9��)26 ( 1��
 ��
�� ��=�%��3� ��� M� �*� �	
 A������ ,���  
 ,���

 A������
��2����  

 ���4� �*��
 1/��� ����9)

��O���  

 �� �� 1���
� � 4�  

)�7��� ��(  

 ,���Mult.  
)�7��� ��(  

�	�=�� 1�����  
)�7��� ��(  

 ��3� ���
)I�0(  

���&� ,�*�  
 ��
�7���  

 $��	�
�.$  

12  <  
12  
18  
24  

100  
100  
150  
200  

180  
180  
270  
360  

0.3  
0.3  
0.3  
0.3  

100  
150  
140  
125  

0.30  
0.45  
0.42  
0.38  

540  
810  

1.134  
1.350  
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)1(  J �@��  89�� �1���? $��2�. 125 .  
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+ .  ���/4� @��� 

 �0 1��
4� I���� J�/�� 6��O�� !*� ������� ,��O��� ���/4� $�%� � $0 M9�
 1/��� ,�� / 6��O� ,��O��� ���/4� �	� $� ����� 8 �0 @(�)� �	


 !�%	����� . ,�� / 6��V � !�%	����� 6��O� �� � $0 �3 ��: $� I�2���
 ���: @������� M�9 ��? ���9 1/���.  

 6��O� J�/�� 1�
��� �� ��% ��� *� ��/ 1% ��3� � ��  ���*� M9��
�� ���? ,���)� !&�  �:�� ������� ���#4�  1�=�� �:3. 

� .  �������� 6��O�� 8� �� 

 �&� 1���� 6��O�� 8� �� 1
� �� � 4� ���O��� �	
 !�������� ��� � �#�0 M9�
 1���� �&� 1�/� $�� ���	�*�� �0 ������ !���/�� �0 $��5�� �&� �0 $��\�����.  

 ,��
 $��#/� $��5�� �&�� ������ �&� ����� ��? �� ���� ��3� ��� ��� 0 $?
 $��5��� ������ !���/ �	
 �� $�G��� ����
� .�� '%�� �� �� �� 1����� .

 �� �� 8=��� ����
�� �9�� !��5 ��%�.  
 !���/�� 6��0 ,��� ����
�� �� :/�� $0 ���%��� ������� ���/�� ��? �� ���� ��0

 �� �� 1����� 1���% ������� 1�
 !]��� �� ,��9���� ������ . ��? �� �����
� @�� ����� +�
 �0 ����� '� 0 �	
 +�&� �3��� � $D� �1�/��� $�� ���	�*�

 �� ,��9�� ���/0 ��0 ������ 1���� �&� ��? �3��
 1����� $%�� �	���
 ������� 1�
 !]���� ���*��� �&�����)1( .  
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(1) Muhaiman Iqbal , OP , Cit , p. 120 . 
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%����� +�	��  :(������� ������6��� 5B*1�� ��)/� ��G����� ��
�. �����  

 �����* $� 059�� � �659 ���&��� ����
 ������%�)� ,5294�� M� �*�� U��0
 ������%�)� ,5294�� M� �*�� $� (% $? -�*� ��
��*������
 ���&�� � � * �

 ��9��/ 1���
 \�0 $%�� ��% �R���� �4 ���O	� ���# �2� M� � $0 �����

 �&	����� ���/4� ���*� $� �� � �:� ������ �2�	
 �������� 6��O�� U��� $0� ����

 ��� � *�� ��? ���#)�� �$�%������ !�9���*�� U���� ��&� $
 1�=�� 1%��
 M	��� �� ��� � ,��O� �*� � �� ���&�� ����
 ,5294� $� ���% ��
 5%�� $D�

 ���/ �����3� �#�0.  
 ����� ���� 15�5�� 1
� �������� ���/4� �0 >������ @��*�� 1
� ���/4� 1%��

 ������%�? ,5290 �0 M� �* ,5290 �4 ����/ ����2� . ��
E�� ��3�� ��V
 +9���� $�/��� 1
� ,������� \J9�� ��&  �0 @��*�� $
)$��=9�� ( �9���

 ����#0 @*	� $0 $%�� .�/4� �2� �>����� ���#4 M� �*�� ,529�� �O���
 ���&��� ����
 ,5294��.  

 M� �*�� ,5290 1
� �+9*�� ,��O��� ���&��� ����
 ,5294� A���� ��%
,5294� $� �3��V� ����*���  6��/0� +��/� �� 6�  ��? ����
�� ������%�)�

 ���&� ���#0� ��7�� 1���
� 1�O����.  
��/0 $� ��� 9 !����2�� �#��� �2�? ��% �� ��� ��� �� 1
� .�/0 �

 ����9�� 1���4� $� �3��V� M��/����)1(.  
1.  �������� 6��O�� @���: 

 6��O�� U��� ���/4� $� P���� �:2� M �����@����� �� �� ���/���� . $D�
 >:3 �# �������� 6��O�� U�� �3 1��%��� a������ �������� 1#�4� M�	 4�
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(1) ibid , p. 121 . 
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 '� 0 �	
 ���/4� ��V �7� /�� �0 ���#4� 1% ���O�� ����/4� 8��9
 ,��*� !�6��
� � �&� ��#�/��� �79�=���� ��������.  

 �3 ��7���� !�6��
� ���:  
 0.   ��#�� �0 ,�� /�� �2�� �%���� -��
 I�� $�%� -�* / +�5��� �#�&�� ���

 1�=�� ������. 

 M.  ��#�� �0 ,�� /��  $�%� �:�� 1�&���� ���* �� �� ����� �	
 �������
 a�����	� ����#�� !��. 

 K.   !�9� ���� ��#�� �0 ,�� /��)+9� �:�� �0 ( -��* ��� 5�29�� +��/� � $

)� ��	�
 +���? 1�� $%�� 1�=��� ��#�� +7���� Z(�. 

 �.   @*	� ���� ���#�� �0 ,�� /��)@*	� �:�� �0 ( �(2� �� ����  6�594��
 8������� !��2������ M����4�� !������� 1
� (��� R��� � ���� �0

 ��%�*��. 

 >.   U�  ��0 �	
 R��/�� 1
� ��	%��� M��
4�. 

 �.   ��
���� �0 �	������� ��3����� ,� %4�� �������� 1%]���� 1��*4� �� �9��
 ������� ���9��. 

 �	
 $������ ���� �� ����� ���#0 �0 �# �������� 6��O�� ��? ���#)���
 1�/�? ,��
? �0 ^ ��� ,��
? �=	%�� !������� �7� � 1(*) 6��V 1���� M� �*��

 ������� ,��O��� �
��*��� �	� !�: !������� ,�� / !��% �:? !�������.  
 �8�� �� $*��� I���%�� ���#)� 1���� �=	%� 6��O�� 1��� $0 $%�� 1
�����

 ������� ,��O��� ��	�4� �
��*�� $
 !�9� �:? �&� ����
 ,��)1(.   
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(1) ibid, p. 122 . 
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2.  ��� ��� 1���
: 

 >:3 ����� ��? ���� �3:/�� �� ���� 1������ �	� �� �� �� � *�� ���/4�
 �2���� $0 M9� ���� �� ����� ��3� ��� M� * ��
 ����
�� �� $����%���

 1��%��� a����� �� $�%������ ������%�)� ,5294�� M� �*��� @	�����:  
 0.   ,529`� ��*��� 8����� 1�O���� �7���. 

 M.  294�� M� �*��� ���/�� !�=������ $������ P�#�� ������%�)� ,5. 

 K.   �2���� ������� �3:/�� ���� !�6��9)�� ,�� /�� $� �������. 

 �.   ^ � ����� .�� !������� $� ����#?. 

 >.   �������� ��? 1�/��� �� +%*���� $�4� ����0. 

 �.   �	3G� !�%�� $� �*����� ������� ��&
. 

� � 0 �� � ��  ��#� �&�� �� 1������ @��� �� ,��
  ��*���� $�� ���3� �	�
 �2� @�
�� !��7��*? �	
 � � 4� ��3� ��� ��  ��0 ����� $0 M9� ����
���
 �/������ !�������� 19 ��� @	��� �� �� ���/� ��/# ������� ��=*� $�

 �2��� .��� �2�����%��.  
 6��9D� +�&� $0 M��%��� $%�� ��/������ 19 �� �:3 1
� ����� +�
 ���* ���

� �����&� ,�%� ��? 1���� �%� �.�/0 !�
��� �0 $������ �
��� 1/�� $� -*
 ,5294�� !�� �*�� ��? �� ���� ���
 �=�� ��#�� �0 ,�� /�� �����%� $


 ���&��� �#=/��� ����
 ������%�)�.  
 ��� � �� ��� $� U��� ���#�� �0 ,�� /�� ���%� !��� ��
 ���*� ��9���

�	
 � � 0 ��  8#�  �2��/� � ���� ������%�)� ,5294�� !�� �*��
 $���2� ��� $�%������)1(.  
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(1) I bid, p. 123. 

 * 1� ��� ���% �:�� M��%��)J (��2���� ����4�� $��9�2��� $�� . �� ,���9�� ������ ' 0 ��� $\���
������� .���� : ����( )� +���� ������� 5�5��� ��
������ 5�5��� ��
 ���%�	� �	��%�� 1��
4�  �!���� X
 5%�� � ������� ,�*��� !� ���2008  J � .22H28 .  
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 ���� $������ P�#�� ��/�� ��3� � ��? ����� � ��	�=�� ��3� ��� M� * +���
 1�=�� �:3 $� @��  659 �� �2=�� @� ) N���� ��? P�9���1H2 ()1(. 

9��/�� +�	��  :����K���� ��)/� ��G����� ��
��  

 �����G ��� 8��� �� ��/� �������� 6��O�� �3 +( )� �� 1��%�	� a��� 1�0 $�%
������� ��� � �� +	 � ��	
 F� �	� ����� �&�� �� �3 � (*) + �� I�
 �� �

����=��� ����� B�/��� �	7�
 �0 �B�/��� ����� $0 M9� �:�� N	���� �3 ������ 
 ��*#�� �	7��� .  

 �*��  @(�) M�*�� �� 0 �	7�
 ����� N	�� �2� ���=�� ��0 .  
 8 ���� +� ���
 F� �#� M��/�� $� ��
 �2
 ��� �� �%������ ���" ��

 +��� $���� 6���D� ���/4� 8�� �� $����� >� �� 8��9��� U��0 -�* ����� 8��
 �:? ���=���29��*�  8��9��� �� �#
 �0.  

 @	��� �� �� -��*�� 1��%��� $E� �� +�&� �� ���% �* ��? ���� � ������ >:3�
��O� ����G ��� ���/0 6.  

 ����G ��� �3 ���*�� ����
 �� �
��� ����G ��� 6��O�� P���0 �
%0 $��
 !�9����� ����G ���� ������.  

 $� $�
���� $�:�3 �	
 ����G ��� 6��O� J�/�� 1��%��� a����� 5%��  �:�
 ����G ��� ���O�.  
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1( ���
�� ����K���� >�����  
 ����G �� ������ 6��V U�� ��? ������ ����G ���� J�/�� 1��%��� a����� I�2�
 !����? $� +2� @*� ��� �
��
 I���0 A���� $
 �	��*��� ������&�� �������

 ���/� / �0 ��# �0 !�%	����� �� ,�� /.  
 ����0 ������� 1��5� -�* !]������ �&	����� ���/4� � � 0 a������� ��O�
 M9��� �2���O� +�� +� ���� ���/4�� �����4� >:2� ��*����� ���/4�� 1����

 ���/� �
%0 .�/0 a����.  
 0.   a������� �� $������ N	��: 

 A������ ���� 1���4� $
 ������� a������� ������&�� �����G � 6��9 �2�
 �2� M� � A�� �0 ����? �0 -��* �� ,��� $
 A���� 8��� �� ��5	��� / ��
 $��/E� !�%	���� @*� ��# �0 -��* $
 ��9���� ,�� /�� $
 J/� �4.  

 +9�� �/E� @�&* $� @* �0 �	
 ������ �0 K�
5)� �������� 6��O�� 1��� ��
 ����� �7� / ��
.  

,�(
�  ��O�� a������� 8 �� �� ��&�� �� !�#������ �	
:  
•  ��2	�*�� $0 ������� $���� ���� �	��=�� ��#&�� �� P����� I���%�

 1��%��� ��	�
 ���� �&���� �����. 

•  ��%*��� K��/ �0 1/�� $�%������ 1�
��� ���*��� M���0. 

 M.   M���%)�: 

��� ���/0 M��%� �	
 $���� ���� ���4� +30 $�� �3 ����
�� �� �3:/0 ����G 
 �9��� ����G ��� ��/ �2�� @&*�� $0 $%�� ���� I������ ������� ���� �����

 ������ �� �����.  
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 ��? �� ���� +2��� $� �������� 1��� J�/�� ����G ��� ��/ +2=�� $0 M��%���
 M	�� +2��&� !�� $�%������ $
 �&��� !���	�� 8�9 �	
 ����� $�%�

 a�����	� +��#���.  
 $��#� 1����� $0 �	
 1�=� $���� M	� �7��� ������� 1�%� � $0 M9� ��%

 ���� M	���:  
•  1���� ����� 1��% I��. 

• 1�
 ,��� 1(/ �	��*��� !�������� 1���� ���� �� !����O� -��*0 
 P������. 

•  �2�� ���� �� ������� $�%� ���� ������� ��#� �0 1�* !�������  
 K.   ��3� ��� ��� �: 

 1��
 ��? �� ���� ��4� �3 ��%�M���%�� �� ��� ��� 1��
 :/�� $0 �� � �
 �	� �� ����
��:  

•  ������� 1�
 �����. 

•  ��/�� �2�� @&*�� �� ���� ���/�� I�����. 

•  M9� �:�� N	���� 1��%��� a����� ���O� $0. 

•  �7� /�� ,��/ $
 �	��%�� 1���=���. 

•  1���� �7=� �&�� ,���/��� '��&� ) 1��� ���2  .�� ���94� $��� 1
�
 ��: ��? ��� !��7����� �
�&��� �� � ���2�9��.( 

 ��? �� ���� ��3� ��� $D� �$������ P�#�� ��/�� ��&�� �9�� �	
 �����
��
 �� ��� ��/�� �� ���� ���*�� �=	%�� '� 0 �	
 �0 ��
��&� �O	�� $�%� $0 $%��

 �&�� �� �3�7� / !��7��*? ������ ���� ,���%�� ���/4� ��?. 
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2(  2�1����� �$ ����K���� >�����   

 ��# �0 ����? �0 ,��� +9�� ��������� a��� +��/� � �9��� !�%	���	� . �����
 �a���	� U�*��� ��V +��/� �� �0 K���)� �0 8������ �� ��/ $
 ��: +9��
 +�	 ��� ��		#��� ��=������ !������� �����%�� ��V +��/� �� !�����? �0 ��:*���

 ��: ��? ��� �B��/��.  
 a����� ����G � ���/4 A����� P���0 �3 �	���/��� $�# �2���O� +�� ���� .

 �=	�/� 1�%�0 $
 +2��9���� @	��� �� �� $�%����	� ������&�� ����G ��� ���� ���
 1
� �������&�� �
��&�� $�:  

•  �3��V� �8���� �&
 X��������� ����G ���. 

•  ����#�� ����#)� ��&���. 

•  ������ +�5���. 

•  ���� $�	����� �0 ������� 1��3?. 

 ���* �� A������ M��� !�&=� ��:%� ���#4� �=	%� 8��� ������� �2	�*�� 
 ����� !�%	���� !&*� ���� ���#4� �0 ������� !����)� �0 -��*� �9��� ,�����
 ������� 1�
 ����� ��(
 !�: ���* 1% �0 �2��	 � �0 !�9����� 8���� �9���.  

 0.   M���%��: 

M9� ���� !��9��� �	� �� ���  ����G ���� @	��� �� �� M��%��� �2�	
 5%�� $0
 �������� 6��O�� U�� 1�� a����� ���#0 $
:  

•  ������� ��� . 

•  ����9� a����� �����. 

•  �3��V� �759� �9�� +0 �	�9 �9�� �0 8��� �3 13 �������� 8#�. 
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•  �
���	� 1���� �0 ����� 1���� ,�� /	� A�����. 

•  �&�� �� �7� /��. 

•  !������� +9*. 

•  8���� ����. 

•  �������� 6��O�� @���. 

•  ��/��� ���? �� ������� 6��O�� ���*. 

 M.   ��3� ��� ��  ���*�: 

 ��3� � 1���� �7�2��� ���*� �	
 �&�� �� M���%�� !���O�� 8��9 �
�� I� 
1��%��� ��/�  !�9����� $
 ����G ��� ���/4.  

 �	� ��% �2&���� $%���:  
•  �
����� !��7��*D� 1��%��� ��	�
 ���� $��� � �� +�/� � $0 1#�4� �0

 !�9����� $
 ����G ��� ��/� �&	����� �� ���/�� !��7��*)�. 

 !��� ��
 �3 !��7��*)� >:3 1
� $� ������ $0 M9� ���� !������� +30�
� ���%� ��=*��� �� ������ �������� 6��O�� N	�� � ���� �2��� .��� �������
 ���������.  

�	� ��% ��3� �	� � � 4� 1����� M� * $%��:  
Crb = (Cf × Cs) / Av1 

 $? -�*:  
Crb    : ��3� �	� � � 4� 1�����.  
Cf       : �������� ���%�.  
Cs       : �������� ,��.  
Av1   : ������ �*�� ����G �	� �� ���. 
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•  ,�
 ����
�� �� :/4� 8� ��3� �	� � � 4� 1����� ��� �� �9�* ���3�
 ��*� ��3� � 1��� U���� ����� ��* �M���%�� ��
 �=	�/� 1���


 �2���� ���/4: 

Crb1 = Crb × Adj.F    
 $? -�*:  
Crb1     : $��� ��/4 ��3� ��� 1���.  
Crb       : ��3� �	� � � 4� 1�����.  
Adj.F    : ��� � 1���
.  
          :F ) �3��V� ������� �*�� �a����� ���� ��.( 

•  ���#D� U� �� 1��*��� $� ��5�� �9�* �� ,��*� ���/4 ��3� ��� 1���
 U���� R��3� �����)� !�&=��� ) ����#��� K:��� ���* �� ( ���%��� + ��

)���%��� K:��� ��.( 

•  ��3� � ��? 1���	� ���� �� !��7���� �	
 ��3� ��� 1��� @��� �� ,��
�
 $�%������ �2���� +�&� ���� )1(.  
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������ ������ :
��� ������� ���J 
���)
����� ( ������� ����� 
�

 ������� ����� ����� ����� 
�� ��$����� �������� ��$��B��  
  

���� K���)� 17� � 1�0 ��3 ������*�� ,��
�� P���� �
��5�� P��� $?  ����� F� ��*
 +
 �
��� ��2�� �
��5�� �� ��� $�:�� ����:� +( �� ��	
 +�" ����  :�� $� �)� �2�
 $�:3 !�9���� ��9��� �	
 !	�
 ���� ����4� �� �	
�� ����9��� 1��
4� !���

 �2�� �%:� ����� �7��� 6��0 $�
��&�� $�:3 ����� $
 a���� � $�
��&�� :K��/?  ,�%5��
 �� �	��� 130 !�� M��V $� P�� 1%� �� �29��/? ���* �� ��=�� ����� � �2�&*�

  I��*4� ��
 �3 ��% ��=�� +��� ���� ���&�� ��&� 1%� ��� � 6�2&=�� ��2�9 ��
 ��%
$�%� � ,��
 +���D� $����� ,��=%� ��2�� !��* �#�0 �:3 ��? I�#��.  

  

 ���� (�)��� : 
���
��� ������� ��� ��$��B�� ������� ����� 
� 
�����

��������� �  

 ��7�� $� *�� $� �Q� ��3����� @�&*�� K���)�� 1/��� ,���5 �3 �������� ���&��� $?
 ������� -��*? I�2� � �����
� �� !��	���� �� 1�/��� ��
 � +�
 �9�� ��
���9��

 �:3� X �����*�� P��&��� �
��5�� P��&�� �� ���/��� �=*� 1�*�� ������ ���
� ��
 1�29� �7���� $0 ����
��.  

 �� �0 � =� �� 6��  ��/�� M�9�� ����� f��t	u�u9 1��9� $� �)� $0 ��� +�	���
 ���%	���.  

����� F� 1�&�� : �3 �� M * ��/�� $� �Q� ����� F� ��� �&� � v .�2� �\�� �:�� w
�� 0� 17� � $� �� Z��� �3 ��� � ��� � M��� 0 $� �)� +�/� � -�* � ��7��* M�
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 (*) ���� �� :  P���� M�*�� $� 8��� �3� �9�*�� !��� 1���*��� $� A7�=�� �=*� $��� �� �� 1��� �
 x�% �7�3 �	
 $�%�� � M�&��� �9���.  

)1 ( � ��*� $ * ���*��( )� �������� $������ !�%��� ������� �����  . ���G� � 1%������ !�������� @��E�
 � A����� � �������� $������2010  J � .30  . �#�0 ����� : ��� � ����0� ��( )� �&=�� � �	�*5�� ��3�

 � ������� ������ � @��� � ������� �%=��2004  J � -��
�� 659�� � .2045 .  
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 K���)� �:3 $��� � 1���*��� $� �7�5�� K���)� �=* I�2� ������� ��7�� $� Z���
 ���� �� 1/�� ��=*� �0 � ,�������� $��� �� �� I��� ����.*  

3 1%� X 1(O�� 8����� +���� I��� ��� M��� 4�� 17� ��� >:3 !���� +
 1� �� >:
 K���)� �:3 ����* ��? I�2� M��� 4��–  ,��
�� �0–  � ��� ��� P��#��� I	��� $�

 �3��2�� ���� ���/��� $� �3��V�.  
 +��/� �� ���/��� $� �2����*� $� �)� .�n3 �&� ������*�� ,��
	� �� ���� ��:%

� ��9�4� $��V0 $� M7��5�� ����? �3� �0 � �� ����� M��� 4� ���� +
 X M��/4�
 P���?� -��*�� ��	��� ������ �7��*�� ������ � �
��*�� P��5��� ����D� ��4�

 ��5(�� �������� !�����)�.  
  ����%��� ! �� � �3�*� 17� ���� M��� 4� >:3 $0 �� $��� $� �)� ���� 8��

��� !���2��� M *� 1%���� ����� ��/�� 6��� 1#�0 �����0 !
�*� �� �9��� �
  +���� M��9 $� �2�	
 ����*�	� �� ��� $��&=�� ���/� �2	#�0 ����� >�
� ��� $� �)�
 $� ����&� 5���� �:�� � ��( )� �������� $������ !���/ -��*� � ��
 ��: $�%�

 ��
���� ��*����. 

�2��� $� ���� ��������� !���O��� $� ������ ��( )� �������� $������ +�&�  �
� � $0
� ��
��5�� ������� 1��
0 $� @���� 55���  ������*��.  

 �	� �� �	
 !���O��� >:3 $� �%:��)1(:         
1.  ,5294�� !������ ����* �� 1
��� !���O� ��( )� �������� $������ 1���� ����

 ��/ ���O�� ��:� � 1/���� $� �0 K��/�� $� �2�(9� � �� K���)� !����� 1%�
 �������� M�%���� ���/� ���O� ��? ���#)�� � 1&���. 
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)1(  J � @��  89�� � ��*� $ * ���* .30 .  
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2.  ���/��� $� �
��5�� ���
� �� ���O� �	
 1��� ���� �
��5�� $������ !���O�
 �� >��
� � �:�� N	����� P��5��� �0 ��
� ��� A����� ��:� �2� A���� ����

�  � �
��5�� �� !#��� �:�� I	��� ���* �� �
��5�� ����? ������ ��" $�% 6�
 !��% $? ����� 1�5� +�
 M� � I�=9 �0 � !���*��� ���9��� �����% P�5��
 �0 8�&��� �0 ������ � I������ �0 @�O�� M� � �0 � ����� ��� ���� �
��5��

 !����� A���0. 

3.  �2���  �0 � �2��� �0 � �2#�� ���* �� ������*�� ,��
�� $���� !���O�. 

4. O� ����� +���D� ��:� ��	������ !�  G��� $� 1������ �	
 1��*�� !���
 ������ 1������ �	
 1��*	� �� ����� !���O���. 

5.  ���O��� ���� -�* ������� ������ $� @���� �:3� !������� $���� !���O� �����
 �2�9��� +�� ���O� ����	� ���� ��� !�9����� >:3 @�� � 1*���� ���������

? �#���� ���� ��� $%��� +� �:–  �� �� ���� K���)� ����� +� �:�� �3�–  $�
 ����� M�� 4 89�� ��: $�% 6��  ������*��� ��
��5�� !������� ���� ���  

 ) ���� ��� '(�? ( 1
� �� ��  M�� 0 �0 : ������� +� ���� ������ !��	  8��
6��  �2	�9�� �0 !������� ���&� 6����� $� �2��?  ���/ �0 ����%* ,��3 ���� ���

 �0 � �5���� I�� ��  A�� �0 �&��� 1��� ���&�� 1��*� �	
 ���� A�� �0
$���	� ������� 1��4� �2� A���� ���� ���% ��� 1��
4�� ��	34� !�����#��. 

6.  !��5	� � 1&�� $�% 6��  ���
� �� 1*��� 1%� �=	�/��� 1&��� !���O� �����
E� $� K���)� $�5/��� ��? �9���? $�%� $� � =� K���)� �	&�� �0 � ,5294�� !�
 ������� �0. 

7.  $�5/��� ���* �� K���)� ����*� ���/�� ��������� !���O��� �����)1(. 
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)1( @��  89�� � ��*� $ * ���*  J � .37 . 

)2(  � 1(3 ���9 +
�3 @�&*� $��	/ $�� ���&� � $��	/ $��� ��2��� $��	/ $� ��*� $� $��*��� ��
 ��(���
 � � ������ �
���	� I������ �  G�1  !���� �–  $���� H  �2007  J � .419 . 

)3(  J � @��  89�� � ��*� $ * ���* .38 .  
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8.  @��*��% �3��2� ���� ���/��� $� �7��*��� 1(O�� 8����� !���O� �����
 ���/��� $� �3��V� ��9=���� ��� ���. 

9. ������� 1&* �� $�	���	� ��������� !���O��� �����  ����% 6��  � ������*��� ��
��5��
��� �
���9�� 1��%���� � �*��� $������ !���O� ��
 $��:�=�� �0 $�
��5� �

 +3� 0� $�	���	� ������� 1��%���� 59���� ����)�� 6����� ���/� 1���)1( .  
  

 
����� (�)��� : ��$����� ������� 
� 
����� 
���
��� ������� ���  

 $�� 1�&�� � �=	�/��� !�
����� $� �)� I�
 � ������*�� ,��
��� �
��5�� ��� $�
 $��	/ : F� ��� �3 ���? M �� !*��0 +
 $�� � �
����� 1��5 $� 1�0 $?
'���?)2 ( �
����� $� .�/0 �����0 $��/" 6����0 I�
 ��% � +( �� ��	
 :  

���� $�%� � ���9� +( �� ��	
 Z�� $�% �&� ����* +( �� ��	
 ����� �.  
 �	
 �2�� �%:� ���� M�� 4� $� ����	� ��: 89��� � ,���% ���30 �
����� M �%��

 �	� �� ��*�� � 1�
��� 1�� )3(:  
1.  8����� ��:� � ������*�� ,��
�� ������ ��
��5�� ������� �7�2� �	
 1��� �2�0

��/� � ��O� ��5(�� !������� ,5294�� !�E� ������ ��
��5�� ������� �� �2�
 ������*�� ,��
��. 

2.  �#�0 1�&� � ������*��� ��
��5�� ������� -��*0 �� �
����� ��
�� $
 1�&� ���
 �2�� �%:� � .�/4� !�
��&�� ��&� �� ������� @�&*� �� �
�� �2�? : 

H  $������ P���. 

H  �������� 6����� P���. 
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)1(  J � @��  89�� � ��*� $ * ���* .38 . 
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H  ���*��� ������ P���. 

H  ��% ��� P��&��. 

H  ���4� P��&��. 

H  M��� P���. 

H  +�	���� P���. 

H  ��% �� P��&��. 

H  1&��� P���. 

H  �2�30 ����/�� !�  G��� $� ������ 1��� �:�� !���/�� P��� : I������
G�� � $������� � �
����� $�4�� M������� !� ������ ,���� �� !�  

 ��9���)� !�
��&�� $� ��: ��V�. 

 �� ������� -��*4 ��5(�� !�E�� !������ 5�29� ��
 ��? ��
���� �:3 $�%��
 �0 � ��
����� ������� ,���0 $� 1���4� ������ �0 � �%:�� �=��  !�
��&��

0 � !�E�� !������ ������ ������� ���/ �� !�
��&�� >:3 !���/ � �� �
 ��
�����.  

 ���
 �=�� ������� @���� ��? ��G� �:3 1%�. 

3.  .�� � �	
� $���
� ��� .�� � �	
 ��
����� ������� $� ������ �7���� ��%
 ������. 

4.  +�
4�� ��%4� ����� �2�D� X ��
����� ������� $� a����� ������ �7���� ��%� �� �
 ������ ���� �������� ���&�� a������ 1/��� ,���5 �� ��
0. 

5. ,���� ��O��� ,������ 8	 �� K���?. 

6.  U���� 1���� $�� ,������� ���34� M �%� ��
��� ��� �2��� I��� ���� 1����
 ����� 1%�� ������� � �� �� �� ,�
G�� ���� ����� ����
 ����)1( 5���� ��% �
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)1(  J � @��  89�� � ��*� $ * ���* .39 . 
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7.  �&7�=�� ��������� !���&��� ��&���� ��	��� @�=���� . 1�4� 1���� 1�9� �:3 1%�
���9 �0 ��
��� �2��? �9	� �2�� . 

8.  8��9��� ����4 �=	�/��� ��
���9�� ����4� ��%���� ������ �� ��. 

9.  �� ����9�� �
%4� U��� �������� 8��9��� !�7� I	�/�� ,���% ��=��� ���� U���
 ������� ����*�. 

10.  ��
����� �#2��� @&*� ���� !��9��� �� J�/���� +	���� Z�� ��%5�
��� -*��� Z�� ��%5� ��? ���#)�� ��	. 

11.  A��V4�� �9�4� ,������� ����	� ��9����� )� I��34� ���/. 

12.  ��3������ 1����� ���=%�� 8��9� @�&*� $� $�%����. 

  
 ��
����� ������� @�&*� �� ��( )� �������� $������ �� +�&� $0 $%�� �:�� ����� ��0

��
����� ������� !�
��� �� $�	������ $���
� ��� 1��� ���  ������ ��:%� � �=	�/���
 !���O��� $� ������ �� 1
��� � ��
����� ������� !���/ $� ��=� �  �:�� ��2�9���

 ��
����� ������� -��*? 55��� 89�� ���� ���������.  
 ������� ��	�
 �� ���9�? �
G� ���� !���O��� >:3 A�� ��? ���� �	� �� ���

_��
�����)1(:  
1.  !���O��� �=	�/��� ���  G� $� 1������ �	
 1��*�� $� $%�� ���� ���������

 ��
����� ������� ��	�
 �� ����/� � A�O�. 

2. ��9 �	
 1��*��� @	��� ���� ��������� !���O��� !�" $� 8������ !��5	� � 8
 $� 6������ �0 K��/�� $� ����� ��� 1��*�� �:3 +� 6��  � +�/ ����� !�����
�=	�/��� 1&��� !������� !���O� M9��� $��&=��� I	��� $� �2����* +�� ��D� 1/���� .

 �0 � $��&� �0 I	�� K���)� !��5	� �� !������� !�E� >:3 !#��� �:? ��0
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�(3  $������ !�7�3 �2*��� ���� ��������� !���O��� $� ��� �2���O� +�� +�� �
 !��5	� �� !������� !�E� >:3 6��� �� !&=�0 ���� 1���4� $D� X ��������
 �2�� 8�#� 1� X M *� �3�*� 8�#� � �2�0 ��? ���� $%�� � 8�#�  K���)�

�� � �2 =� !������ !��5	� �� !������� !�E� Z��0 ,�� /�� U��� ������. $%��
 $� �*� !��=	���� ���#4� >:3 $
 A������ $D� 1&��� !���O� ��9� ���* ��
 !�E� ����� +
 $�� � !������� !�E� ���� ����� +�� :? � ,�� /�� +9*

 �2������ �2*(�? ,��
? �0 .�/0 ,�� �36��� ��
 �#�0 !������� . ��:��
 ��	�
 @�&*� $%�� �2����� �� ��
����� �������. 

3.  M�%��� ������� !��	�
 :�=�� ���* �� M�%���� ���/0� $����&��� ���/0 !������
 !������� ,5294�� @*	� ���� !��=	��� ��O� ���� K���)� ���/ 5�29�� !������
 !���O��� >:3 M9��� -�* � M�%����� ������� �	*�� �� ��
����� !��5	� ����

8���  �	*�� 1(/ !��=	�	� !������� !�E� >:3 A��� ���* �� !�#������
 ���* �� ����� �0 � ��
����� ������� ��	�
 :�&�? $�#� ��� � M�%����� �������
 1����  � M�%����� ������� 1��
0 M*��� ���� !���O��� >:3 1
� ��9� +�


 !������� !�E� I	� ���* �� ������� ��	�
. 

4.  0��� ����� � ��2�� $������ !���O�� I��� �� �3� !�E� I��� $���� !���O�
 ��	���� 0��� +
 � K���)� ���/ 5�29�� M�%����� ������� ,��� $� 6�2���� �2��

����� �0 !�E� ����? 1���*� 8� ��9���)� ��9���)� ��	���� �� ���/� ��� !�
 ��:� �2���/ ���% �� ��9���)� ��	���� I���� �������� �2=��� ��? ��G� ��#�

 �#�� �2#�� 1�%� ���/�� $4 . +��  !�E� I��� ���O� ��9� 1� �� $%��
 �������� � �2�=	%� ��
� ��� 8��� $0 $�� �2����� � �0 ,���#��� ��E� �����
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 +�/� � �:�� 8��9���� ��
� ��� ��� ����� I��� $�� K���)� ��	�
 $���  $��#
 ������� ��	 �� . 

 $� $��/E� $���=� ��� �:%� ������� ��	 �� �0 ��	 �� K���? 1&* �� $�	������
 I��2��� � >������ 6���2%�� !���/% ������� ��	 �� �0 ��	 	� ��9���)� ��	����

8	 �� �
5���  �� �	
�� ������� X �
����� K���)� !��5	� � ����� � �9�����
 ��	 �� K���)� ����� � 6��9 $� A�=� ���� M7��#��� �7������ +� ��� 1��*�

 ���
 �=�� 8��9��� �� �������. 

5.  $�%������ 15�5��� >����� M� � !��=	���� ��� ��� @��*�� !���O� �����
4�� !���#�=��� @
������ $� $%�� ��: 1%� � ����* ������ ����*�� ���/

 ��	���� �
��� � �������� 8������ @*	� �� ���� ���#4� ���� $
 A������
 ���O��� >:3 ��9� +�
 ���* �� ��0 ���� ��� ���� ��
� ��� �&=� �� ��9���)�

 ��� 
 ��4� U���. 

6.  8����� +��� ���* �� !������� $���� !���O� +�� K��/�� ��? ���9��� ������
 M� � $�% 6��  �2� ������� +� ���� �29�� ���  +�
 !��* $
 A������
 1��*��� ��&� $� ���� ��� ���� �2#�=� ���� �� �� �� ���/��� M� � �0 '(�)�
 ���� ��� ���� 1�� $� �������� ���*�� A�� �0 ������ ����� ���� �0 .

��*�� >:3 1% ��� �%�� 1�� $� >����� +� �:�� K���)� ��&� A������ +�� !
 �������� $������. 

 1���� ,���% $�%� ,�� /�� $D� ������ ���O� ��9� +�
 ���* �� ��3 �#�0
 $� ����94� �	���� �	
 1��*�� ���� � /� �:�� !�
������ $�5�� �#�0

 ������ ��	�
. 
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7.  !�6��9D� ������ !��	  +��� ���* �� ,��
� ��� 1���4� $
 A������ !���O�
 ,�������� +������. 

8.  !��=	�	� �2#��� ���* �� +�/�� ������� K���)� $� $�5/�	� !���O� �����
 ���/4�� @��*�� M� � ,�� /��� ��� �� ��/ ��:%� .�/4� ��������. 

9.  �	
����� �2�� ����94� !���/�� ��� � ��
����� ������� 1&* �� $�	����� !���O�
 A���4� ���O� ��:%� X +7���� �	%�� 59���� ����)�� ,����� ���/�� K(��� ��
�� 1���� $� +9�� ���� ����� A���0 ��: 1�
� �2 =� ��2��� $
 +9�� ���� 

 ��: ���� ��� a� ���� 15O�� 8���� . 

 1��*4� M��V �� �2�
 ��7 � ��
� ��� J/��� $�%� >:3 ��2��� A���0�
 $0 ��
� �	� $%�� �:2�� � K���)� 1*� ������ �� �7� �� 1���� $���� M9���
 ���� $�	����� ����? ���O� �� �������� $������ !�%��� ��/�� �:3 1\�*�

1����� A���  K���)� $�%� �� �2 ���� ���� ��2��� ���  A��� M�����. 

10.  8���	� ����)�� U���� ��9��� ��( )� �������� $������ !�%�� +�&� �� ����V
 I�2� ��( ��� $�4� !���"� !���� $� �� ����� 17� ���� M��� 4� +��/� ��

 �2
��� ���* �� ,�� /�� +9* $� �*��. 

  

 ������ (�)���:  ����� ����� ����� 
� 
����� 
���
��� ������� ���

�������  

 ���*� $� ��*� 1%� � � 4� 1����� �3� 6�� 1% M�
 �3 1���� $0 +�	�� $�
 ������� 1���� �2� ������ !�29�� $0 �9� �:2�� �
���9��� �������� �2�&�� �������

X ������� a����� M�	���� ���/��� $� �2V��� ���  +5(�� 1���� �	
 1��*	� �� �
 �	� ���� �359�� ����0 ����0 :/�� ���0� �� �������� ��/�� :�=�):  
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+�	��  ���� : ���������-�  

 ������� I7������ �������� $������ !�7�3 +��� �� ����� �:3 1
����)1(:  
1.  �������� !�
������ 1���� �� ��3� ���� ��( )� �������� $������ !�7�3 +���

 �� �
��9 $�# �0 � ��=�� 1%�� ��: $�% 6��  � �2�� ,����� ���
� ��� ��:�
��� M��9� �:3 X ���/ �0 ���
 ��3� � 1%� �2���� �����
� � !��=*� �� 1�/

 ��? ���#)�� �����
� �� ��	���� +��� ���� .�/4� !�29�� �0 I������
 �������� $������ !�%�� $������ �	
 ������� �7�3 +5	y� -�* � ������ !�2�9��
 �� ���
� �� �*� �#�0 ����� M ��� ����� !�
��� �� ���
� ��� ��( )�

�&��� P��&�� �*�� ��50 %  ������� -��*? �� +2 � �:3� � $������ 1���0 $�
 � � ����&���25 %  I��� $0 $%�� ����	� ����� ���� �:3� ���5/�� !���  ��

 � � �������� !�
������ I	�/� ��25 %  +� �:? ��3� X������ ,��9��� ��
: �� ������� ,���5 ��? ��G�  �:3 $D� � P��� �0 ��? �22�9�� P��&�� ��. 

2.  +�&� ��:% !�
������ 1���� �� ��3� ���� ��( )� �������� $������ !�%��
 >:3� I������ �� �2����4 �2
���? ��
 ��: +��� X ,����� ��V 1%�� ��7���)�
 �2��� �*����� ������� M * ��	�� ���� !�29	� 1������ ����� �	
 1��� ,��/4�

0 �2��# $� $�%� �� ����� ��( )� �������� $������ 1���. 

3.  +�&� � ��( )� �������� $������ !�7�3 $D� >�%: @�  �� ��? ���#)�� �#�0
 8��9��� ����0 $� !��/���� 8��9� ��? I�2� ���� ��	��%��� a������ +�����
 a������ >:3� X ��	��%��� a������ >:3 �� $�%������ U���� ���
� ��� �2������

�0 � $�%������ !��/�� 8��9� �	
 1���  !��	��	� ����  ����� �/" �����
 �&���� ��: $�% 6��  ��( )� �������� $������ !�7�3 �2� +�&� ���� �����
� ��
 1%� �� �3���� ���� $�%������ !��/�� ����� I�2� ,����� ��V �0 � ,�����
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4.  a���� �3�2�0 �=	�/� !��� � :/�� ���� ��	��%��� a������ �� !�%����� �� �0
�� R����� a����� ���
� ��� ��/� . �	�	� �9�0 �� 1���4� >:3 ��
� � �� ,��
�

 P���0 M �0 �:� ����	� 8��� ���� $������ �	
 ������� �7�3 ��9�� �	
 6��� ���/���
 ��� � ���/��� �	&� 5���� �:�� ���&��� ���
� �� �3 !�%������ >:2� !����
� ��

� P���0 ��&� 8� ����&� ���/�� �*	���� @�&*� ��? ��G� �:3� X ���
� �
 ��G� ��% X �29 $� 1��%��� a���� �� $�%������ $� 1���4� >:3 M�*�4
 $�% 6��  �#�0 ������ �*	���� @&*� �:2�� .�/0 I���4 U������ @�&*�

 �� ����� ���
� �� $����� $� �3��V �� +0 � ����&��� ������� �� ��3� ����. 

��+�	  
����� : 
� 
����� 
���
��� ������� �������&-� �&��� ����� ��*��  

�� +�&� ����� �:3�  ���������� ��	��%��� a����	� �2*�� ��
 �������� $������ !�7�3
 � 1������ ������ $������� $�� $���7�� 17� � 1���� �	
 �
� � $0 �2��� $� ����

����� $� ������ ��
 ��:� �	� �� �2�� �%:� a�)1(:  
1.  $3�� @
���� 1������ U�� 1�2 � ��? I�2� ����� $�3���� ����*� 1��%��� ���O�

 �3 �:�� 1������ N	�� ��� � $��#% 1������ M��� �%	��� 1�&�� �0 � !��
 ��&

 1������ M��� ��: �� $�� . 

 �3 ��3 1��%��� ��� $�%�� � 1\����� U���� $���� $3� +��� ����*� ���O��� 1�

 �0 $3���� 6��� +�
 ���* �� ��:� �� $�3���� �� ��� �2	� � $� ���3���� $����
 � �� 
)� M� � $�� $� ��	
 �� ��� � � ���3���� $���� M*�� 1����� J/���

 ����� M� � �0 � ��7��� ��	% ���� 1���� $� 8����� +7���� �	%�� ������ 59��� �0. 

 +�&� X $3���� ��: �� �:�� $���� ��� � ��9���� ������ $� �0 @&*� ���* ���
 !�� �� $�%� �:�� � �� $�3��	� $3���� $
 ����� ��� ��� �������� $������ �7�3

 �&��� ��� � �� $�3��	� '��� ,�*�� �	�9� ���� ����� $3���� �	
 �:�� $����
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 1\����� �*	��� ,5�� �:3 ��� �� $�3��	� $3���� ����� $�% ��% �� &�
 �� ���� $7���� ����� $�% ��� 1#�0 ,���� $���� N	�� �&�� � ���  1�9�� ��

 M��9 $� �:3 � ��� �� �� ��� � .  
� �2�*��� ���3���� $���� ���� ��:% >:3� 1�� ��� +�
 $� $��	� $��# ��: ��

 �/" M��9 $� ��:� ��� 4� $3��	� ���� ,5�� ����. 

2.  @��*�� ���/� �# � =� 1������ P�#�� �0 � ���3���� $���� !���O� Z��
 �������� ���/4�� $�%������ 15�5��� >����� !��=	�� ��� ���. 

 ����*�� ���/���� ��%�� ���3���� $���� $? ���/��� $� �3��V� ����*�� ����
 >:3 $0 ���� ��� X 1\����� U���� ��� �� +�� �2�� ��/ �0 @&*� �:? �� �����

 1\����� ��: �� �:�� $���� �	
 1��*�� 1\���	� $�#� !���O���.  

+�	��  ������ : ��� �P������� ������ �Q������� �����  

 !���O�� �������� $������ !�7�3 Z�� ��
 +�� ��
� ��� ����* � � =� ��
� ��� ��*�
 1�� $� ��
� ��� 1���� ��*�� � ��O�� U���� ������� !���5���� !����7 � $�
 �	
 A*� 1� � ���
� �� 8�9�� ��? $������ K:��� $� ������ ��G� $:? X �z�
� ���

� X ������� I	�/� �� K����� K:��� ��2&&*� ���� $��7����� ����*�� M9��� ��:
 ����_��� !���O��� ��
 ��:� �=	�/��� $������)1(:  

1H  $������ (
� X $������ K:��� $� ������ ��
 ����
 >�9� ��
� ��� ����7 � $����
 � ��2��� A���0 �0 � 1���� M� � �0 1���� !�
�  6��
0 $�	����� !����? �#

 1��%_��� 1��%��� � ����� ) ,��*�� �	
 $����	� 1����� ( R����� $����� �. 

2H  M��9� ������� 1��&��� !���E ������� !���O� +�&� �:�� $����&��� ���/0 $����
 ��O�� �0 � ����&��� M*�� U���� ��� ��/ �0 $
 ������&�� ����7 ���. 
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3H  ��? ���#)�� !��=	��� $� 1���� !�" ����*� @	��� ���� M�%���� ���/0 $����
 $7�%���� !���{� M�%���� ���/� �	
 �������� ������&�� !����7 ��� $� ����*��

 �� ����* ��� ,������ �0 � 8������ ���/�� � 1���� M*�� >�9� 1��&��� ����7
 P��#�� $� 1���� M*�� @�&*� ����* ��:%�. 

4H  !������ 1
� � !�%	����� $���� P���0 I	�/� : +�/�� ������ � !���� �� � !�E�
 1&��� ���/0� �������. 

5H  X �� �� �� ���/��� �# K��/�� ��? ������� � ��	*��� ���
� �� !��	�
 $����
 +������% ���/��� ��? ���#)�� �:3 X ����*�� ��� ���/���� ����&��� ,��������

 ,�� / �0 �0 � �
�#��� $�
 ���  �	
 ������ ,��&� +��% X �=	�/��� ����9_���
 �
�#���� @*	�.  

+�	��  %����� :������ ���
�� ����B���� ������� ������� �����  

��� $������ !�7�3 +��� ����� �:2� ����  ����	� ������ ����5��	� ����� ����� ������ �����
 �2���5/ 1���� ��? �27��� $� ���� ���&�� �������� !� ��  '���� ������ $4
 1����� +��&�� $�%� �� �2��� $� ���� ������ I7���� �2���� $� $%�� �:�� 1%����

�/ �3��y� $0 $%�� ���� ������� >:3� X �������� !�
������ �������� $������ !��
 ������� !���E� �2�� �%:�)1( :  

1.  �������� $������ !�7�2� 8��� $���� � � 1% �	
 A�=� �:�� �O���� + �
 M7��#�� $���� �0 ,���) >������ �3���� +�&� ���� ��( )�. 

2.  �7�2� �������� $������ !�7�3 �2���� ���� $������ �	
 �������� I���)� +� �
� �0 � �	&� � �7�3 $�%� 1��*4� M��V �� ����%* �7�3 �3� $������ �	
 ������

 '=� $������ P��� �� �7�2�� >:3 �=��� $0 ����
� �5%���� ���	� ����� $�%�
 ����9��� ����	� �5%���� ����� �=���. 
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3. �������� $������ �7�3 ����5� $
 a��� ���� .�/4� +� ���� �7�����  ��( )�
 ����
� ��� �������� �2�����. 

4.  �2*���0 $
 ��( )� �������� $������ !�%�� �2���� ���� M7��#��. 

5.  $������ !�7�3 ��3� ���������  �	
 1��� ���� ���5/�� !���  6��� �� ��( )�
 ���&��� � �� �� :�=�� ��? ��G� �2�0 M��9� ������ ���5/	� 1���0 �����. 

6.  ��( )� �������� $������ 1&* �� $�	����� $� :/G� ���� +� ���� M7��#��
 8��9��� ����0 ��&� $� ������ �:3 8� $�	��������. 

7. ���%� ��:% !�#���� ��? ���#)�� $����� ���� 6�� ���� ������ !���/�� I
 �:�� 8#��� ��? ����
?� �*(�? +5	� ���� $������ P�#��� @*	� ���� -���*��
 !���� �� ���V 8�&% @� �� $� +5	� �� 6���� +��&�� �
�� � �:2� � ��	
 $�%

1%� X $������&�� $� ��2��� M���0� � $7�%��� � !�E�  �� � ��
 a��� ��:
 Z���0 ����# �0 � ��/��� 1/��� ����# �0 � ���#��� ���&�� �� 1
��� �����#

 1��
4�. 

8. �������� $������ !�7�3 +2 �  �� !�
������ $�5�� ����� �%�* �� ��( )�
 $������ !�7�3 +��� �� ��: 1
���� � K��/	� $������ ,��
? @��� $
 ��:� ������

��������  �� �0 �2� 8��� �����
 $���� !�7�3 �� �2 =� $����� ������� ��( )�
 ����90 !(�
 ,��� �� $������ ,��
?. 

 $������ ,��
? !�%�� $� +	 �� ������� $������ ,��
? !�7�3 $D� ��: ��? ���#)��
#�0 ����94� �	����� �2��� � +�� ����� $������ ,��
? �� �0 .�/4� 1���� �� �.  

 �� �
G� �9��/�� +����� ��? ������ $� ����90 �	�
 K��/ 1
�� ���4� ,������
 $� ,������ $������ ,��
? �� �0 ����� $����� M��9�� �� �2��� !�
������ $�5��

����� ,��
? !�%��� �9��/�� +����� $������ ����� ��3� � ��7�5 ������� $�
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 ��� +�� X ��( )� �������� $������ �%�� �2���� ���� !�������� �� $��������
 ���� ��
�� �%G� �:3� � $7���� M��9�� �� !�
������ $�5�� �� 1���4� >:3

 ����	� !�
������ $�5�� �	
 +�
 1%�� ��( )� �������� $������)1(.  
  

 %����� ������ : ������� ����� 
� 
����� 
���
��� ������� ���

 ��$���1-� ) 5����� #�$ ������� 
$�E�� ������ (

 ) 
���6��� �������(  
 -*���� �:3 �� 1����� � � ��
�� ����#� $%�� ,��*�� �	
 $������ 6�2&=�� 5�90

 �
���� 1����� �	��%��� $����	� �
���9�� ����� ,��*�� �	
 $����	�.  
  

 ���� (�)���: ��$���1-� �������  

 ��=� ���� � � 4� ��*��� �3 $� �)� ����� I	�/� �� ������� 1��
0 8��9 $� 1�4�
 A�4� �� I(/� ��� ����� F� >��
 �:�� �2� ��: �� ���V �� �2��
���

 ������ ���*�  1�� -�* � �2�����
� : $� +%���0 �3 wv�2�� +%���� �� A�4�)2( 
 ����� ���� �#�0� :v �3���
 ��� �
%0 �3���
� A�4� ����
0� w)3(.  

 ���&���� I��34� �� ����� �:? �:3 ��� U#��� ������� -��*D� ������ �3 $� �)� $:?
 � ��
����� �������� ������*�� ,��
�� ������ ��
��5�� ������� !��	�
 �_��� 6��� $�

��  �� 1���� �0 � ���
� �� 1(/ $� ���=�� +����� $� �)� ��  ��
 �:3 $�% 6
 � �2 =�� �������� ��	����� �2���� ���* �� ������ ��
 ��: $�% 6��  �0 � $������� ���%

 ������� -��*? �� ������ �
� � $0 �0.  
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 ������ I��30 !��% ��� ��* $� �)� �3 �2�� I�2�� $0 1��*4� 1% �� �9� �:�
 ��� R����� 8���� ��? $����� $������ ����* �3 I�2�� � �#�0 ��9����� ? ����30

 �����/��.  
 �? X �93���� ����V� @�&*�� $� �)� �*��� ����_��� !��	�
 I��2� � �� ���� +�&� ��
 ���&� @�&*� ��� A�O��� � ��
���9�� �������� �� � �/" ����� M��9 ���3 $0
 ,�
� �� 1/��� A�=/�� ���� �� ��
E�� �&=�� ����*� I�2� $� �Q� ��*� ��
���9�

 $� �9��*� ��� $� �)� �%(��� +��� ��? � �3����� 8��� � � !���/ �0 � ���0
 �2�=	%� +��� �0 � �2�=	%��.  

 ������� P���� �
��5�� P��&�� ����� �� ,���*� ! �� A�4� ,���
� ) P��� �0
 ����&��� �������( �	
 ����*��� I�2� ��4� �29��*� ���� !�
��&�� 8��9 1��� 1� X

�2���30 @�&*�� �2*����  !�9�*��� !����/� �� ���������� ����� ,�������.  
  

 
����� (�)��� : ��� 
���6��� �������) ������� 
$�E��5����� #�$ ������ (

��$���1-� ������� ����� 
�  

 ������� ������� 1(/ $� M	���� �:3 1����� :  
 ���� +�	�� :5����� #�$ ������� ,��
�  

 �0 � ���#4� $� $������ $
 ��&�&*� >�3�9 �� I	�/� � ,��*�� �	
 $������ $?
 �� � ����  �� �
0 ���� $%�� � ��: �*� �0 �*��� $������ �0 � !����)� �#

%���� +�
 �0 ����4� �# $������ ��� +2=� �:�� �V��� ��? ���#? � ����� F� �	
 1
  R�&�� 1�9 $� ,��*�� �	
 $������ M*�� �� 194� � ����� �	
 1���� ���� >��&

 ���� � ��( )� $������ 1�9� �� $�	������ $��%=��� .���� � ��� � +2� 6� �

!��*� �
���� ����*� ��( )� 1��%��� �0 � �	��%��� $������ �0 1��%����   I�#��
 ��	
 $�G��� 59
 ���* �� $�4�� $��#��� ����*�� P�� M���� �� ��&��)������� (
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)1(  � �V�� ,�&�� $���� �*� �	
��( )� $������  � ����  � ���( )� �7����� ��� �2006  � �1  J � .
363 . 
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 �0 ��* +�� �� ���2� M���� �0 �� �0 1%� �	
 �0 ,�*�� ���� $������ N���� 8���
 >��&
 8�� ��/ 6��� �0 ��=� �	� �0 � !���� ���*� $������ ���* �� ���� ��� ��
���

$������ 1(/ $�  ��
�� ��#�� � ��* ����� 6��4 �0 $3��� ��
" �# �
���� U����
 $� �)� U���� $������ �3 ,��*�� �	
 $����	� �
���� 1����� �	��%��� $������� � ��:�

 ��: �*� �0 $3��� �0 � �	%�� 59��� �0 �!���� !��* J/� ���� >��V �0 �� =�.  
  


����� +�	�� :6��� ������� ��$ .���5����� #�$ ������� 
$�E�� ������ 
���  

$������  ��:� !��� ��% +��* ���9��� $������ !�%�� �� ������� >���� ,��*�� �	

 ��2&=�� 8��9��� !�����.  

 ����%�� 1������ !��� �
��
�� ��2&=�� ,����� �� 1��=���� P�#���� �:3 R��� +
 )6 – 
8  ,��&�� �:1413  c3H  c� @������27 – 29  1���01993  +%* !���� -�* � +

 ��2��� !�������� .���=�� A�� �2�� !���� ,�%=�� '� 0� � ,��*�� �	
 $������
 �3�)1(:  

1. $������ $?  �� �4� $�� �#������ �	
 ��7�&�� ����	&��� ������ ,��*�� �	

�� P��� ��
 �
�*� ��� N������� � �
��� +�
 ��
 �3�7��� 8� ,��� ��� �0 ��/

���29��� ������ ��
%�� ��O�� �	
 ������) � �
�� �
������ !(������ $� �3. 

2. $������ $� �
�� 8��� �  �������� $������ '� 0 �	
 +��0 �:? ,��*�� �	
)1��%��� (
���O� +����� � ��9��� �� ��� P������ +�5��� 1(/ $� ��:� �  8&� ���� ���/4�

 +��
 ������� �� �3� � A�O�� �:2� J�/��� @������ $� $�%������ �	

 I�2	��� �
�V?� � .�&���� ���� �	
� $������ �	
 A/� ���� ��
���� ���4�
 ������� J��� 8� A����� � ��	
 +�&� �:�� 0������ � $��	 ��� @�&* ���
��

 ������ �3�
����. 
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)1(  � $ *�� U��  � �	��� U��� ��( )� $������ +���� � ��� ���( )� $������ !�%��� ��	�
 !�&���� 8� �
 � ����  � ������� ��� � ��( )�� ���9��� $����	� ��2&�2010  J � .82 . 

)2(  J � @��  89�� � �V�� ,�&�� $���� �*� �	
 .365 . 
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 � �:�� ������� ����
 �� ��� �� � �
�� ����&� ���	  U���  ��&��� >:3 $?
� +��� ��� �9� 1�� !�� �� � ���
 ,���� ��( )� �����
 �� �
���9�� 1��%��

  x������ �#����� ,59���� 6��&=��� $�9��*�	� +��%�� R���� 1=%� �:�� $��	 �	�
 ��� �� ����4� ��29 �	
 +
 F� �	
 ����
�� $:? �� (� � I�2	��� �
�V? $�#��


�� ��2&=�� ,����� !��0 ��:�� � $����&�� � ,�%=�� >:3 ����%�� 1������ !��� �
��
 �	
 $������ ����5�� ��	���� ������ ��&��� 1��%� �� $��%=���� 6��	��� !�����

 ���( )� ������� e���� @�� $������ ,��
?� ,��*��)1(.  
  

������ +�	��  : 
���6��� ������� ��4$ 9��. ) 5����� #�$ ������� 
$�E�� ������

 
�����(  

 $������ !�%�� �� !��0 ���� ��&���� ������ � �	��%��� $������ ��&
 |��� $0 $%��
 +�
 $� ��&��� >:3 �2�	
 +�&� ���� ' 4� '=� �	
 +�&� $0 �� � :? � ,��*�� ��V ��

���� +�%*4 �2�=��/� �2�� A7�=�� 8�5��� P����� ,�%� �	
 �2���� $�� ���( )� ���
 ,�� /��� ,���)� �� $�%������ �	
)2(.  

 �2�%�� ��
��� ��&
� $���� �	
 +�&� $0 �� � ,��*�� �	
 ��( )� $������ $? +

 �� M�3���� ���� ������� .����� !��% �:D� � P������ U���� ����� ������
 �	�� 8���� ���� $��7����� �*���� $� �
�� �� M3���� $�# -�* � $��#�� $� �
��

 =� !���� ��� � ����* ,�� ����� +
 >��� ���? 89�� -�* � M3��	� $��# ���3 �
 �=/� � �� $������ A��V0 @�&*�� K�*�� 8��� � ��� $� ��: ��� � ��
��� $�%�
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)1(  J � @��  89�� � $ *�� U��  � �	��� U��� .83 – 84 . 

)2(  � �V�� ,�&�� $���� �*� �	
 89��@��   J � .365  H 366 . 
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 ����� ���* ��
 I����� +�
� �������� � 8 ���� ��? ,���)� ��2�� M�� ���� -�*
 �&��  .  

$������ ��:%� � $� �
�� ����� |��� $0 $%�� ,��*�� �	
 $�� !���� ��
 $��#�
 �&� $� I�/� � �� $�G��� $0 ��0 � ����% ,��*� $�0� $��0 �� $����� ��
��
 !���� �� ��	
 ���� �����0 $� �659 8���� � ��/�/�� ��
� >��
 �/" �� �����

 �2��? $�%� �� K�*0 �3 �:��)1( .  
 �� $������ �	
 �
��9 @�=�� 1(/ $� ,�%=�� >:3 :�=�� $%��� �0 +3�*0 ,��� ���*

 $�5 �2�� ��*� ����� ��&
 6�# �	
� � P������ $������ '� 0 �	
 >5�
� >59

 ^������� ,���*� !�
��� $� $��� ��� ������� $� :/G� ��� ��=� �	� 8��� �� +9*�
 M��� ��&����� !��� *��� !����*��� !��7��*)� �	
 ����� ���� M��� �� ��� *�

��=��� >:3 +�&�� � �3���
� �� �2����?� 1���4� >:3 �	
 I��� �%�� M��� �� ��
  1��%���� J�/�� M� *�� �:3 ,���? �� �	�%� $�%�� � '���� 8� ��&��� +���D�
 $������ �%�� P��� $� �
�� $�%� 1� � �	&� � �%���� >:3 $�%� � $0 1#�4��

 �� � $0 1#�4� 1� � ���( )� )( )� 1��%��� 5���� 8��� �
���� ����*� ��
 ,���� ��
 5���� 8��� $������� ,����� ���* �� $������ I�#��� ()2(.  

  

 %����� +�	�� :5����� #�$ ������� �$ ������ 
���6��� ������� ��4$ !��8.  

 � ��� ,�
 ���* 1%� ���%:� � !��* 8��0 ,��*�� �	
 $����	� $0 $������&�� �%:
 1(&� � $� ���� 0��� �%=�� �9��� �� 1%� �0 � >���� �� 1% ����D� $��5	� �� � ��3�

 !�9�*� ���2 � $%�� ���� !��*�� �%:� ���?� � �&*�� ,��&��� +�
 M� � ��=��
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)1(  J �@��  89�� � $ *�� U��  � �	��� U��� .85 . 

 ����� : 89�� � �9&��� �=�� ���  J �@��  .120 . 
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 ��=	� �*	���� @&*� ���� ��	���� ������ � �2�� ��( )� 1*�� ��? 1�����
 +	 ��� 8��9����.  

 ��3 $�� � 0 $�� � �� $�%��:  
1.  +3��V �0 �
���� ����*� � ,����� ���* �� $������. 

2.  59��� �0 � ,���� ��
 5���� 8��� � ,��*�� ���* �� $������)1(. 

 -�. : !G��? �. ������ ������ 5����� ���� 
� ������� 

 �������� � �
���� 6�G3 U���� �
��� �� �4� 8��� ���*�� >:3 �� $��� ��� �������
 ��:� � P������ ��2�� +�%*0 ��	
 @��� ���?� � ���� ����� � $�%� $0 ��	
 M9�

 � ��* � �&� +2�� �*�� U���� '��� � ,��� �� 1��� ����9 �
���� U���� ������
 �0 � �3�
 �: ���%% � ������� I����� $� �� �*���� �:3 $�% �:? �? ���9 $�%�
 ���
��� >:3 6�2&=�� ��2�9 5�90 -�* � ,���% �	7�
 �: ���%% ��
���9�� I�����

 $���3 1
� �� ��V �/" J/� U���� $������ $� �
�� 8��� � ��:%� � $����*��
 !������ M�� �� 1/�� �� 1� ��O	� 57�9 P����� -�* � P����� M�� $� -���

 �2� �&*� � J/��� $�% �:? ����&���.  
 P���0 �
(
 + &�� �:3 $� !
�=� ��3 $��:  

 0.   ����9 �
���� U���� $������. 

 M.  ���� �*0 U���� $������ �3���%: ���� !������� 1
� P���� �\��� �� $�% �:? �
. 

 K.   � �	�&� � $����� ����
� ���� -�* � -��� ��V ���90 J/� U���� $������
 P���� M�  �4 ,�3�� M�� 0 �	
 ����� F� ��� ������. 

 �
��� �2�� �
���� � ,��*�� ���* �� P������ ��2�� ���? �� 1/�� P���4� >:3 1%�
 $�% �:? -	
�� �	
 ��5 �� ,5�9? +�
 $�� � �
���� $�� ,��� ���� 1���� $� � ��2��
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)1(  J �@��  89�� � �	��� U��� .87 . 

)2(  J �@�� �� 89���� .88 . 

 ����� :����	� �
���� 1*�� � �%� ��0 ���/� ���G��� � ������� ���&� 6�# �� � ��� � ,��*�� �	
 $
 � A����� � ���( )� �������� �����	� �������2010  J � .5 H 6 . 
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 �� �(2�� �2�	
 M	O� ���* �� $�%� $�% � ��%* �� �0 � !���� A�� �#���
 8��� !�� ��� �2�� ��=� � ��=� ��� $�% ��� ��* � ������ �� ,����� >:3 1/��
 ��� �� �4� 8��� ���0 ��� ��3 U���� � ����* 1�* �� 1���� 8�� �� ��4 � �� �4�

 ����� $� �� � ���� $�%�� � ���� ��� $� ���� � $*�� � �2����#� �2����
 $�%� $0 1��*� �
(
�� P���4� >:3 $? +
 � ������ �2�� ���� ,����� >:3 $������
 �0 ���2� M���� 8��� �%���� +5�	� $�� � ������ $������ ,��� �	
 �2�� $������

 ��=� �	� ����  ) ���94� J/�	� �0 +2�� �*4 �0 � �
���� $� ( .��0 � >��
 ,
 6�G2� ���� ��*� N	�� ,��� �� $�%� �0 !���  ��
 1
� � ,���*� ����� ,��=�

 �� �4� 8��� !�� ��� ,�*�� ,��)1(  �3� � ��� 8 � ����� U����)2(:  
•  ����9 �
���� U���� ������ $������ : ����� �� +2� ���� � ���2� M���� 8���

 �� �4� 8��� !�� ��� 6��*0. 

• ����� ����9 �
���� U���� $� : !���  ���% X ����� ,��� +2� M���� 8��� ) $?
 ����
 ( �� �4� 8��� !�� ���. 

•  ����9 �
���� U���� $������ : !�� ��� ,�*�� ,�� ��	
 @=���� ��*��� N	���� 8���
 �� �4� 8���. 

•  �
���� �*0 U���� $������ ) J��/�	� P���� ���� 8� : ( M���� 8��� �� ��
 �� �4� 8��� !�� ��� ��* +��. 

• �
���� �*0 U���� $������  :�� M���� 8���   R�
 $? !���  ���% X ,��*� ,���
 �3��&� �0 � ,���� >:3 �� �4� 8��� !�� ���. 
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• �
���� �*4 U���� $������  :� !�� ��� ,�*�� ,�� ���? $������ N	�� 8��� 8��
 �� �4�. 

•  ���94� U���� $������ : �� �4� 8��� !�� ��� ����* ,�� �� M���� 8���. 

•  ���94� U���� $������ ) -����� ��V :(�� M���� 8���  !���  ��
 ,���H(
� H 
 �� �4� 8��� !�� ���  R�
 $?. 

•  ���94� U���� $������ ) -����� ��V :( @=���� $������ N	�� 8�����	
  ,�� ���?
 ��* $�% $? ,����� �� �4� 8��� !�� ��� ,�*��. 

 ,���)� 1�� ��=� ��� !�� $? 1���� ����� ���/ ���� �&��� $�#�� $0 �� ��
 ���.  

 �	
 ���� $������ +�� �� � ����� �2�� .�0 �� � ,������� 8 ��� ����� �3 >:3
�� �&
 $4 ��:� � �������� $������� P����� ��O��� ���29�� �2�� �
G� � ��� ��2–  ��%

 ���� H �2����� !��% ��2� ������� 1��� � 1� �–  $���
%�� ��
H ����� $0 �? �
 M��
�� ���� ��2�� 17� � �&��� � �*�*� �&��� �&��� � A���� ��
 1��� ��  

 ) ��% ��� � ������� � .����� (� �:3 � P���4� >:3 �*�� 1�&	� (�0 J��/
 �� �4� 8���.  

 M��%�� $� ,��
% J��� �����5�) �2�� �:�� �%��	� �����5�?� �
��� M�� ��? ���#?
 ��&���� ��2���� ��
���� +�5���� �	
 Z�#�� 1�� -�* X �� ���. 

  

 ����� :  5�E�� ��$ B�
�� %��� �������  

��� �#�� ��
 �	�&� �� � =� U���� J/��� �� +�&� $���� �3� ��
 �0 � ��/�/
 �3�*�� ,��9��� �0 1���� �	
 ����� +:
 �0 � R����� �	
 ����*?. 
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)1( � $ *�� U��  � �	��� U���  J �@��  89�� .89 . 

 ���0� : � ����� ��*0 '��
��� ,��=� ��� ��*��� ,��*�� �	
 $������ �� �#������ @*��  $������ ���G� �
 � A����� � ��� ���( )� ������� I���� ����"� >����0 � ��������2010 . 

)2(  J �@��  89�� � $ *�� U��  � �	��� U��� .90 .  
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1H  N	�� 8��� >�#�&�� �%���� +�&�� � ,��*� �� �0 8��� �%���� 8� +5�	� ��3 $��
 $�% $?� � ��* $�% $? ���? $������ ��? � �&��� M *� $�%� �:3 ���� n+%*� � !��

 ��?� � 1#�4� �3� � ��:� ���� ��� $�%� $�� X 1��%��� @����� �
��� �&�� $0
 �
��	� �
�? $�%� $0. 

 ��3� � $�
�� ���*�� >:2��: 

0 H   X M�� 4� $� M�  ��� 1���� $
 59��� ��
 �� $�G�	� $������ N	�� 8��� $������
 >�*�� A����%. 

M H   1
� X ����� $  �� �� $������ N	�� 8��� $������ : $�� )1(. 

 ��2�� P�� 1% ��� : ,��� �� �0 � ,�*�� ,�� ��	
 $������ N	�� �� $�%� $0 ��?
 �3� � ����0 ����� !*���� � ��	�� �0 � ����  �0 � ���2� M����:  

• $������ N	�� 8��� $������ ,�*�� ,��  1���� $
 59��� ��
. 

•  1���� $
 59��� ��
 M���� ,��� �� $������ N	�� 8��� $������. 

• $������ 8��� $������ ,�*�� ,��  ����� $ � |�	��� ��
. 

• ��
 M���� 1%� �	
 $������ N	�� 8��� $������  ����� $  |�	�)2(. 

 ��? ��
���9)� !���/�� >:3 +��&� $� ��( )� �������� $������ �%�� I�2��:  
1H  $�%������ $�� ��( )� 1��%��� @�&*�� .�&���� ���� �	
 $������. 

2H  I��#�� ���:	� ��*� N	�� �0 ��2� M��� 1(/ $� ����%�� ,��*�� �����
 ������� �&=�� $�� 5���� �� $� +2����*� ������� ,��� ��� �
�����. 

3H  �� $��� � ���? N	�� 8�� 1(/ $� !������� 8��� �/�/���� !��* �� 5���� 8��
 '�0 �� �3� � ����� !=�#� >��� !��/� ��  !��% �� �3� � �97��* �	
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)1(  � �V�� ,�&�� $���� �*� �	
��( )� $������  J �@��  89�� � ��	���� ��2&� � ��� � .366 . 

)2(  ��E� � ,�7���� ,�� : 2 . 

)3(  ��E� � ������ :71 . 

  . ا�����ن*��-  )4(
 

408 

 .�/0 ,����� �0 � 1���� ��? �9�*�� )��%�� R���� $��# ���* �� �����	� +
 A���� �0 -���*�� M� � +7���� �0 !�G��� 59��� �0 �/�/����. 

4H  ��
���� M��� 4�� $�%������ 1���0 ���
� �. 

5H  ��/��� �	
 $��	 ��� 8�9��)1(. 

  

 ������ (�)��� :
$��1�� ���6��� !�"�  

 �	
 I���� � � ��
���9�� ������� 1���� �� �5��� ���� �
��9�� 1��%��� +��� M�	�
 ������ 1(/ $� ����� �:3 :  

���� +�	��  :
$��1�� ���6��� !�"� ��$��E�� ,��
�   
 -�. : 
$��1�� ���6��� ,��
� 

 !��* �� $�%������ $�� �� ��9� ���� �	
 $������ �3 �
��9�� 1��%���  �	%�� 59���
 !���� �0 � �#�� �&� �0 A���� �0.  

 �3 $����	� ���( )� �%����� :+����� ,���? �	
 $��G��� ���*��� +����� 1�%���. 

 ����� :
$��1�� ���6��� ��$��E� 

 ����� ���&% ������ ���( )� ������� �
��� ��? �
��9�� 1��%��� !���/ ��� �:  
 v u$���n���� +
)� �	
 ������� �� .�&���� \���� �	
 �������� w)2( ����� ����� �

 �#�0:v mA�� n6����0 +2#�� !���G���� $���G���� w)3( 1� ��� -���*0� �ρ  �2���
: »  �#�� �#�� ��� $������% $�G�	� $�G���« )4(.  
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)1(  $���� �*� �	
 J �@��  89�� � �V�� ,�&�� .388 . 

 ���0� : J �@��  89�� � �	��%��� $������ � �9&��� �=�� ���  .140 . 
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����� +�	�� :
$��1�� ���6��� !�"�� ������� R������  3���G.�  

 ������� e������ �	
 �
��9�� 1��%��� +��� +�&�)1(:  
 -�. : 
$��1�� ���6��� !�"�� ������� R������ 

1.  ������� �7�3 !����&� +�5���� 1(/ $� � ���( )� ������� +�%*�� +�5����
 !��������� 1��
4� 8��9 �� ��
����. 

2.  6�#
4� $�� P������ $������ 0���. 

3. �	�%� �%����  �2���� �2���
0 $�� � ��( )� �������� $������ M� * $

 !���/ ���� � ���( )� ������� +�%*4 �&�� �
��9�� 1��%��� !���/�
 1��%��� @���� �� � @���� �� $�%������ �� �0 8��9�� �
��9�� 1��%���

 �
��9��. 

4. 8��9 ��� � ��( )� $������� J�/ 1&� � M� *� �=�*� �%����  ���&*
 �%����� J�/ M� *� �=�*� ��% >�7��
� �����5����. 

5.  �%���� U7��� M * $�%������ �	
 A7�=�� ��� �%���� +���. 

6.  @����� �2�� 659� �0 � +2%����� �� �0 1%� +���� +3�#�� $�%������ P����
 �9���*� ��
 1��%���. 

7. � � �� �� 1:� �2�	�� � ����0 �� �3�� � ����G� �%���� I��34� @�&*�� �2
 ������ �=��/� �0 � ���&��� �0 � ������ !��* �� _�? $�#� �� � ������. 

8.   �� �� ��
���� ����#��� �&
 '� 0 �	
 $������ M� * 1���0 ��
� � �%����
70 %  � �2� U���� $�30 %  $������ M� *�.  

 ����� :
$��1�� ���6��� !�"� ,��G.  

 ������� ,��� 1(/ $�%������ $�� 1��%��� @�&*� ��? �
��9�� 1��%��� +��� I�2�
 >59
 �0 � ��7�� ��	% �59
 >59
 �0 ������ ,��� 6�#
4� $�	����� �*0 ,��� ���* ��

 �#�� >�&� �0 � ���G� ��	% �59
 / �#
 ��=��� >�&� �0 � I�� / .��0 �0 � I��
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)1(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .389 . 
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(
 ��? !9��*� ����? ��? @=���� 1��%��� ���5� 8��� ��=� ��� 8� 1��%��� +��� � K
 +����� �:3 �� ��	
 J� ��� �&�� � �&��� �� �2�	
.  

  

 ������ +�	�� :
$��1�� ���6��� !�"� 2�	��
�  

 �2�� 1% +��0 $����� ������ ������� !�����	� $�%� +����� �:3 ��:  
1H  +����� : �
��9�� 1��%��� +��� �� ��&� . 

2H  �&��� : �
��9�� 1��%��� �&
 �� ��&�. 

3H  @������ : ����� $������ M� *� �3� � �
��9�� 1��%��� @���� �� ��&�
 �*��. 

4H  ������� : ���	
 �7�3 �0 ��
���9� �7�3 �0 �0 1�
 M� �0 �� ��&�. 

5H  $�	����� : ���/ �� ������� .�� $�	��� $�:�� $�=������ 1����� +2� ��&�
 ����� �. 

6H � 6�#
4 : ������� .�� $�	9 ��� J�/�4� +2� ��&�. 

7H  ��=� ��� : � � ������� �� ��&�� / �0 �
���� �0 6�#
4� � $�	����� �0
 ��&��� ��
�� M * +2� ������. 

8H  -��*�� : $
 �	&� � ,���� B9�=�� �9��/ M�  ��*��� ���  -��* �0 �3
%*4 �&�� A����	� ��9���� .�/4� M�� 4� 1% +����� �:3 +�. 

9H  �&=�� : �#�� �&=�� �� ��&� / �9��� ��7��� ��	% ��&� ���=�� �&� �0 I���
 -��*�. 

10H +7���� �	%�� 59��� : 1������ 1�*� �:�� 59��� �� ��&� / ,��� 1(/ �#���
 ,�&=�� �� �2��? ������ ������� ,��� ��� ��� �� � -��* M� � �������)1( 
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)1(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .390 . 
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)14 ( 1����� 8�� 59��� �:3 �	
 M����� � ,����� >:3 $� / ��	% ���� �#��� 
%� .�/0 ��2� �0 �0 ���2� ����5� $
 ��7�� �2� (3G� $�. 

11H  !�G��� �	%�� 59��� : 1������ 1�*� �:�� 59��� �� ��&� / 1(/ �#���
 ,�&=�� �� �2��? ������ ������� ,��� ��� ��� �� � -��* M� � ������� ,���

)14 ( 1����� 8�� 59��� �:3 �	
 M����� � ,����� >:3 $� / ��	% ���� �#���
� ����9�� 8��9 ����5� $
 ���G� ���2�� �&	����. 

12H  ������ !�&=��� : ��5(��� ���&����� �����#�� ������ !�&=��� �2� ��&�
 1����� ����? K(�� / -��*�� $
 �9����� �#���. 

13H  ������� ,��� : !�
 �:�� +���� $� 0���� �&��� �� ,��*��� ,��=�� �2� ��&�
 �&��� ��� / 13G� M��� �� ��� 59���. 

14H  1�*��� :��&�  ������� �	�*�� �:�� �&���� ��*��� ������ !�&=��� N	�� �2�
@������ $� �%���� ����� ��
 ��5 ��� -��* $
. 

15H  1��%��� ���5� : �:3 $� ,��
 ����
�� ,����� �� �2���� ������ ���5��� �2� ��&�
 �&��� �� 6�9 ��� �&��� +�����)1(. 

 

 %����� +�	�� : !�"� 
� �����. �����8
$��1�� ���6���  

 -�. :��)@��� ����  

1H  1����� U���� �*�� ���O��� �*� �� � ���O�	� �	
0 ��* 8#� $0 �%��	� 5�9� /
 �������� ���2���� ��*��� ����*� ����� $�� �&���� ����� ��9��� �#���. 

2H  ���O� 1��� �������� ���2���� ��*��� ���*��� �2
����� 6�# �	
 �%��	� 5�9�
 1��
 / �*�� ���O��� �* $
 ��5� �� �� ���� 1��%� ��5�� �#
. 
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)1( V�� ,�&�� $���� �*� �	
 J � @��  89�� � � .391 . 

)2(  J � @�� �� 89���� .392 . 
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3H  1��
 �0 ���O�� �	
0 �* 8#� �%��	� 5�9� / ���/4 �#��� ���* �� �#

 ����
 ��V. 

 ����� : ���
�� 28K��� (��@�� / �H
�� 28K��� ���H
�� ,�4�:  

1H  1����� $�%� � M��� $��� ,5�9? :/0 �:? �0 � ���G� �*�� � 1����� Z�  �:?
 1���� $
 !�G��� M��O�� ,��� 1(/ +����� �:3 M9��� ���O���� �����. 

2H ����� �#��� $�%� � ���G� ���&�? �#��� ���#
 !=��0 �:?  M9��� ���O����
 ���#�	� !�G��� I�&�)� ,��� 1(/ +����� �:3. 

3H  $������ $� �0 @&*� ���* ��)1 ( �0)2 ( ������� � � ��� � +�� ,����� >:3 $�
 1����� $
 / ����� �� ��� ��� �&�� �#���)2 ( �:3 $� ,��
 ����*�� ,����� $�

 +�����)1(. 

 ����� :
$��1�� ���6��� T����  

1H  !*�� � +2*����� ����* 1��%��� ,��
? !������ �� �%���� $�%������ A�=�
 ��
���� ������� �7�3 I���?. 

2H  ���5� !������ 1��%��� ,��
? !�%������ 1��%��� !������ 8��9 @������ 1�*��
 !*� 1��%��� ���5� N����� � +����� �:3 $� � ��/�� ,����� �� �2��? ������ 1��%���

� ��� ��. 

3H  @������ 1���0 $� �� ��� >��� �:�� ��&�� ���
� � �� �%���� $�%������ A�=�
 ��
���� ������� �7�3 I���? !*�. 

4H  � �%���� 1��0 $
 �	�=�� ���
� (� ���/��� N������ ���
� �� �%���� +5�	�
 ��O�� U���� ���/��� �2����5��� �2	�*� �0�)2(. 
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)1( �� 89���� � �V�� ,�&�� $���� �*� �	
 J � @��  .392 . 

 ����� :� $ *�� U��  � �	��� U���  J � @��  89��.    . 

)2(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .393 . 
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5H  $������ !��#��� �7��/�� ����� � �%���� ����� ) �����%� ���/ ( 1��0 +��&�
 >�2�� �:�� ������� � 1�4� �	
 !���  -(
 1% ,�� @������ ��� +��&���

 M * $�%������ �	
 P5�� �:�� A7�=�� 1
�� !�����*��� !���5���� +�/
 +��&��� ,��� 1(/ +2�� �% ������ M �. 

6H  �/" ��� @������ �� A7�� $� �� �&*� � $�%� �� ��� �
���� ��=� ��� �����
 ������� ,��� $
 1��%��� ��5� ���&*� � $� +��&�. 

7H  �� 59
 �2� �:? ��� � A�&� .�/4� 1��%��� @����� $� ����O� +�� @������
 ��	�&� ��� @������ ,���0 $�. 

8H  >�9� �� �����5��� ���  ��� �����9�� I��� ���=��� @������ 1* ���* ��
 ����)1(. 

 �
��� :'���E-� )��E  
 6��
? 8� A�O�� �:2� ,����� ,���� �� �	
 ��	� ������� �� MV�� $� +�&� 8��9

 �	� �� ,�
��� 8� �%���� �2�	�� ���� !���� ���� !�������)2(:  
1H  1����� ��
 $�%� $0 / ���(�� ��  $�� ��� ,��
 ����
�� $�� �� �#���. 

2H  �� ������� MV�� $�� ���2���� �������� ��*��� !��	������ �%���� P�����
3 ��� ������ � ��	� 1�&� $0 �%��	� 5�9�� � +2���O� ,���5 ���� !��	����� >:

 ������� � �. 

3H  1�4� � &�� 8�� �:? �&���� $����� ������� 6�� ^���� $� ����  ������� $�%�
 ^������ ��: ��
 �0 1��. 

4H  �	��� ������ 1����� $�%� $0 / :�=� !�� ������� .�� ����#
 ����  �#���
 �&���. 
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)1(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .393 . 

)2(  J � @�� �� 89���� .394 . 
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 ����/ :�*
�� ��*�� 2�6���E-�  

1H ����� 1%� ������� !���� �%���� ��*�  ����
�� �� ,:/" M �	� 1��9 @��
 ��2���� �*���� ������ $��O��� $����. 

2H  $0 �2� 5�9�� � �&&*��� a7����� M * ������� !���� ��9��� �%���� �����
 �0 ��5� $0 �2� 5�9�� � �&&*��� a7����� M * ������� !���� J&�� $0 �0 ��5�

��� �:�� ��&��� ������� !���� J&�� $0 �� ��� >. 

3H  $��� �3 ��% ������ 1% @�&*� � ^���� �� ��&� !�%������ ��� � ������� �2���
 �2	��*� +� �:? �? ���� � ����� � �2�0 ��V � ���� �3� � $0 �� 5�9�� � �&����

 ����� I�� �%���� M� *� (��)1(. 

4H %���� 1�� $� $�#�=��� $� ����/�� ����� !����? ������� +	 � !�
� �
 ������� � &� ������� ��� �. 

5H  ���� � ��*��� >�
�� �� ������� � � ��� � $� ������� $%�� +�
 ���* ��
 ������ ��=� ���� ����  �&��� $�%� ,���� >:3 1(/� � � � �0 ��� �� �2� �	2�
����� +�%*0 ��	
 @���� � ��* �� ������� ����� �	2��� !#&�� �:?� � ���O���� ,

 +����� �:3 $� ��
 ���� ��. 

 ����� :'���E-� )�8  

1H  1����� 1��� ���* �� / $� ������� � � M *� �&��� $���  ��� ���9 �#

 �	��� 1����� +	 � ^���� / �#��� ���#
 $��� . 

2H  1����� ��� +� �:? / ������� ,��� 1(/ M�  �4 �������� ������ �#���
 � ,����� M�  6��
� �� P������ ������� �����	� ��� � �&=�� M� � 59��� M�

 1����� $%� +� �� � ������� 6�2��� ^���� $� ,��=�� ���� $
 / ��5� 1�� �� �#���
 1��%���)2(. 
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)1(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .394  H 395 . 

)2(  @�� �� 89���� J � .395 . 
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 �
��� : ���6��� ���B�� ����)���� ���6��� ���B�  

1H  1���	� 1��*�� +7���� �	%�� 59��� $
 �����	� 8��� A���� / �#�	�. 

2H  1���	� 1��*�� !�G��� �	%�� 59��� $
 �����	� 8��� A���� / �#�	�. 

3H 	� 8��� A���� 1���	� 1��*�� �&=�� $
 ����� / �#�	�. 

4H  1����� K(�� ��5(�� ������ !�&=��� N	��� �����	� 8��� A���� / �#�	�. 

5H �����	� 8��� A����  1���	� ,��� $
 / �#�	�)1(. 

 ����� :����)��� ���6��� ���B��  
 ���E� !�6��9)� 8��� 1��%��� ���5�� ������	�:  

1H  N	�� $0 M9� $��  1(/ ����% �%��	� �
���� �	�%� �0 ��=� ���)60 ( $� ����
 -��*�� ^����. 

2H  ���� $���
� �7�� 1(/ �2� ����� K:����� �	
 �������� !��
? M9�)120 ( $�
 ��
� ������	� ���
��� ������&�� !���� ���� K:����� +�
��� �2� |(�)� ^����

 ��=� ���. 

3H � ��� 1(/)� ���* �� $������ $)1 (� / �0)2 ( ��=� ��� @*� � � ,����� >:3 $�
 ���&� ��:
 +�&� +� �� �2�� �/�� ���� ,���� $
 ��5���. 

4H  $
 +�&� $0 �� @*�� �%��	� �&=�� �0 59��� $
 1��%��� ��5�� �������� ���* ��
 1����� J*=� ������ 13G� M��� @��� / ������� ,��� ��� �0 1(/ �#���

� 1��%��� ��5� ���&*� � $� �%��	� +����� �:3 $� ����
�� ,����� �� �2��? �����. 

 �
��� :��"��-� 5���  

 �� ,��*��� ������� ,��� �#� ��� �? �&=�� �0 59��� $
 1��%��� ��5� 8�� +�� �
 ��5� U���� �&=�� �0 59��� !��
� �%���� P����� !��* ��: $� ��
� �� � �&���

�� ���� 8���� �&*� � 1��%�)2(.  
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)1(  J �@��  89�� � �V�� ,�&�� $���� �*� �	
 .396 . 

)2(  @�� �� 89���� J � .397 . 
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 ��E�$ :���6��� ���B� T�4���� )��E  

1H M	� �� ������� �3�%: ���� !������� $�%� $0  ��0 !�
 �:?� � �*�*� �������
 1��%��� ��5� $� ��=� ��� +�*� �&���� 1/�� ��: $�%� ���3�9 !����� ���
 M9*

 �������. 

2H  !��� �� 1��%� ��5� ��� �������� 1�� �&*� ��� �� �4� 8��9 $�%� $0. 

3H 1����� ���O� M�* �� M	� �������� @� � �0 / ���� �������� 1*� �#���
������ �%���� .�� �
��0� �. 

4H 1����� ���O� 6�O�? �������� @� � �0 /�%���� .�� �
��0� ������� ���� �#���. 

5H 1����� ������ 1�* -��* $
 �9��� �������� $�%� �0 / �������� 1*� �#���
 �0 $�9�3 �0 ���� �0 ��	30 M�* �0 ��	�� ��V �0 ��	�� M�* �� ����� ,����

$���
 �0 �	30 MO�  e������ ���* $(
? �0 � ����. 

6H  ��*��� ����*� �0 ��*��� $
 �9��� �������� $�%� �0. 

7H 1����� $�%� �0 / -��*�� 8�� ��
 ���/� �0 ��% � 1���� �� �#���. 

8H 1����� $� ������ -��*�� $�%� �0 / ��� G����� >��V $� �0 � �#���. 

9H 1����� M�%� M� � -��*�� $�%� �0 /� �#��� �	
 ,�9�� ��%�� $%� +� �� ,�7���
 ,�9�� � �	*� �0 � +���� ��9 �/)1(. 

10H  M��# $� M�# �� ������� �0 � J�O�� 1��
0 M� � -��*�� $�%� �0
 !����2�� P���0 $� P�� �0 � �#�����. 

11H  �
���)� -�	��� �0 � ��:�� �0 � ������ 1
�=��� M� � -��*�� $�%� �0. 

12H  ���*�� $�%� �0 1��3)� M� �. 

13H 1����� ,��� $�%� �0 / �0 � +2� ������ �0 � �
���� $� ������ !�� �� �#���
 1��%��� ��5� �� ����� $� M �%��� +�* ��: !�
 �:?� � +2#�� $�)2(. 
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14H 1��
 �4 -��* �0 $
 1��%��� ��5� ������� @*� � �0 / $0 !�
 �:? �#

 ��� ������ +� �� -��*�� M� . 

15H  $���  1�� !��� �� �2�
 1��%��� ���5� 8��� �2�� M������ !��*�� $�%� �0
�&���. 

�E$ F��: :� %�����6��� ���B  

 +����� �:3 $� ,��
 ����
�� ,����� �� �2�	
 J������ 1��%��� ���5� 8���:  
1. 1����� ,��� M� � �&*� ��� N������ 8��9 / ��� $�&*� �	� �%���� �2���� � �#���

 �
���� +(
)� ��: �� ��� �%���� �2�	�� ���� !���� ���� !������� 8��9 6�=�� �
 �29 $� ������ ��� �. 

2.  ,����� �� �2��? ������ 8���� �	2� ,��� 1(/ 1��%� ��5� �0 @�&*� � ���* ��
�&*� ��� 1��%��� ��5� N	�� $� �&*� ��� !�%������ +�/� +����� �:3 $� �
��
��. 

3.  $��2��� 5��9�� � ,��� �� ��=� ��� + �� 1��%��� ���5� ���&� �%�� �%���� ��*�
 ��� �	�%� ^���� $� ��5(�� !�������� !����. 

4. 1����� ��
 $0 !�
 �:? / ����� @�� 1��%��� ��5� 8�� +�� �&�&* ��V �#���
 �&�&*��. 

5.  �3���0 ,��� ��
�� 0 !�G��� �	%�� 59��� $
 1��%��� ���5� 8���)52 ( $� �
�� 0
 ������� ,��� ���2� ^����. 

6. �G��� �	%�� 59��� �0 �&=�� $
 1��%��� ��5� 8��1����� 1��*�� ! / � �#���
 ������� �� �0 8�� �� ����� �� $� ������� �=��. 

 5�E$ 
��� :������ 7����$� �. '��E��� (�����  

1.  �%��	� ����% ���/? M9��� 6��� !�� �0 �� M* �� $0 �����	� 5�9�. 
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2. � ��� �� �	2� 6�#&�� ��� ��&��� ������� �� � +� �:? ��* �� ������� ����
 +����� �:3 $� �
��
�� ,����� �� �2��? ������. 

3.  $� �� �&*� � $�%� �� ��� �#� $
 ��* �� ������� �0 M* ���� ������� P����
 ��* �� >����
� �0 ���* �� 1�� +��&� �/0 ^���� $� @������ �� A7��. 

 �E$ ���� :��)@��� �. �4
�� C�*���  

1.  ������� M�* ��� �0 �&��� �� �2�	
 J������ ,���� 6�2���� �&��� �2���. 

2.  �� A7�� $� �� �&*� � $�%� �� ��� �
���� ������� ����� �&��� 6�2��� ���* ��
 �&��� 6�2��� 1�� +��&� �/" ^���� $� @������. 

3.  �� ���� ���O��� �2���1���	� / �0 � +7���� �	%�� 59��� -��*� �0 � ,������ �#���
 ��0 -�*� ��2�0 $�� ��� � ��/�� $  |�	��. 

4. 1����� ���/ !2��� �:? ���O��� �2��� / �#��� ���#
. 

 �E$ %����� : ���$ !�6�.  

1.  1�4� �3 ������ J��� $�%� +����� �:3 +9�� �:?. 

2. � ��� ,�%5�� K��/? ������� ����� �� �� 8� �� P������ A7�=�� �	
 �
�� �&*
 .�/0 1���0 $� �� $�%�. 

3.  �	�%� ^���� $� ���� $�� �� ,��� 1(/ ���&*� � I��� ��=� ��� +�&�� +� �:?
 ���
� � �#�=� �%���� ����� � �������� ������ �%���� �2�	�� ���� !���� ���

�� ^���� $� �����
� ��=� ��� U���� !�&*� ��� ���� ���
� �� @��� �&�� � �2�
 �%���� �2����. 

4.  M * ������� ��� �? ^���� $� �2� 6�#&��� +� �� �����	� ���/? �0 �����
 �%���� I�� 19 ��� �����
. 
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)1(  J � @�� �� 89���� .400 . 

 J � @��  89�� � �9&��� �=�� ���  ���0� .123 . 

)2(  J �@��  89�� � ��*� $ * ���* .42 .  
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5.  !�&*	� $� �� @*� ��� ������� M	� ����� +����� �&��� $� 059�� � �659
 +����� �:3 M9���. 

6.  � ���( )� ������� +�%*4 �&�� ���&*	�� ��9��� +����� �&���� +����� �:3 � =�
���( )� ������� +�%*0 I��/� � ��� ��� ����� ,�7� �� $����&	� �&�� >:�=�� +���. 

7. %� +�%*� ��9� ��? 1�*� $������ $�� P�5� ��� �:? 1% ���/� $��%*� �
(
 $� ���
 ���* ��� � +�%*��� ��9	� � �7� $�%�� -��
 �	
 $��%*��� @=��� � ��%*� I��
 ����/�� $������ �*0 +��� +�
 �0 � -��
�� +%*��� �	
 @�=��� $��%*��� A��
 ��%*��� ��? ��\��� P�5��� 1�*� >���/? ^���� $� +��0 ���  I�� �� ��%*�

&�� ���/��� 1��� $0 �	
 +3����/� M�	���� $��%*��� �0 � +%*��� $����� +�
 ��5	�� ��7�2� �2������ $�%�� � ���( )� ��
���� +�%*0 M * +�%*��� ��9�

 $����	�)1(. 

  

 %����� (�)��� :
����� 
���
��� ������� F�/. ��$���1� ����.  

���� ���2�� ��������� !���O��� $� �#�� �%:� ��3�  ��
���9�� ������� -��*) �� �
G�
 ������ �*��� �	
)2(:  

1.  ���&� ����V �� $�%� �:��� $� �Q� K(��� ���� ���� ����� 1��%��� !���O�
 ���* �� �����# ���&� K(��� �&	� U��� $��*4� A�� �� $%�� X ��9�*

 1�=�� A����% K(��� �&	� ��� $���� 1�#
 A��� $� �)� ����? :? � ��	%��
M	&�� A���0� $��� �� A���0 ��:%� X 1� O�� K(
 �&	� $� J��� �. 
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 �0 �(2	� $� �)� A���� $0 ���/� A���4� >:3 1
� $� K(��� �&	� $���� :?
 ����? �	� �� ������ K(��� $�%� � �� ��: $� �
%0� � �(2�� �	
 I���� $0

 +5(�� K(��� �&	�� K��/	� >�=  �
�� � ��� � A����� J/���.  
/�	� K(��� 1��%��� !���O� ���� 1��*4� >:3 1% ��� �� �0 6�&� ������ J

 �:3� X �9(�� +5(�� N	���� ������ 8����� J/��� M��9 $� �
������ 1��%���
 �&���� $� $� �)� �����  >:3 K(��� I���%� ���� +�
 ���* �� ��0 ����
 8��� ��� � �(2	� ������ �0 �(2	� �29��� �2#�� �� $�%� �� 1� � @�#���

� !�29� 6�9	�� $� �)�� 1% ��� ����/�� !�  G��� $� �0 ������ $� ,�
� ��
 ����� X 1��� $�� �0 �� �� ���� K(��� !�&=� 1% 8�9� $0 �� ��� $� 1��*4�
 !���O� ��
 ��:� � �9� 6�� ����? �0 1�G  �0 6��
 $���� ��� �� ��: $�%�

 ����� 1��%���. 

2. )� �
� � ������� �0 � ��	��%� !���O� ����� ����� 5���� ��*� 5��9� �	
 $� �
 �%:� ����� ��:� �	�=%�� !���O��� ��
 �9� 6�� ����? $� �����* �������� ���=���

 ������� �	
�4� �2��: 

 0.   ��? ������ �� ��� (/� J/�	� 8��� -�* 1���� �&� ��
 ����9�� ������� ���O�
=� ���� ��� � �:��� � ����9�� ������� M� � ��&=��� �	/� �9� �:? �0 ����� ,��

 A������ �0 8���� ,��� 1(/ (�
. 

 M.   ����*�� ���2� �0 �	�
 ����5� $
 ����� ����? M��0 $�� 1�3���� ,��
? !���O�
 ������� ���2� $� �7���� �	/� �	
 ��: �
G�� X 1�0 ,6�=%� �2���5� $0 �0 �. 

!���O� 1��%��� !���O� +�&� ��3�  1�3���� ,��
? '=�� ��? � 1�3����� M�������
 ��� � ����)� 1�� $�% ��% �9��� J/��� ���� �������� X �	��� ��2�� �0 ���2�

 1��� $�� M����� J/�	� �������� �������� ,�����	� 8�� ��:. 
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 K.  � �3� 1/��� ����* !���O� ������� 1/� ���� A��� !��* �� +�&–  �
 � =� �� �������–  �:�� ��4� �(2�� �0 � $��&=�� �0 � ���5)� �0 � I���	�

 �� � � =� �� ���	  �3 ��� $0� M %��� �	
 J/��� ,��&� +�
 ��	
 M����
 1/��� ����� ����&=�. 

��� +� �� M * �� ��� �#���� 1��%��� !���/ +�&� ��3� 8��� -�* ��	
 @�=
 ���� ��*� ����� ,���� 1/��� ���� ���� J/�	� ��	
 @=���� A������ ���&�

 ���9 1/� ���� �	
 1�*�� $0 �0 � �	/� ���� Z(�? �0 �����. 

 �.   ��7�� ��	% ���� 1���� $
 J/��� 8��� �:�� +7���� �	%�� ������ 59��� !���O�
,���� ��? �����	� N	�� 8�� +�� ��3�  � ����2� �&��� |�	� �0 6�=��� ��* �����

 1(O� � ��=�% �� ��* J/��� $�%�� ,�*�� ���� ������ N	���� 8��� $0 �0
 +�
 ��? ��G� ��: $D� � N	���� �:3 8�� ,��� !��% �� I�%� X P������ N	����
 �	
 ����� +�
 $
 ��9���� ���=��� 5���� !���	 � 1��� $�� J/��� A���

 1����. 

3.  1������ ,�3��� +���� I��� �� 8� �3G����� $��5� �
��* ��	��%� !���O� ���3
 1��%���� �� � ������� �0 ��	��%� ���O� �2�� !�2� -�* � ��O���� �O�4�

 ��O��� 1��%���� �O�4�. 

 1/� ����� ����� �3 ��O���� �O�4� 1������ ,�3�� $� I�2�� $0 +�	�����
4�� 1/��� ����*�� ����� ,�� � ' �� ,��&=�� � .  

 � �29 $� 1/��� ����* �3 ��O���� �O�4� 1��%��� !���O� $� I�2�� �#�0
 1/��� ���� ����* 1�
� �2� �9�* �� J/��� $�%� ��	��%� !���O� ������

 K(�	� ����� 1��%��� ���O��.  
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 (*)@����� 8��  (&� �&��� 1
 1�*�� � �� �3����� ��� 1��� 87���� ��O� ��&� �2��� +
 � 194 ��	  6��� �3
 �%=�� ���� � @��� � �%=�� ��� � �	�*5�� ��3� ���%��� :�� `� � ,������� ������� !(������ M��%�� $


 � �
��
�� ������ � !���� � �������2006  J � .231 .  
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 �� �:/0 ��O���� �O�4� 1��%���� ��O���� �O�4� 1������ ���3�� $0 �*	��
 1/��� �#=/���� �0 ,��&=�� !����9��� �� ��� � ������� �� >:3 �����0. 

4.  ����V 8��9��� !�7� $� ����� !�7=� !���O� ����� � ������� ��V !�7=�� $� $�%�
 $���&�� �2���� ���� 1���� !�7�3� !�  G��� �� 1��� � ���� !�7=�� �	� �0

 �������. 

 >:3 ��
 !�7=�� >:3 !�9�* � � !���� ����� �3 !���O��� >:3 $� I�2���
 ��: 1�
�0 '���� $� ����� �7� I�2� � ���� �0 ���/���� !���O��� : !���

 � !����� !�7=�� $� $������ +2���* +%*� +3���� �� $�% $�� +3� � $����*��
 �* �	
 $������� 1��%��� !���/ $� ,��=� �� �2� �� �� � ���� ������� ��V

 +����� P��&�� !�7=� Z��� �3 ��% X 6�� . 

5.  1��*	� A��� 1%� �� +���� 8��9��� �29��*� ���� �
���9�� 1������ !���O�
(��� �	
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